(BIZE®)
 [1BEXHS I B EZ (20255 4/ 18 ~202567A31 BHEES) 2028/3/10

BEH XFs & IBEX 43l
4H1H () s = BEER /5=
4828 0K) 02 igg 10 17,500 70%
4H3H(K) WE *EEJ 10 20,500 65%
484H(2) 0= = 10 20,500 65%
486H(H) e ] 10 20,500 65%
488H('N) e $§E_| 10 20,500 65%
4B9H(K) e ;lﬁ 10 17,500 70%
45108 (K) WE ¥§ﬁ 10 17,500 70%
4H11H(ZR) e = 10 17,500 70%
48128 (1) s = 10 17,500 70%
48138(0) e e 10 20,500 65%
48148(8) WLa 1{2@ 10 20,500 65%
48158 () S ;m 10 20,500 65%
4516H(K) e 5 10 20,500 65%
48178(K) e ;m 10 20,500 65%
48186 (%) e 5 10 20,500 65%
48198 (%) e e 10 20,500 65%
48208 (H) WLa 1{2@ 10 20,500 65%
48218(A) e e 10 20,500 65%
48228 ('N) WLa 1{2@ 10 20,500 65%
48238 (K) e e 10 20,500 65%
48248 (K) WLa 1{2@ 10 20,500 65%
SHSHA(K) e ;m 10 20,500 65%
SHOH (D) e ;lﬁ 10 14,500 75%
55126 (F) e ] 10 14,500 75%
58148 (K) e e 10 17,000 71%
SH15E (k) e ] 19 14,500 75%
5H168(&) e ] 10 17,000 71%
5H208 () e ] 19 17,500 70%
5H21E(K) s e 10 14,500 75%
55226 (k) e ] 10 14,500 75%
5H238(&) e ] 10 14,500 75%
5H248 (L) e e 10 14,500 75%
58268(8) e ] 10 17,500 70%
5H278(N) e ;m 10 17,000 71%
55288 () e e 10 14,500 75%
58298 (K) WE *EEJ 10 14,500 75%
55308(2) e o 10 14,500 75%
68 1H(H) na — 10 14,500 75%
6828(8) Wa ;ﬁ 10 13,000 78%
6838 (N) 02 ;ﬁ 10 14,500 75%
684H(K) wa ;Iﬁ 10 13,000 78%
6858 (k) WE *EEJ 10 14,500 75%
686H (%) Wa ;Iﬁ 10 14,500 75%
6898 (A) 02 ;ﬂ 10 17,500 70%
68 108 (N) e e 10 14,500 75%
6B 11E(K) e e 10 14,500 75%
68128 (K) Wa ;ﬁ 10 14,500 75%
68130(2) e e 10 14,500 75%
681568(0) e e 10 14,500 75%

= 10 15,000 74%




IBEX4Hi

f55RE P #% —

EEER 5%
6H16H(H) =) &l 10 14,500 75%
6H17H(X) e &l 10 14,500 75%
6H18H(K) =) &l 10 15,000 74%
6H19H(K) e &l 10 17,500 70%
6H20H (%) =) &l 10 14,500 75%
6H21H (%) e &l 10 14,500 75%
6H23H(H) =) &l 10 14,500 75%
6H24H(X) e &l 10 14,500 75%
6H25H(K) =) &l 10 14,500 75%
6H26H(K) e &l 10 14,500 75%
6H27H(E) =) &l 10 14,500 75%
6A28H (1) fils i 10 14,500 75%
6H30H(H) =) &l 10 14,500 75%
7H1H(CX) e &l 10 14,500 76%
7H2H(K) =) &l 10 14,500 76%
7H3H(K) NS &l 10 14,500 76%
7H4H (&) =) &l 10 14,500 76%
7H5H(E) e &l 10 14,500 76%
7H6H(H) =) &l 10 13,000 79%
7HB7H(H) e &l 10 14,500 76%
7H8H(X) =) &l 10 14,500 76%
7H9H(K) e &l 10 14,500 76%
7H10H(RK) =) &l 10 14,500 76%
7H11H(ZE) NS &l 10 14,500 76%
7H12H(L) =) &l 10 14,500 76%
7H13H(H) e &l 10 14,500 76%
7H14H(H) =) &l 10 14,500 76%
7H15H(X) =) &l 10 14,500 76%
7H16H(K) =) &l 10 14,500 76%
7H17H(K) =) &l 10 14,500 76%
4H1HCN) &l file 11 17,500 70%
4H2H(K) &l =) 11 17,500 70%
4H3H(K) &l file 11 17,500 70%
4H5H(XL) &l = 11 19,000 67%
4H6H(H) &l file 11 19,000 67%
4H7H(H) &l =) 11 17,500 70%
4H8H(N) &l file 11 17,500 70%
4H9H(7K) &l =) 11 17,500 70%
4H10H(K) &l file 11 17,500 70%
4H11H(E) &l =) 11 19,000 67%
4H14H(H) &l =) 11 19,000 67%
4H15HCN) &l =) 11 17,500 70%
4H16H(0K) &l =) 11 17,500 70%
4H17H(K) &l =) 11 17,500 70%
4H18H(&) &l =) 11 17,500 70%
4H19H(X) &l =) 11 19,000 67%
4H20H(H) &l =) 11 17,500 70%
4H21H(H) &l =) 11 17,500 70%
4H22B0N) &l = 11 17,500 70%
4H23H0K) &l =) 11 17,500 70%
4H24H(K) &l = 11 17,500 70%
S5H8H(XK) &l =) 11 13,000 78%
S5H9H(&) & =) 11 13,000 78%
5116 (H) 18 e 11 17,500 70%




IBEX4Hi

s P %
SAL20(8) e = — s
ETEETOn o m_li 11 13,000 78%
SH14E (K) o A o 13000 e
Hicah o m_li 11 13,000 78%
S e m_li 11 13,000 78%
Fion(s) o m_li 11 13,000 78%
2F0E 00 e m_li 11 13,000 78%
SA21E(K) " A o o0 e
SEPREIES e m_li 11 13,000 78%
o5 (e) o m_li 11 13,000 78%
2o e m_li 11 13,000 78%
Hooa (0 o m_li 11 13,000 78%
A 280 (K) o A o 13000 e
55298 (K) e e o 13000 e
5H300 (%) & e o 13000 e
() e ﬂ“i 11 13,000 78%
PTG e m_li 11 13,000 78%
rETea e ﬂ“i 11 13,000 78%
6840 (/) T A o 13000 e
e e ﬂ“i 11 13,000 78%
e e m_li 11 13,000 78%
ETEn e ﬂ“i 11 13,000 78%
eI e m_li 11 13,000 78%
SIEED e ﬂ“i 11 13,000 78%
65 110 (K) T A o 13000 e
68128 (k) e e o 251500 e
65 130(%) T e o 13000 e
6H 140 (L) i A o 12000 o
65150 (0) T A o 000 o
68178 (N) i A o 15000 L
65 180 () =T A o 13000 L
65198 (R) e A o 13000 e
65208 (%) T A o 13000 e
6A210(4) i A o 13000 e
EPEIGT o m_li 11 13,000 78%
R e m_li 11 13,000 78%
I o m_li 11 13,000 78%
68250 () i A o 13000 e
e o m_li 11 13,000 78%
6H270 (%) = A o 13000 e
6H29H(H) f&hE ﬂllz T o T
65308(8) =T A o 13000 e
B0 = Mf\ 11 13,000 78%
7A2E0K) = A o 13000 o
EEETeS = Mf\ 11 13,000 79%
ereTes e ﬂ“z 11 13,000 79%
EreTes = Mf\ 11 13,000 79%
e e ﬂ“z 11 13,000 79%
e = Mf\ 11 13,000 79%
LEeE00 e ﬂ“i 11 13,000 79%
Lo = Mf\ 11 13,000 79%
O ) e ﬂ“i 11 13,000 79%
TS = m_li 11 13,000 79%
7H120(1) =T A o 13000 o

=) 11 13,000 79%




IBEX4Hi

aE&e (X f& EE o

EERE F5|x
7H13H(H) &l =) 11 13,000 79%
7H14H(H) &l = 11 13,000 79%
7H15H(N) f& ] e 11 13,000 79%
7H16H(K) &l = 11 13,000 79%
7H17H(XK) f& ] e 11 13,000 79%
4H1HN) NS, &l 12 20,500 65%
4H3H(XK) W=y @] 12 20,500 65%
4H8H(N) (U=} fe ] 12 17,500 70%
4H9H(K) W=y @] 12 17,500 70%
4H10H(K) NS, &l 12 20,500 65%
4H13H(H) W=y @] 12 17,500 70%
4H14H(H) NS, &l 12 20,500 65%
4H15H(X) W= @] 12 17,500 70%
4H16H(K) =3 e ] 12 17,500 70%
4H17H(K) =y @] 12 17,500 70%
4H18H (&) =y fa ] 12 20,500 65%
4H19H(X) =y @] 12 20,500 65%
4H20H(H) =y e ] 12 17,500 70%
4H21H(H) =y @] 12 20,500 65%
4H22H(N) = e ] 12 17,500 70%
4H23H(0K) =y @] 12 17,500 70%
4H24H(K) =y e ] 12 17,500 70%
S5H8H(XK) =y @] 12 14,500 75%
S5H9H(&) = e ] 12 14,500 75%
5H12H(H) =y @] 12 17,500 70%
S5H14H(K) =y e ] 12 14,500 75%
S5H15H(K) = ] 12 14,500 75%
S5H16H(:) =3 &l 12 14,500 75%
5H18H(H) = ] 12 17,500 70%
5H20H(X) =3 &l 12 17,000 71%
5H21H(K) = ] 12 17,000 71%
5H22H(XK) =3 &l 12 14,500 75%
5H23H(5&) = ] 12 14,500 75%
S5H24H(%) =3 &l 12 14,500 75%
5H25H(H) = ] 12 13,500 77%
S5H26H(H) =3 &l 12 14,500 75%
S5H27H(X) =y ] 12 14,500 75%
S5H28H(K) =3 &l 12 14,500 75%
S5H29H(XK) = ] 12 17,500 70%
S5H30H (&) W=y &l 12 14,500 75%
S5H31H(%) W=y ] 12 14,500 75%
6H1H(H) W=y &l 12 14,500 75%
6H2H(H) W=y il 12 14,500 75%
6H3B(X) W=y &l 12 14,500 75%
6H4H(K) W=y il 12 14,500 75%
6H5H(K) W=y &l 12 14,500 75%
6H6H(E) W=y e ] 12 14,500 75%
6H9H(H) W=y &l 12 14,500 75%
6H10H(X) = fE 12 14,500 75%
6H11H(K) =y &l 12 14,500 75%
6H12H(K) = fE 12 14,500 75%
6H13H (%) =y &l 12 14,500 75%
6H15H(H) = &l 12 14,500 75%
6H16H(H) =y &l 12 14,500 75%




IBEX4Hi

f55RE P #% —

EEER 5%
6H17H(XN) =) &l 12 14,500 75%
6H18H(K) e &l 12 14,500 75%
6H19H(K) =) &l 12 14,500 75%
6H20H (&) e &l 12 14,500 75%
6H21H (L) =) &l 12 17,500 70%
6H23H(H) e &l 12 14,500 75%
65248 (N) =) &l 12 14,500 75%
6H25H(K) e &l 12 14,500 75%
6H26H(K) =) &l 12 14,500 75%
6H27H(&) e &l 12 14,500 75%
6H28H (L) =) &l 12 17,500 70%
6H30H(H) e &l 12 14,500 75%
7H1HN) =) &l 12 14,500 76%
7H2H(K) e &l 12 14,500 76%
7H3H(R) =) &l 12 14,500 76%
7H4H(E) e &l 12 14,500 76%
7H5H(L) =) &l 12 14,500 76%
7H6H(H) e &l 12 14,500 76%
7H7H(H) =) &l 12 14,500 76%
7A8E () e & 12 14,500 76%
7H9H(K) =) &l 12 14,500 76%
7H10H(K) NS, &l 12 14,500 76%
7H11H(E) =) &l 12 14,500 76%
7H12H(%) e &l 12 14,500 76%
7H13H(H) =) &l 12 14,500 76%
7H14H(H) NS, &l 12 14,500 76%
7H158(X) =) &l 12 14,500 76%
7H16H(K) =) &l 12 14,500 76%
7H17H(R) =) &l 12 17,500 71%
4H1H(CKX) &l = 13 20,000 65%
4H2H(K) &l =) 13 17,500 70%
4H3H(K) &l = 13 20,000 65%
4H48H(%&) &l file 13 20,000 65%
4H5H(XL) &l = 13 20,000 65%
4H7H(H) &l file 13 20,000 65%
4H8H(X) &l = 13 20,000 65%
4H9H(K) &l =) 13 17,500 70%
4H10H(K) &l = 13 20,000 65%
4H11H(£&) &l file 13 17,500 70%
4H14H(H) &l =) 13 17,500 70%
4H15H0N) &l =) 13 17,500 70%
4H16H(K) &l =) 13 17,500 70%
4H17H(K) &l =) 13 17,500 70%
4H18H(%&) &l =) 13 20,000 65%
4H19H(X) &l =) 13 20,000 65%
4H20H(H) &l =) 13 17,500 70%
4H21H(H) &l =) 13 17,500 70%
4H22H(N) &l =) 13 17,500 70%
4H23H0K) &l = 13 17,500 70%
4H24H(K) &l =) 13 17,500 70%
S5H8H(K) &l = 13 14,000 76%
S5H9H(&) &l =) 13 17,000 71%
5H10H(L) & =) 13 17,500 70%
5H11H((H) &l =) 13 17,000 71%




IBEX4Hi

f55RE P #% —

EEER 5%
5H12H(H) &l =) 13 17,500 70%
5H14H(K) & e 13 14,000 76%
S5H15H(XK) &l =) 13 14,000 76%
5H16H(&) & e 13 14,000 76%
S5H20H(X) &l =) 13 14,000 76%
5H21H(K) & e 13 13,000 78%
S5H22H(XK) &l =) 13 14,000 76%
5H23H(5&) & e 13 14,000 76%
5H24H(L) &l =) 13 14,000 76%
5H25H(H) & e 13 17,000 71%
5H26H(H) &l =) 13 17,000 71%
5H27H(X) & e 13 14,000 76%
5H28H(K) &l =) 13 14,000 76%
5H30H(:) &l = 13 13,000 78%
S5H31H(L) &l e 13 14,000 76%
6H1H(H) &l = 13 14,000 76%
6H2H(H) &l e 13 14,000 76%
6H3H(XN) &l = 13 14,000 76%
6H4H(K) &l =) 13 14,000 76%
6H5H(K) &l = 13 14,000 76%
6H6H (&) &l e 13 14,000 76%
6H7H(X) &l = 13 15,000 74%
6H8H(H) &l e 13 14,000 76%
6H9H(H) &l = 13 14,000 76%
6H10H(X) &l =) 13 14,000 76%
6H11H(K) &l = 13 14,000 76%
6H12H(K) &l =) 13 14,000 76%
6H13H(E) &l = 13 14,000 76%
6H14H(L) &l file 13 15,000 74%
6H15H(H) &l =) 13 14,000 76%
6H16H(H) &l =) 13 14,000 76%
6H17H(X) &l =) 13 14,000 76%
6H18H(K) &l =) 13 14,000 76%
6H19H(K) &l =) 13 14,000 76%
6H20H (&) &l file 13 14,000 76%
6H21H(%) &l = 13 14,000 76%
6H22H(H) &l file 13 14,000 76%
6H23H(H) &l = 13 15,000 74%
6H24H(X) &l =) 13 14,000 76%
6H25H(K) &l =) 13 14,000 76%
6H26H(K) &l =) 13 14,000 76%
6H27H (&) &l =) 13 14,000 76%
6H28H(L) &l =) 13 17,500 70%
6H29H(H) &l =) 13 14,000 76%
6H30H(H) &l =) 13 14,000 76%
7H1H(N) &l =) 13 13,000 79%
7H2H(K) &l =) 13 14,000 77%
7H3H(K) &l =) 13 14,000 77%
7HA4H(E) &l =) 13 14,000 77%
7H5H(X) &l =) 13 14,000 77%
7H6H(H) &l =) 13 14,000 77%
7B78(8) & e 13 14,000 77%
7H8H(XN) & =) 13 13,000 79%
7H9H(K) &l =) 13 14,000 77%




IBEX4Hi

aE&e (X f& EE o

EERE 5%
7H10H(XK) f& ] =) 13 14,000 77%
7H11HGE) &l = 13 14,000 77%
7H12H(L) &l =) 13 14,000 77%
7H13H(H) &l = 13 14,000 77%
7H14H(H) &l =) 13 14,000 77%
7H15H(X) &l = 13 14,000 77%
7H16H(K) f& ] =) 13 14,000 77%
7H17H(K) &l = 13 14,000 77%
4H1H(X) W=y @] 14 20,000 65%
4H2H(K) NS, &l 14 20,000 65%
4H3H(XK) W=y @] 14 20,000 65%
4H5H(XL) NS, &l 14 20,000 65%
457H(H) W= @] 14 20,000 65%
4H8H(N) =3 e ] 14 17,500 70%
4H9H(7K) =y @] 14 17,500 70%
4H10H(K) =y fa ] 14 20,000 65%
4H12H(X) =y @] 14 20,000 65%
4H13H(H) =y e ] 14 20,000 65%
4H14H(H) =y @] 14 20,000 65%
4H15H(CN) = e ] 14 17,500 70%
4H16H(K) =y @] 14 17,500 70%
4H17H(K) =y e ] 14 17,500 70%
4H18H(E) =y @] 14 17,500 70%
4H19H(X) = e ] 14 17,500 70%
4520H(H) =y @] 14 17,500 70%
4H21H(H) =y e ] 14 17,500 70%
4H22H(N) = ] 14 17,500 70%
4H23H(K) =3 &l 14 20,000 65%
4H24H(K) = ] 14 17,500 70%
S5H8H(K) =3 &l 14 14,000 76%
S5H9H(E) = ] 14 14,000 76%
S5H13H(XN) =3 &l 14 13,500 77%
5H14H(K) = ] 14 14,000 76%
5H15H(XK) =3 &l 14 14,000 76%
5H16H(5&) = ] 14 17,500 70%
S5H18H(H) =3 &l 14 14,000 76%
S5H20H(X) =y ] 14 14,000 76%
S5H21H(K) =3 &l 14 14,000 76%
S5H22H(XK) = ] 14 14,000 76%
S5H23H(%) W=y &l 14 14,000 76%
S5H24H(%) W=y ] 14 14,000 76%
S5H25H(H) W=y &l 14 14,000 76%
5H26H(H) W=y il 14 14,000 76%
S5H27H(X) W=y &l 14 14,000 76%
5H28H(K) W=y il 14 14,000 76%
5H29H(XK) W=y &l 14 14,000 76%
5H30H(s&) W=y e ] 14 14,000 76%
S5H31H(%) W=y &l 14 14,000 76%
681H(H) = e ] 14 14,000 76%
6H2H(H) =y &l 14 15,000 74%
6H3H(N) = fE 14 14,000 76%
6H4H(K) =y &l 14 14,000 76%
6H5H(K) = &l 14 14,000 76%
6H6H(E) =y &l 14 14,000 76%




IBEX4Hi

f55RE P #% —

EEER 5%
6H7H(L) =) &l 14 14,000 76%
6H8H(H) e &l 14 14,000 76%
6H9H(H) =) &l 14 14,000 76%
6H10H(X) e &l 14 13,000 78%
6H11H(K) =) &l 14 14,000 76%
6H12H(K) e &l 14 14,000 76%
6H13H (&) =) &l 14 14,000 76%
6H14H(X) e &l 14 14,000 76%
6H15H(H) =) &l 14 14,000 76%
6H16H(H) e &l 14 14,000 76%
6H17H(N) =) &l 14 14,000 76%
6H18H(K) e &l 14 14,000 76%
6H19H(K) =) &l 14 14,000 76%
6H20H (%) NS, &l 14 14,000 76%
6H21H (L) =) &l 14 17,000 71%
6H22H(H) NS &l 14 14,000 76%
6H23H(H) =) &l 14 14,000 76%
6H24H(X) NS, &l 14 14,000 76%
6H25H(K) =) &l 14 13,000 78%
6H26H(K) NS &l 14 14,000 76%
6H27H(E) =) &l 14 14,000 76%
6H28H(%) NS, &l 14 14,000 76%
6H29H(H) =) &l 14 14,000 76%
6H30H(H) NS &l 14 14,000 76%
7H1H(X) =) &l 14 14,000 77%
7H2H(K) e &l 14 14,000 77%
7H3H(R) =) &l 14 14,000 77%
7H4H(E) =) &l 14 14,000 77%
7H5H(L) =) &l 14 14,000 77%
7H6H(H) =) &l 14 14,000 77%
7H7H(H) =) &l 14 14,000 77%
7H8H(N) =) &l 14 14,000 77%
7H9H(K) =) &l 14 14,000 77%
7H10H(K) =) &l 14 14,000 77%
7H11H(®) =) &l 14 14,000 77%
7H12H(%) =) &l 14 14,000 77%
7H13H(H) =) &l 14 14,000 77%
7H14H(H) =) &l 14 14,000 77%
7H158(X) =) &l 14 14,000 77%
7H16H(K) =) &l 14 14,000 77%
7H17H(K) =) ] 14 14,000 77%
4H1B(CKX) &l =) 15 17,500 70%
4H2H(K) &l =) 15 20,000 65%
4H3H(K) &l =) 15 17,500 70%
4H7H(H) &l =) 15 20,000 65%
4H8H(XN) &l =) 15 17,500 70%
4H9H(K) &l =) 15 17,500 70%
4H10H(K) &l =) 15 20,000 65%
4H11H(&) &l =) 15 20,000 65%
4H12H(X) &l =) 15 20,000 65%
4H13H(H) &l =) 15 20,000 65%
4H14H(H) &l =) 15 20,000 65%
4H15H0N) & =) 15 20,000 65%
4H16H(K) &l =) 15 17,500 70%




IBEX4Hi

s XS ®% —

S __ _ mE 213/
45186 (%) i %; 13 o5 ceo
48198(1) T e 15 005 22
45208(8) T e 15 o e
48218(8) = e 15 005 22
48228(X) a e 15 o oo
48238 (K) = e 15 T o
48246 (K) i e 15 i Lo
SASA(K) = e 15 P e
SH9R(&) i e 15 FRT05 Lo
SAL1A(H) = e 15 T o
SE128(8) i e 15 05 Lo
S 148(K) = e 15 AT e
5B 150 (A) = e 15 TR Lo
5H16H(%) = e 15 T e
SA17E(L) R s 15 TR e
5H18H(H) ol e 15 T e
SE21H(K) R e 15 TR e
5B228(K) = e 15 e o
5H230(%) R s 15 e re
5H24H (1) = e 15 T e
5H268(8) R e 15 TR e
5B278(K) = e 15 T o
5288 (K) R e 15 R Lo
5H298(A) ol e 15 T o
5H308(%) R e 15 TR e
5B318(1) E e 15 T e
6810 (H) R e 15 TR e
65268(8) ) e 15 o e
6B30(X) R e 15 T o
6545 () ) e 15 > e
6850 (k) = e 15 TR e
6565 (%) ol e 15 o =
6878(L) R s 15 TR e
6585 (H) ol e 15 o =
659E(8) R e 15 TR e
65 10H(N) ) e 15 o o
68 11E(X) R e 15 TR e
65120 (kK) ) e 15 o e
68 130(2) T e 15 TR e
65140(1) Em e 15 . o
68150 (H) =T e 15 TN e
68165 () Em e 15 . o
68178 (N) =T e 15 TN e
68 18E (k) Em e 15 . o
65 195 (&) = e 15 TN e
65200(2) ol e 15 . =
68210(1) =T e 15 TN e
65220(H) ol e 15 . =
682368 (8) =T e 15 YN e
68 25E () Em e 15 . e
65266 (K) & e 15 YN e
62275 (&) T e 15 13'888 e
=2 = , 76%

8H(TL) f&hE =, 15 14,000 760/2




IBEX4Hi

f55RE P #% —

EEER 5%
6H29H(H) &l =) 15 14,000 76%
6H30H(H) & e 15 14,000 76%
7H1HN) &l =) 15 13,000 79%
7H2H(K) & e 15 14,000 77%
7H3H(K) &l =) 15 14,000 77%
7HA4H(E) & e 15 14,000 77%
7H5H(L) &l =) 15 14,000 77%
7H6H(H) & e 15 17,500 71%
7H7H(H) &l =) 15 14,000 77%
7H8H(N) & e 15 14,000 77%
7H9H(K) &l =) 15 14,000 77%
7H10H(K) & e 15 14,000 77%
7H11H(E) &l =) 15 14,000 77%
7H12H(%) &l = 15 14,000 77%
7H13H(H) &l e 15 14,000 77%
7H14H(H) &l = 15 14,000 77%
7H15H(CN) &l e 15 14,000 77%
7H16H(K) &l = 15 14,000 77%
7H17H(K) &l e 15 14,000 77%
4H18(CKX) NS &l 16 19,000 67%
4H2H(K) =) &l 16 19,000 67%
4H3H(K) NS, &l 16 17,500 70%
4H4H(%&) =) &l 16 17,500 70%
4H5H(X) NS &l 16 19,000 67%
4H7H(H) =) &l 16 19,000 67%
4A8E(X) s & 16 17,500 70%
4H9H(K) =) &l 16 17,500 70%
4H10H(K) =) &l 16 17,500 70%
4H11H(£&) =) &l 16 19,000 67%
4H12H(X) =) &l 16 19,000 67%
4H13H(H) =) &l 16 19,000 67%
4H15H(N) =) &l 16 17,500 70%
4H16H(0K) =) &l 16 17,500 70%
4H17H(K) =) &l 16 19,000 67%
4H18H(&) =) &l 16 17,500 70%
4H19H(X) =) &l 16 17,500 70%
4H20H(H) =) &l 16 19,000 67%
4H21H(H) =) &l 16 17,500 70%
4H22H(N) =) &l 16 17,500 70%
4H23H(K) =) &l 16 17,500 70%
4H24H(K) =) ] 16 17,500 70%
S5H9H(&) =) &l 16 13,000 78%
5H10H(L) =) &l 16 17,000 71%
5H11H(H) =) &l 16 17,000 71%
5H12H(H) =) e ] 16 17,500 70%
SH13HX) =) &l 16 13,000 78%
5H14H(K) =) e ] 16 13,000 78%
S5H15H(XK) =) &l 16 13,000 78%
S5H16H(%) =) &l 16 13,000 78%
5H17H(%) =) &l 16 13,000 78%
5H18H(H) =) &l 16 17,500 70%
S5H20H(X) =) &l 16 13,000 78%
5H21H(K) e &l 16 13,000 78%
S5H22H(XK) =) &l 16 17,500 70%




IBEX4Hi

f&E%&H
XFE
22535 (&) = | |
A 48(1) 5 - z
25H(H) = i -
e = EE — ESEE >
5828H(7K) i i . . .
5829H(XK) = 1=IE T oo -
5830H(%) = an . - -
. - i T 13,000 78%
: . = 16 13,000 78%
P - i T 13,000 78%
. . = 16 13,000 78%
. - i T 13,000 78%
6835 (K) = = r - :
i - i T 15,000 78%
687H(1) = = - - :
6H8H(H) = & T oo -
689H(8) = = r - -
68108 (N) = = - - 78%
68311H(K) = &) o 00 -
68128 (K) = = r - -
68513H(2) = &) o 00 -
68148 (1) = = - - -
6H15H(H) = &) o 00 -
- . - 16 13,000 78%
68517H(N) = &) o 00 -
65 18H(K) = = r - -
. . - 16 13,000 78%
68208 (2) = = - - -
6821H (1) =) &) o 00 -
68228 (8) = = . - -
6823H(A) =) &) o 00 -
68248 (N) = = . - -
68258 (K) =) &) T 00 -
6826H(K) = = . - -
= . - 16 13,000 78%
68288 (1) = = . - -
6829H(H) =) &) T 00 -
68308 (8) = = . - -
7B1H(N) = &) T 00 -
7828 (K) = = . - -
783H(K) = &) o 00 -
7H4H(£) = = r - =
; SE(:t) i i T 13,000 78%
2 . - 16 13,000 79%
i - i T 13,000 79%
= . - 16 13,000 79%
i - i T 13,000 79%
i . - 16 13,000 79%
7B11H(®) =) 12 ) o 00 -
7H128(1) = = . - -
P - i T 13,000 79%
7H148(8) = = . - -
7B 15H(N) =) 12 o o0 -
7H16H(K) = = . - -
& &) T S -
o 16 13,000 foot
16 13,000 T
13,000 Lot
79%




IBEX4Hi

f55RE P #% —

EEER 5%
7H17H(K) =) &l 16 13,000 79%
4H2H(K) & e 17 20,500 65%
4H4H (&) &l =) 17 20,500 65%
4H6H(H) & e 17 20,500 65%
4H27H(RH) &l =) 17 20,500 65%
4H8H(X) & e 17 20,500 65%
4H9H(K) &l =) 17 20,500 65%
4H10H(K) & e 17 17,500 70%
4H11H(E) &l =) 17 20,500 65%
4H12H(X) & e 17 20,500 65%
4H14H(H) &l =) 17 20,500 65%
4H15HN) & e 17 20,500 65%
4H16H(K) &l =) 17 17,500 70%
4H18H(E) &l = 17 20,500 65%
4H19H(X) &l e 17 20,500 65%
4H20H(H) &l = 17 20,500 65%
4H21H(H) &l e 17 20,500 65%
4H22HCN) &l = 17 17,500 70%
4H23H0K) &l e 17 20,500 65%
4H24H(K) &l = 17 17,500 70%
S5H9H(&) &l e 17 14,500 75%
5H10H(%) &l = 17 17,000 71%
5H11H(H) &l e 17 14,500 75%
5H12H(H) &l = 17 17,500 70%
5H14H(K) &l e 17 14,500 75%
5H15H(K) &l = 17 14,500 75%
5H17H(L) &l file 17 14,500 75%
5H18H(H) &l =) 17 17,500 70%
5H21H(K) &l file 17 14,500 75%
5H22H(K) &l =) 17 17,500 70%
S5H23H(&#) &l file 17 14,500 75%
5H24H(%) & =) 17 14,500 75%
5H25H(H) &l file 17 14,500 75%
5H26H(H) &l =) 17 14,500 75%
5H27H(X) &l file 17 14,500 75%
5H28H(K) &l =) 17 14,500 75%
5H29H(K) &l file 17 14,500 75%
5H31H(%) & =) 17 14,500 75%
6H1H(H) &l file 17 14,500 75%
6H2H(H) &l =) 17 14,500 75%
6H4H(K) &l =) 17 14,500 75%
6858 (k) & filie 17 14,500 75%
6H6H (&) &l =) 17 14,500 75%
6H7H(%) &l =) 17 14,500 75%
6H8H(H) &l =) 17 14,500 75%
68 108 () & filie 17 14,500 75%
6H11H(K) &l =) 17 14,500 75%
6H12H(K) &l =) 17 14,500 75%
6H13H (&) &l =) 17 14,500 75%
6H14H(%) &l =) 17 14,500 75%
6H15H(H) &l =) 17 14,500 75%
6H16H(H) &l =) 17 17,500 70%
6H17H(CN) & =) 17 14,500 75%
6H18H(K) &l =) 17 14,500 75%




IBEX4Hi

f55RE P #% —

EEER 5%
6H19H(K) &l =) 17 14,500 75%
6H20H (&) & e 17 14,500 75%
6H21H (L) &l =) 17 14,500 75%
6H22H(H) & e 17 14,500 75%
6H24H(N) &l =) 17 14,500 75%
6H25H(K) & e 17 14,500 75%
6H26H(K) &l =) 17 14,500 75%
6H27H(&) & e 17 14,500 75%
6H28H (L) &l =) 17 14,500 75%
6H29H(H) & e 17 14,500 75%
6H30H(H) &l =) 17 14,500 75%
7H1HCN) & e 17 14,500 76%
7H2H(K) &l =) 17 14,500 76%
7H3H(K) &l =) 17 14,500 76%
7H4H (&) &l e 17 14,500 76%
7H5H(E) &l = 17 14,500 76%
7H6H(H) &l e 17 14,500 76%
7H7H(H) &l = 17 14,500 76%
7H8H(X) &l e 17 14,500 76%
7H9H(K) &l = 17 14,500 76%
7H10H(K) &l e 17 14,500 76%
7H11H(ZE) &l = 17 14,500 76%
7H12H(L) &l e 17 14,500 76%
7H13H(H) &l = 17 14,500 76%
7H14H(H) &l e 17 14,500 76%
7H15H(X) &l = 17 14,500 76%
7H16H(K) &l file 17 14,500 76%
7H17H(K) &l =) 17 14,500 76%
4H1HCN) =) &l 18 17,500 70%
4H2H(K) =) &l 18 17,500 70%
4H3H(K) =) &l 18 17,500 70%
4H4H(&E) =) &l 18 20,000 65%
4H5H(X) =) &l 18 17,500 70%
407H(RH) =) &l 18 17,500 70%
4H8H(N) =) &l 18 17,500 70%
4H9H(7K) =) &l 18 17,500 70%
4H10H(K) =) &l 18 20,000 65%
4H11H(%&) =) &l 18 20,000 65%
4H14H(H) =) &l 18 20,000 65%
4H15H(N) =) &l 18 17,500 70%
4H16H(0K) =) ] 18 17,500 70%
4H17H(K) =) &l 18 17,500 70%
4H18H(&) =) &l 18 17,500 70%
4H19H(X) =) &l 18 20,000 65%
4H20H(H) =) &l 18 20,000 65%
4H21H(H) =) &l 18 17,500 70%
452280 =) e ] 18 17,500 70%
4H23H(K) =) &l 18 17,500 70%
4H24H(K) =) e ] 18 17,500 70%
S5H8H(XK) =) &l 18 14,000 76%
S5H9H(&) =) &l 18 14,000 76%
5H10H(%) =) &l 18 14,000 76%
5H12H(H) e &l 18 14,000 76%
SH13HX) =) &l 18 14,000 76%




IBEX4Hi

$55E 0 XS ®%

B . _ mE 213/
51508 (&) e igg 12 FRT05 Lo
5B 16H (%) e = 18 T o
5B17H (L) e ) 18 i Lo
5B 18H(H) e = 18 P e
SH208(K) e & 18 FRT05 Lo
SA21A(K) e & 18 AT e
5H228(K) e T 18 FRT05 Lo
5H23H(2) e = 18 AT e
5H24H (1) e ) 18 FRT05 e
5H256(H) e = 18 AT e
SE278(K) e T 18 005 Lo
5288 (K) e & 18 P e
5H298(K) e & 18 TR Lo
5H308 (%) e = 18 PN o
SA31A(1) e ) 18 T Lo
68 10(H) e = 18 T o
6536 (X) e ) 1 TR e
6545 () e = 18 T e
6558 (K) e T 18 TR e
6565 (%) e = 18 5 o
6878(1) e ) 18 T T
EEEIG) e & : 17000 L
6598 () e = e 14000 e
65 108(N) e = 12 T e
68110 (K) e ) 18 TR e
65120 (K) e = 18 T e
68 130(2) e =T 18 TET o
65140(1) e = 18 T e
68156 (H) e =T 18 TR e
68178(X) e = 18 o e
68 186 (X) e =T 18 TR e
65190 (k) e = 18 o e
68200 (%) e =T 18 TR e
68210(1) e = 18 o e
682268(8) e =T 18 TR e
65240(X) e = 18 o e
68256 (X) e =T 18 TR e
65260 (k) e = 18 o e
68276(%) e =T 18 TR e
65280(1) na o 18 . =
65290 (H) e =T 18 TN e
6830 (8) e ) 18 2 o
7B1R(X) e =T 18 AT o
7B2E(K) e ) 18 . e
7A3E () e & 4000 o
ey e e 18 14,000 77%
e e ;ﬁ 18 14,000 77%
enin, e *EEJ 18 14,000 77%
ETETE) e ;ﬁ 18 14,000 77%
eI e *EEJ 18 14,000 77%
7B98(K) e &F 18 YN e
7B 108(A) e =T 12 13888 e
7 AN = . 7 2
H11H(ER) = f&E ] 18 14,000 7;(’2
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EEER 5%
7H12H(L) =) &l 18 14,000 77%
7H13H(H) e &l 18 14,000 77%
7H15H(X) =) &l 18 14,000 77%
7H16H(K) e &l 18 14,000 77%
7H17H(K) =) &l 18 14,000 77%
4H1H(CX) & e 19 20,500 65%
4H2H(K) &l =) 19 20,500 65%
4H3H(K) & e 19 20,500 65%
4H4H (&) &l =) 19 20,500 65%
487H(H) & e 19 20,500 65%
4H8H(XN) &l =) 19 17,500 70%
4H10H(XK) & e 19 17,500 70%
4H11H(E) &l =) 19 20,500 65%
4H12H(X) &l = 19 20,500 65%
4H14H(H) &l e 19 20,500 65%
4H15HN) &l = 19 20,500 65%
4H16H(0K) &l =) 19 17,500 70%
4H17H(K) &l = 19 20,500 65%
4H18H(&) &l e 19 20,500 65%
4H19H(X) &l = 19 20,500 65%
4H20H(H) &l e 19 20,500 65%
4H21H(H) &l = 19 20,500 65%
4H22H(N) &l =) 19 20,500 65%
4H23H0K) &l = 19 17,500 70%
S5H8H(R) &l e 19 17,000 71%
5H10H(%) & = 19 14,500 75%
5H12H(H) &l =) 19 14,500 75%
SH13H(X) &l = 19 13,500 77%
5H14H(K) &l =) 19 14,500 75%
S5H15H(XK) &l =) 19 17,500 70%
S5H16H(%) &l file 19 17,000 71%
5H21H(K) &l =) 19 13,000 78%
5H22H(K) &l =) 19 14,500 75%
5H25H(H) &l =) 19 14,500 75%
5H27H(X) &l file 19 17,000 71%
5H28H(K) &l =) 19 13,000 78%
5H29H(K) &l =) 19 14,500 75%
5H30H (&%) & =) 19 14,500 75%
5H31H(L) &l file 19 14,500 75%
6H1H(H) &l =) 19 14,500 75%
6H2H(AH) &l =) 19 15,000 74%
6H3H(XN) &l =) 19 14,500 75%
6H4H(K) &l =) 19 14,500 75%
6H5H(K) &l =) 19 14,500 75%
6H6H (&) &l =) 19 14,500 75%
6H7H(L) &l =) 19 14,500 75%
6H11H(K) &l =) 19 14,500 75%
6H12H(K) &l =) 19 14,500 75%
6H13H (&) &l =) 19 14,500 75%
6H14H(%) &l =) 19 14,500 75%
6H15H(H) &l =) 19 14,500 75%
6H17H(XN) &l =) 19 14,500 75%
6H18H(K) & =) 19 14,500 75%
6H19H(K) &l =) 19 14,500 75%
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EE
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EEER F5|x
6H20H (&) &l e 19 17,500 70%
6H21H(*L) &l = 19 14,500 75%
6H22H(H) &l e 19 14,500 75%
6H24H(XN) &l = 19 14,500 75%
6H25H(K) f& ] e 19 14,500 75%
6H26H(K) &l = 19 14,500 75%
6H27H (&) &l e 19 14,500 75%
6H28H (L) &l = 19 14,500 75%
6H29H(H) &l e 19 14,500 75%
6H30H(H) &l = 19 14,500 75%
7H2B8(K) f& ] e 19 14,500 76%
7H3B(K) &l = 19 14,500 76%
7H48(E) &l e 19 14,500 76%
7H5H(X) &l il= 19 14,500 76%
7H6H(H) &l =) 19 14,500 76%
7H8H(XN) &l il= 19 14,500 76%
7H9H(K) & ] =) 19 14,500 76%
7H10H(K) &l il= 19 14,500 76%
7H11H(®) &l =) 19 14,500 76%
7H12H(L) &l il= 19 14,500 76%
7H13H(H) &l =) 19 14,500 76%
7H14H(H) &l il= 19 14,500 76%
7H15H(X) & ] =) 19 14,500 76%
7H16H(K) &l il= 19 14,500 76%
7H17H(K) & ] =) 19 14,500 76%
4AH1HN) =y “EE 20 12,000 68%
4H2H(K) = ZHaE 20 13,500 64%
4H4H(&E) =) Bz 20 12,000 68%
4H5H(XL) = ZHaE 20 13,500 64%
456H(H) =3 “EE 20 13,500 64%
487H(H) = ZHaE 20 13,500 64%
4H8H(XN) =3 Bz 20 12,000 68%
4H9H(K) = ZHaE 20 13,500 64%
4H10H(K) =3 “EE 20 13,500 64%
4H11H(ER) = ZHaE 20 13,500 64%
4H15H(X) =3 Bz 20 12,000 68%
4H16H(K) =y ZaE 20 13,500 64%
4H17H(K) =3 “EE 20 12,000 68%
4H18H (&) = ZHaE 20 13,500 64%
4H19H(X) =) ZaE 20 13,500 64%
4H20H(H) W=y ZhE 20 12,000 68%
4521H(H) W=y ZaE 20 13,500 64%
4H22H(N) W=y ZhE 20 13,500 64%
4H23H(K) W=y ZaE 20 13,500 64%
4H24H(K) W=y 2R 20 12,000 68%
S5H8H(R) W=y ZaE 20 12,760 66%
S5H9H(E) W=y ZhE 20 11,260 70%
5H10H(L) =) “aE 20 12,760 66%
5H11H(H) = ZhE 20 12,760 66%
S5H12H(H) =y ZoaE 20 10,760 71%
S5H13H(X) = ZhE 20 10,760 71%
S5H14H(K) =y ZoaE 20 11,260 70%
S5H15H(K) = ZhE 20 6,760 82%
S5H16H(GE) (= “EE 20 10,760 71%




aE&e

(X5

EE

IBEX4Hi

5H17H(+
58198(A) e a5 -
5H20B8(N) s SoE : 5 =
. . = 2 12,760 25
5H22H(K) = ZhE o o -
. - sk < 10,760 70%
5H24H(1) =y ZhE o 5250 -
5H258(8) = SoE : - -
5H26H(B) =y ZhE o e -
5H278(N) = SoE : : .
5H28H(K) =y ZhE o 5250 -
58298 (K) = SoE : - -
. - so 2L 9,760 75%
. + sk < 6,760 74%
i - so 2L 6,760 82%
P - sa 2 10,760 82%
- - sk = 9,260 71%
. - o < 9,760 75%
685H(K) = SoE : - :
. - o < 9,260 75%
. 2 sk < 6,760 75%
688H(H) Wa ZhE e cre -
6839H(8) = oo . : -
68 108(N) = 2R e 5750 -
- 2 sk < 9,760 74%
. - o < 9,760 74%
68138 (D) = e : - -
6814H(1) = 2R o cre -
6815H(8) = SOz - : -
6816H(A) = 2R & e -
68178 (N) = SOz - -~ .
. - o 20 12,760 75%
68198 (K) = SOz - - :
65208 (%) = 2R & 5250 -
68218 (1) = SOz - - -
6822H(H) = 2R & e -
68238(8) = SOz - - :
68248 (N) = 2R & 5750 -
- s 22 e 9,760 74%
6526H () = 2R & 5250 -
6H278(2) = ooE : . :
. - o 20 9,760 75%
- 2 22 e 6,760 74%
68308(8) = ZhE & 5250 -
7E1BH(N) = s . - :
. - o 20 9,760 75%
7H3H(X) = s . - :
7848 (&) s ZhE & 5560 -
7B58(1) = s . - -
7868 (H) s ZhE & S -
7B78(8) = o . : :
7B8H(N) s ZhE & 5250 -
7H98(K) = s . : :
= HhE > 5260 -
e 20 9,260 Lo
2 o 76%
6,760 53
83%
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7H10H(XK) W=y ZHaE 20 6,760 83%
7H11HGE) NS, ZhE 20 9,260 76%
7H12H(L) W=y ZHaE 20 9,260 76%
7H13H(H) NS, ZhE 20 9,260 76%
7H14H(H) W=y ZHaE 20 9,260 76%
7H15H(X) NS, ZhE 20 6,760 83%
7H16H(K) W=y ZHaE 20 6,760 83%
7H17H(K) NS, ZhE 20 9,760 75%
4H1H(X) ZaE =) 21 10,000 73%
4H2H(K) ZhE = 21 11,500 69%
4H3H(XK) ZaE =) 21 10,000 73%
4H4H (&) ZhE = 21 11,500 69%
4H6H(H) ZaE =) 21 11,500 69%
4857H(H) 2EE il= 21 11,500 69%
4H8H(X) ZaE =) 21 11,500 69%
4H9H(K) 2EE il= 21 10,000 73%
4H10H(K) ZaE =) 21 10,000 73%
4H11H(&) 2EE il= 21 11,500 69%
4H13H(H) ZaE =) 21 10,000 73%
4H14H(H) 2EE il= 21 11,500 69%
45 15H(CN) ZaE =) 21 10,000 73%
4H16H(K) 2EE il= 21 10,000 73%
4H17H(K) ZaE =) 21 10,000 73%
4H18H(E) 2EE il= 21 10,000 73%
4H19H(X) ZaE =) 21 11,500 69%
4H20H(H) 2EE = 21 11,500 69%
4821H(H) ZaE =) 21 10,000 73%
4H22H(N) 2EE = 21 10,000 73%
4H23H(0K) ZaE =) 21 10,000 73%
4H24H(K) 2EE = 21 10,000 73%
S5H8H(XK) ZaE =) 21 10,760 71%
S5H9H(E) 2EE = 21 10,760 71%
S5H10H(L) ZaE =) 21 10,760 71%
5H11H(H) 2EE = 21 8,760 76%
5H12H(H) ZaE =) 21 8,760 76%
S5H13H(XN) 2EE = 21 6,760 82%
5H14H(K) ZaE =) 21 8,760 76%
5H15H(XK) 2EE = 21 8,760 76%
5H16H(5&) ZaE =) 21 10,760 71%
5H17H(L) “aE =) 21 8,760 76%
5H18H(H) ZaE =) 21 8,760 76%
S5H19H(H) “aE =) 21 8,760 76%
S5H20H(X) ZaE =) 21 6,760 82%
S5H21H(K) “aE =) 21 6,760 82%
S5H22H(XK) ZaE =) 21 6,760 82%
5H23H(5) “aE =) 21 8,760 76%
S5H24H(%) ZaE =) 21 8,760 76%
S5H25H(H) “aE =) 21 9,760 74%
5H26H(H) ZaE = 21 8,760 76%
S5H27H(X) ZaE =) 21 6,760 82%
5H28H(K) ZaE = 21 6,760 82%
5H29H(XK) ZaE =) 21 6,760 82%
5H30H(s&) ZhE e 21 8,760 76%
S5H31H(%) ZaE =3 21 8,760 76%
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6H1H(H) ZaE e 21 8,760 76%
6H2H(AH) 2EE = 21 8,760 76%
6H3H(N) ZaE =) 21 6,760 82%
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7H3H(K) = Le = - -
7H4H (%) = IN=] 5 e -
7H58(L) = Le = - .
7H6H(8) = IN=] 5 s -
7878(8) = Le = - .
7H8H(N) s NS 5 10 -
- 5 s 29 9,100 84%
i - s =2 8,600 83%
7H11H(®) = Le = - .
7B12H (1) = /N=] 5 s -
7H138(8) = = = - .
7E148(8) s = > - :
7E158(N) = Le = - -
78 16H(K) = /N=] 5 s -
i + s = 8,600 84%
7818H (%) = IN=] 5 s -
i : s = 8,600 84%
i - s =2 8,600 84%
- - 5 s 22 8,600 84%
s NS = L0 -
zs 29 11,100 S5
39 10,100 Sro
10,100 Sio
81%
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7H22H(N) W=y L5 39 8,600 84%
7H23H(K) NS, NS 39 8,600 84%
7H24H(XK) W=y L5 39 8,600 84%
7H25H(E) U=} L5 39 11,100 79%
7H26H(L) W=y INS; 39 10,100 81%
7H27H(H) NS, NS 39 8,600 84%
7H28H(H) W=y INS; 39 8,600 84%
7H29H(X) NS, NS 39 8,600 84%
7H30H(K) W=y L5 39 9,100 83%
7H31H(K) NS, NS 39 9,100 83%
4H1H(X) NS =) 40 11,100 78%
4H2H(K) L5 = 40 11,100 78%
4H3H(XK) L5 =) 40 10,100 80%
4H4H (&) /NS = 40 11,100 78%
487H(H) L5 =) 40 10,100 80%
4H8H(N) /NS = 40 9,100 82%
4H9H(7K) INZ] =) 40 9,100 82%
4H11H(&) /NS = 40 11,100 78%
4H14H(H) L5 =) 40 9,100 82%
4H15H(CN) /NS = 40 9,100 82%
4H16H(K) INZ] =) 40 11,100 78%
4H17H(K) /NS = 40 9,100 82%
4H18H(E) L5 =) 40 11,100 78%
4H19H(X) /NS = 40 11,100 78%
4520H(H) L5 =) 40 10,100 80%
4H21H(H) /NS = 40 10,100 80%
4H22H(N) NS =) 40 10,100 80%
4H23H(K) /NS = 40 9,100 82%
S5H7H(K) NS =) 40 9,100 82%
S5H8H(R) /NS = 40 11,100 78%
S5H9H(E) NS =) 40 9,100 82%
5H10H(%) /NS = 40 9,100 82%
5H11H(H) NS =) 40 9,100 82%
5H12H(H) /NS = 40 9,100 82%
SH13H(X) NS =) 40 8,600 83%
S5H14H(K) /NS = 40 9,100 82%
S5H15H(K) NS =) 40 10,100 80%
5H16H(5&) /NS = 40 11,100 78%
S5H17H(%) NS =) 40 10,100 80%
S5H18H(H) /NS =3 40 8,600 83%
5H19H(H) L5 (= 40 9,100 82%
5H20H(X) /NS =3 40 8,600 83%
5H21H(K) L5 (= 40 9,100 82%
S5H23H(%) /NS =3 40 9,100 82%
S5H24H(%) L5 =) 40 10,100 80%
S5H25H(H) /NS =3 40 9,100 82%
5H26H(H) L5 (= 40 9,100 82%
S5H27H(X) /NS =3 40 9,100 82%
5H28H(K) L5 (= 40 9,100 82%
5H29H(XK) NS =3 40 9,100 82%
5H30H(5&) L5 = 40 8,600 83%
5H31H(%) NS =3 40 10,100 80%
681H(H) L5 =) 40 9,100 82%
6H2H(H) NS =3 40 9,100 82%
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6850 (k) RS e 40 T e
6560(%) RS e 40 R S
658E(H) RS e 40 T oo
659E(8) fRE e 40 e 555

68 108 (X) RS e 40 T S0

68 11H () RS e 40 ORI S0

68 126 (&) RS e 40 e S0

68136 (%) RS e 40 ORI S0

68 146(1) RS e 40 TR 205

68158 (0) fRE e 40 ORI S0

68165 (5) RS e 40 e S0

68178(X) RS e 40 N a0

6H18H(/K) INZ; = 40 - S0

68 195 (A) RS e 40 T oo

65200(2) LE e 40 T 5o

68210(1) RS e 40 ST S50

68226 (H) LE e 40 TR S0

68238(8) RS e 40 T e

68248(N) LB e 40 e o

68256 () RS e 40 N oo

65260 (k) LE e 40 v o5

68276 (%) RS e 40 T o3

65280(1) LE e 40 TN S0t

658296 (0) LB e 40 i S

65300(8) LB e 40 T 0
7B1R(X) LB e 40 R Sio
7B2E(K) LB e 40 P St
7B3A(K) LB e 40 W S5
7B4E(2) LB e 40 e 515
7B58(1) fRE e 40 o S
7B6E(H) LB e 40 W 50
7B78(8) LB e 40 W S5
7B8E(N) LB e 40 " 53
7B9E () LB e 40 N S

7B 108 (A) LB e 40 W 50

7B11R(&) LB e 40 R 50

7H12H(%) INZ] = 40 e o

7B 136(H) LB e 40 ¥ o5

7B 145 () LB e 40 e 505

7B 156 (X) LB e 40 T 507

7B 16H (K) LB e 40 i 50

7B17H(A) LB e 40 T 507

7B 18E(&) LB e 40 i 5o

7B198(1) fRE e 40 G o

7B208(8) LB e 40 T S

7B218(8) LB e 40 TG oo

7B 226(X) LB e 40 P St

7B238(K) LB e 40 ¥ o5

7B 245 () LB e 40 s 505

7B258(%) RS e 40 o 507

72 265 (1) fRE e 40 g'?gg =

7H27H , 5o

(H) INZ] =, 40 8,600 84%
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7H28H(H) NS =) 40 8,600 84%
7H29H(X) INZ; = 40 8,600 84%
7H30H(K) NS =) 40 8,600 84%
7H31H(K) L5 = 40 9,100 83%
4H1H(X) W=y INS; 41 11,100 78%
4H3H(K) NS, NS 41 10,100 80%
4H4H (&) W=y INS; 41 11,100 78%
4H5H(XL) NS, NS 41 11,100 78%
4H8H(N) dlif=) =] 41 9,100 82%
4H9H(K) NS, NS 41 10,100 80%
4H12H(X) W=y INS; 41 11,100 78%
4H13H(H) NS, NS 41 11,100 78%
4H14H(H) W= INS; 41 11,100 78%
4H15H(CN) =3 L5 41 10,100 80%
4H16H(K) =y L5 41 9,100 82%
4H17H(K) =y L5 41 10,100 80%
4H19H(X) =y L5 41 11,100 78%
4H20H(H) =y L5 41 9,100 82%
4H21H(H) =y L5 41 9,100 82%
4H22H(N) = L5 41 10,100 80%
4H23H(0K) =y L5 41 9,100 82%
4H24H(K) =y L5 41 10,100 80%
SH7H(K) =y L5 41 9,100 82%
S5H8H(K) = L5 41 8,100 84%
S5H9H(E) =y L5 41 9,100 82%
S5H10H(L) NS, L5 41 9,100 82%
5H11H(H) = L5 41 10,100 80%
5H12H(H) =3 L5 41 8,100 84%
SH13H(X) = L5 41 8,100 84%
S5H14H(K) =3 L5 41 8,100 84%
S5H15H(K) = L5 41 9,100 82%
S5H16H(:) =) L5 41 9,100 82%
S5H17H(%) = L5 41 9,100 82%
S5H18H(H) =3 L5 41 10,100 80%
5H19H(H) = L5 41 8,100 84%
5H20H(X) =3 L5 41 8,600 83%
5H21H(K) =y L5 41 8,100 84%
5H22H(XK) =3 L5 41 8,100 84%
5H23H(5&) = L5 41 10,100 80%
5H24H(L) W=y IN=; 41 8,100 84%
5H25H(H) W=y IN=] 41 11,100 78%
S5H26H(H) W=y IN=; 41 9,100 82%
5H27B(X) W=y L5 41 8,100 84%
S5H28H(K) W=y IN=; 41 9,100 82%
5H29H(K) W=y L5 41 8,100 84%
S5H30H (&) W=y IN=; 41 8,600 83%
S5H31H(%) W=y IN=] 41 9,100 82%
6H1H(H) W=y IN=; 41 11,100 78%
6H2H(H) = IN=; 41 9,100 82%
6H3H(N) (=} L5 41 10,100 80%
6H4H(K) = IN=; 41 8,600 83%
6H5H(K) =y IN=; 41 8,100 84%
6H6H(E) = IN=] 41 11,100 78%
6H7H(%) =y IN=; 41 10,100 80%
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6H8H(H) W=y INS; 41 10,100 80%
6H9H(H) NS, NS 41 9,100 82%
6H10H(N) W=y INS; 41 8,600 83%
6H11H(K) NS, NS 41 8,100 84%
6H12H(K) W=y INS; 41 9,100 82%
6H13H(E) NS, NS 41 8,600 83%
6H14H(L) W=y INS; 41 9,100 82%
6H15H(H) NS, NS 41 9,100 82%
6H16H(H) W=y INS; 41 8,100 84%
6H17H(N) NS, NS 41 9,100 82%
6H18H(K) W=y INS; 41 8,100 84%
6H19H(K) NS, NS 41 10,100 80%
6H21H(L) W= INS; 41 9,100 82%
6H22H(H) =3 L5 41 8,600 83%
68523H(H) =y L5 41 9,100 82%
6H24H(N) =y L5 41 8,100 84%
6H25H(K) =y L5 41 8,600 83%
6H26H(K) =y L5 41 8,100 84%
6H27H (&) =y L5 41 10,100 80%
6H28H (%) NS L5 41 9,100 82%
6829H(H) =y L5 41 9,100 82%
6H30H(H) =y L5 41 8,100 84%
7H1HCN) =y L5 41 8,600 84%
7H2B(K) = L5 41 8,600 84%
7H3H(K) =y L5 41 8,600 84%
7H4H (&) NS, L5 41 8,600 84%
7H5H(X) = L5 41 8,600 84%
7H6H((H) =3 L5 41 8,100 85%
7H7H(H) = L5 41 8,600 84%
7H8H(X) (=} NS 41 8,600 84%
7H9H(K) = L5 41 8,600 84%
7H10H(K) (=} NS 41 8,600 84%
7H11H(&) = L5 41 8,600 84%
7H12H(L) =) L5 41 9,100 83%
7H13H(H) = L5 41 8,600 84%
7H14H(H) =3 L5 41 8,600 84%
7H15H(X) =y L5 41 8,600 84%
7H16H(K) =3 L5 41 8,600 84%
7H17H(K) = L5 41 8,600 84%
7H18H (%) W=y IN=; 41 10,100 81%
7H19H(L) W=y IN=] 41 10,100 81%
7H20H(H) W=y IN=; 41 9,100 83%
7H21H(H) W=y L5 41 11,100 79%
7H22H(X) W=y IN=; 41 9,100 83%
7H23H(K) W=y L5 41 9,100 83%
7H24H(XK) W=y IN=; 41 8,600 84%
7H25H (&) W=y IN=] 41 10,100 81%
7H26H(L) W=y IN=; 41 8,600 84%
7H27H(H) = L5 41 9,100 83%
7H28H(H) =y IN=; 41 8,600 84%
7H29H(X) = IN=; 41 8,600 84%
7H30H(K) =y IN=; 41 8,600 84%
7H31H(K) = IN=] 41 9,100 83%
4H1HX) NS =) 42 11,100 78%




aE&e

(X5

EE

IBEX4Hi

— _ _ mE 213/
4558 (1) mi %; 23 SR05 Lo
48768(8) RS e 42 TR S
4B8E () RS e 42 T0}05 S00
4H9H (K) LB e 42 e 5o
48 108 (X) RS e 42 TR e
4B 126(1) RS e 42 R T
45148(8) RS e 42 T} 05 S0
4H158(K) RS e 42 TR 505
AH168(K) RS e 42 T0}05 S00
4H178(K) RS e 42 e 5o
4H18H(%) RS e 42 ORI S0
48216(8) RS e 42 R S
48228(X) RS e 42 BT Soo
48238 (K) LE e 42 = S0
48248 (K) RS e 42 T 500
SH7H(K) LE e 42 T S0
F=EEIES) RS e 42 o 530
SHOH () LE e 42 e S0
5A108(1) RS e 42 ST 550
5SH11E(H) LE e 42 i S50
SE128(8) RS e 42 R S0
SE138(K) LE e 42 P s
5A 140 (K) RS e 42 R 500
5B158(K) LE e 42 o 5o
SH160(%) RS e 42 R S0
5B178(L) LB e 42 P s
5H198(8) LB e 42 TR S5
5H208(K) LB e 42 sl o
SE21H(K) LB e 42 N S50
5B228(K) LB e 42 i 505
5H230(%) LB e 42 T S5
58258(8) LB e 42 o g
5B26H () LB e 42 T S0t
5B278(K) LB e 42 a0 505
5H288(K) LB e 42 N 5o
5H298(K) LB e 42 " S50
5B30H(2) RS e 42 N 5o
68268(8) LB e 42 . S0%
6B30(X) LB e 42 i s
6545 () LB e 42 i =
6850 (k) LB e 42 KIS 530
6566 (%) LB e 42 e =
6878(L) fRE e 42 > S50
6585 (H) LB e 42 i o
6898(8) LB e 42 T S0
68 108 (X) LB e 42 “aas S5
68110 (X) LB e 42 i o
68 126 (&) LB e 42 e 530
6B 130(2) RS e 42 ¥ 5o
65140(1) LB e 42 i 505
65156 (H) LB e 42 T S5
62 168(8) fRE e 42 191'11000O Soo
e , 82%

B(N) fRE e 42 5.100 82%
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6H18H(K) NS =) 42 8,100 84%
6H19H(K) INZ; = 42 8,100 84%
6H20H (&) NS =) 42 8,600 83%
6H21H(L) L5 = 42 8,100 84%
6H23H(H) NS =) 42 11,100 78%
6H24H(N) L5 = 42 8,600 83%
6H25H(K) NS =) 42 8,100 84%
6H26H(K) INZ; = 42 8,100 84%
6H27H (&) L5 =) 42 8,100 84%
6H28H (L) INZ; = 42 8,100 84%
6H29H(H) NS =) 42 10,100 80%
6H30H(H) L5 = 42 10,100 80%
7H1B(X) L5 =) 42 9,100 83%
7H2B(K) /NS = 42 9,100 83%
7H3H(K) L5 =) 42 8,600 84%
7H4B(GE) /NS = 42 8,600 84%
7H5H(X) INZ] =) 42 8,600 84%
7H6H(H) /NS = 42 9,100 83%
7H7H(H) L5 =) 42 8,600 84%
7H8H(N) /NS = 42 8,600 84%
7H9H(K) INZ] =) 42 8,600 84%
7H10H(K) /NS = 42 8,600 84%
7H11H(®) L5 =) 42 8,600 84%
7H12H(L) /NS = 42 8,600 84%
7H13H(H) L5 =) 42 9,100 83%
7H14H(H) /NS = 42 9,100 83%
7H15H(X) NS =) 42 8,600 84%
7H16H(K) /NS = 42 8,600 84%
7H17H(K) NS =) 42 8,600 84%
7H18H(5&) /NS = 42 9,100 83%
7H19H(L) NS =) 42 10,100 81%
7H20H(H) /NS = 42 10,100 81%
7H21H(H) NS =) 42 10,100 81%
7H22H(X) /NS = 42 9,100 83%
7H23H(K) NS =) 42 8,600 84%
7H24H(XK) /NS = 42 8,600 84%
7H25H (&) NS =) 42 8,600 84%
7H26H (%) /NS = 42 8,600 84%
7H27H(H) NS =) 42 11,100 79%
7H28H(H) /NS =3 42 10,100 81%
7H29H(X) L5 (= 42 10,100 81%
7H30H(K) /NS =3 42 8,600 84%
7H31H(K) L5 (= 42 8,600 84%
4H1H(XN) W=y IN=; 43 11,100 78%
4H2H(K) W=y L5 43 10,100 80%
4H3H(K) W=y IN=; 43 10,100 80%
4H4H (&) W=y IN=] 43 10,100 80%
4857H(H) W=y IN=; 43 11,100 78%
4H8H(N) = IN=; 43 9,100 82%
4H9H(K) =y IN=; 43 9,100 82%
4H10H(K) = IN=; 43 10,100 80%
4H11H(%&) =y IN=; 43 9,100 82%
4H12H(X) = IN=] 43 10,100 80%
4H15H(X) =y IN=; 43 11,100 78%
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4816H (K
ZE 17H (7&? T
19H(1) e e -
4820H(8) T o : : il
48228 (N) i is : : .
4823H(K) = /N=] - L0 -
i - Lo > 11,100 82%
i - e X 11,100 78%
i - L8 = 9,100 78%
' - e X 11,100 82%
i - L8 = 9,100 78%
S5H12H(B) = /N=] - e -
5H138(N) = L2 43 : -
. - s 22 9,100 83%
. - Lo > 10,100 82%
S5H16H(&) = /N=] - s -
i 4 L8 33 8,100 83%
- 2 s e 9,100 84%
5819H(8) = L5 - 510 -
5H20B8(N) s Lo s - -
. o £2 23 9,100 80%
58228 (K) = Lo s - -
5823H (%) = L5 - 10 -
5H248(%) = Lo s - -
. o £2 23 8,100 82%
5H26H(8) s Lo s - -
5827H(N) = L5 - s -
5H28H(K) = Le s - -
5829H(XK) = IN=] - 1010 -
58308 () = L2 i - -
5831H (1) = L5 - 1010 -
681H(H) = Le 43 - -
682H(8) = IN=] - L1 -
6838 (X) = Le 43 - :
6H4E(7K) i s e 10,100 78%
6858 (K) = Le 43 - -
6H6H (%) = IN=] - e -
- : i 43 8,600 84%
689H(8) = IN=] - 10 -
68108 (N) = L2 i - -
- . i2 43 11,100 82%
- 2 e 3 9,100 78%
6813H(&) = /N=] - s -
68148 (1) = = 43 - -
. - cs 2 8,100 84%
6816H(B) = = 43 o -
L - s 3 10,100 80%
68 18H(K) = = 43 - -
68 19H(K) = /N=] - Lo .
68208 (D) = = 43 - -
. - cs 2 9,100 78%
68228 (8) = = 43 - -
6823H(8) = IN=] - .10 -
= 5 s 43 10,100 83%
; - i BT 80%
zs 43 11,100 o
i N 78%
8,100 S
84%
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6H25H(K) W=y INS; 43 8,100 84%
6H26H(K) NS, NS 43 8,100 84%
6H27H (&) W=y INS; 43 9,100 82%
6H28H (L) NS, NS 43 8,600 83%
6H29H(H) W=y INS; 43 10,100 80%
6H30H(H) NS, NS 43 9,100 82%
7H1B(X) W=y INS; 43 8,600 84%
7H2B(K) NS, NS 43 8,600 84%
7H3B(K) W=y INS; 43 8,600 84%
7HA4H(E) NS, NS 43 9,100 83%
7H5H(%) W=y INS; 43 9,100 83%
7H6H(H) NS, NS 43 9,100 83%
7H7H(H) W= INS; 43 8,600 84%
7H8H(N) =3 L5 43 8,600 84%
7H9H(K) =y L5 43 8,600 84%
7H10H(K) =y L5 43 8,600 84%
7H11H(®) =y L5 43 9,100 83%
7H12H(L) NS, L5 43 8,600 84%
7H13H(H) =y L5 43 9,100 83%
7H14H(H) = L5 43 8,600 84%
7H15HX) =y L5 43 8,600 84%
7H16H(K) =y L5 43 8,600 84%
7H17H(K) =y L5 43 8,600 84%
7H18H(:&) NS L5 43 10,100 81%
7H19H(L) =y L5 43 10,100 81%
7H20H(H) =y L5 43 10,100 81%
7H21H(H) = L5 43 11,100 79%
7H22H(X) =3 L5 43 9,100 83%
7H23H(K) = L5 43 8,600 84%
7H24H(K) (=} NS 43 8,600 84%
7H25H (&) = L5 43 9,100 83%
7H26H(L) =) L5 43 8,600 84%
7H27H(H) = L5 43 8,600 84%
7H28H(AH) =3 L5 43 8,600 84%
7H29H(X) = L5 43 8,600 84%
7H30H(K) =3 L5 43 8,600 84%
7H31H(K) =y L5 43 8,600 84%
45 1H(N) /NS = 44 11,100 78%
4H2H(K) NS =) 44 11,100 78%
4H3H(K) /NS =3 44 11,100 78%
4H4H (&) L5 =) 14 11,100 78%
4857H(H) /NS =) 44 10,100 80%
4H8H(N) L5 (= 14 11,100 78%
4H9H(K) /NS =3 44 10,100 80%
4H10H(K) L5 (= 44 10,100 80%
4513H(H) /NS =) 44 11,100 78%
4H14H(H) L5 (= 44 9,100 82%
4H15H(X) /NS =) 44 9,100 82%
4H16H(K) L5 (= 44 8,600 83%
4H17H(K) NS =3 44 9,100 82%
4H18H (&) L5 = 14 9,100 82%
4H19H (%) NS =) 44 9,100 82%
4H21H(H) L5 =) 44 10,100 80%
4H22H(X) NS =3 44 9,100 82%
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4H24H(K) NS =) 44 10,100 80%
S5H7B(K) INZ; = 44 10,100 80%
S5H8H(K) NS =) 44 9,100 82%
S5H9H(E) L5 = 44 9,100 82%
5H11H(H) NS =) 44 11,100 78%
5H12H(H) L5 = 44 9,100 82%
S5H13B(X) N =y 44 9,100 82%
S5H14H(K) INZ; = 44 10,100 80%
5H15H(XK) L5 =) 44 9,100 82%
5H16H(E) INZ; = 44 10,100 80%
5H17H(L) NS =) 44 10,100 80%
5H18H(H) L5 = 44 11,100 78%
5H20H(X) L5 =) 44 9,100 82%
S5H21H(K) /NS = 44 9,100 82%
S5H22H(XK) L5 =) 44 9,100 82%
5H25H(H) /NS = 44 9,100 82%
5H26H(H) INZ] =) 44 9,100 82%
S5H27H(X) /NS = 44 9,100 82%
5H28H(K) L5 =) 44 9,100 82%
5H29H(XK) /NS = 44 8,100 84%
5H30H(s&) INZ] =) 44 10,100 80%
S5H31H(L) /NS = 44 9,100 82%
681H(H) L5 =) 44 11,100 78%
6H2H(AH) /NS = 44 9,100 82%
6H3H(X) L5 =) 44 8,100 84%
6H48(0K) /NS = 44 8,600 83%
6H5H(K) NS =) 44 9,100 82%
6H6H(E) L5 = 44 9,100 82%
6H7H(L) NS =) 44 8,100 84%
6H9H(A) /NS = 44 10,100 80%
6H10H(N) NS =) 44 8,600 83%
6H11H(K) /NS = 44 8,100 84%
6H12H(K) NS =) 44 8,100 84%
6H13H (&) /NS = 44 8,600 83%
6H14H(X) NS =) 44 9,100 82%
6H15H(H) /NS = 44 10,100 80%
68516H(H) NS =) 44 8,600 83%
6H17H(N) /NS = 44 8,100 84%
6H18H(K) NS =) 44 8,600 83%
6H19H(K) /NS =3 44 8,600 83%
6H20H (&) L5 =) 14 10,100 80%
6H21H(L) /NS =) 44 9,100 82%
6H24H(X) L5 (= 14 10,100 80%
6H25H(K) /NS =) 44 8,100 84%
6H26H(K) L5 (= 44 8,100 84%
6H27H (&) /NS =) 44 8,600 83%
6H28H (%) L5 =) 14 8,100 84%
6H30H(H) /NS =) 44 9,100 82%
7H1H(CX) L5 (= 44 8,600 84%
7H2B(K) NS =) 44 8,600 84%
7H3H(K) L5 (= 44 8,600 84%
7H4H (&) NS =) 44 8,600 84%
7H5H(X) L5 =) 44 8,600 84%
7H6H(H) NS =) 44 9,100 83%
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7H7H(H) NS =) 44 9,100 83%
7H8H(N) INZ; = 44 8,600 84%
7H9H(K) NS =) 44 8,600 84%
7H10H(XK) L5 = 44 8,600 84%
7H11H(E) NS =) 44 8,600 84%
7H12H (%) L5 = 44 8,600 84%
7H13H(H) NS =) 44 8,600 84%
7H14H(AH) INZ; = 44 10,100 81%
7H15H(N) L5 =) 44 8,600 84%
7H16H(K) INZ; = 44 8,600 84%
7H17H(XK) NS =) 44 8,600 84%
7H18H(E) L5 = 44 10,100 81%
7H19H(L) L5 =) 44 11,100 79%
7H20H(H) /NS = 44 10,100 81%
7H21H(H) L5 =) 44 11,100 79%
7H22H(N) /NS = 44 8,600 84%
7H23H(K) L5 =) 44 8,600 84%
7H24H(K) /NS = 44 8,600 84%
7H25H (&) L5 =) 44 10,100 81%
7H26H(L) /NS = 44 8,600 84%
7H27H(H) INZ] =) 44 9,100 83%
7H28H(H) /NS = 44 9,100 83%
7H29H(X) L5 =) 44 9,100 83%
7H30H(K) /NS = 44 8,600 84%
7H31H(K) L5 =) 44 8,600 84%
4AH1HN) =y ALIE 45 12,330 67%
4H2H(K) = ALIR 45 14,330 62%
4H3H(K) =3 ALIR 45 14,330 62%
4H4H (%) = ALIR 45 9,330 75%
4H5H(%) =3 ALIR 45 11,300 70%
4H6H(H) = ALIR 45 9,330 75%
4H7H(A) (=} AL 45 9,330 75%
4H8H(N) = ALIR 45 9,330 75%
4H9H(K) (=} AL 45 5,330 86%
4H10H(K) = ALIR 45 9,330 75%
48118 (&) (=} AL 45 9,330 75%
4H12H(X) =y ALIR 45 9,330 75%
4H13H(H) (=} AL 45 9,330 75%
4H514H(H) = ALIR 45 9,330 75%
4H15H(X) W=y ALIR 45 9,330 75%
4H16H(K) W=y ALIR 45 5,330 86%
4H17H(K) W=y ALIR 45 5,330 86%
4H18H (&) W=y ALIR 45 9,330 75%
4519H(X) W=y ALIR 45 9,330 75%
4H20H(H) W=y ALIR 45 9,330 75%
4521H(H) W=y ALIR 45 8,330 78%
4H22H(N) W=y ALIR 45 8,330 78%
4H23H(K) W=y ALIR 45 8,330 78%
4H24H(K) = ALIR 45 8,330 78%
S5H7B(K) =y ALIR 45 8,330 78%
S5H10H(L) = ALIR 45 5,330 86%
S5H12H(H) =y ALIR 45 7,330 80%
SH13H(X) = ALIR 45 5,330 86%
5H14H(K) =y ALIR 45 7,330 80%




IBEX4Hi

f55RE P #% —

EEER 5%
5H17H(L) =) ALIR 45 8,330 78%
5H18H(H) e ALMR 45 5,330 86%
5H19H(H) =) ALIR 45 5,330 86%
5H21H(K) e ALMR 45 7,330 80%
S5H22H(XK) =) ALIR 45 5,330 86%
S5H24H(%) e ALMR 45 8,330 78%
5H25H(H) =) ALIR 45 6,330 83%
5H27H(X) e ALMR 45 6,330 83%
5H28H(K) W=y ALIR 45 6,330 83%
6H1H(H) e ALMR 45 7,330 80%
6H2H(H) =) ALIR 45 7,330 80%
6H3H(X) e ALMR 45 5,330 86%
6H4H(K) =) ALIR 45 8,330 78%
6H8H(H) NS, ALIR 45 5,330 86%
6H9H(H) =) ALIR 45 7,330 80%
6H15H(H) NS ALIR 45 8,330 78%
6H16H(H) =) ALIR 45 5,330 86%
6H17H(X) NS, ALIR 45 5,330 86%
6H18H(K) =) ALIR 45 8,330 78%
6H19H(K) NS ALIR 45 5,330 86%
6H24H(X) =) ALIR 45 5,330 86%
6H25H(K) NS, ALIR 45 6,330 83%
6H27H(E) =) ALIR 45 5,330 86%
6M28H (1) fils ALI% 45 5,330 86%
6H29H(H) =) ALIR 45 5,330 86%
6A308 (A) s 1LI% 45 8,330 78%
7H1H(X) =) ALIR 45 7,330 81%
7B2B(K) s ALI% 45 7,330 81%
7H3H(R) =) ALIR 45 7,330 81%
7A6B(H) s ALI% 45 7,330 81%
7H7H(H) =) ALIR 45 7,330 81%
7A8E () s ALI% 45 7,330 81%
7H9H(K) =) ALIR 45 7,330 81%
7H10H(K) =) ALIR 45 7,330 81%
7H11H(®) =) ALIR 45 7,330 81%
7B1268 (%) filie ALI% 45 7,330 81%
7H13H(H) =) ALIR 45 7,330 81%
7B146(H) s ALI% 45 7,330 81%
7H158(X) =) ALIR 45 7,330 81%
7H16H(K) =) ALIR 45 7,330 81%
7H17H(K) =) ALIR 45 7,330 81%
7H20H(H) =) ALIR 45 7,330 81%
7H21H(H) =) ALIR 45 7,330 81%
7H22H(X) =) ALIR 45 7,330 81%
7H23H(K) =) ALIR 45 7,330 81%
7H24H(XK) =) ALIR 45 7,330 81%
7256 (%) filie LR 45 7,330 81%
7H27H(H) =) ALIR 45 7,330 81%
7H29H(CN) =) ALIR 45 7,330 81%
7H30H(K) =) ALIR 45 7,330 81%
7H31H(K) =) ALIR 45 7,330 81%
2A18(X) ALIR e 46 14,330 62%
4H2H(K) ALIR =) 46 14,330 62%
4H3H(K) ALIR =) 46 14,330 62%
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4848 (&) ALTR U= 46 11,330 70%
485H (1) LR U= 46 11,330 70%
4H6H(H) ALTR = 46 9,330 75%
4H7H(8) ALIR U= 46 11,330 70%
48B8H(N) ALTR U= 46 9,330 75%
4B9H () ALIR e 46 9,330 75%
4H10H(K) ALTR U= 46 11,330 70%
4811H(E) LR U= 46 9,330 75%
48312H(*L) ALTR = 46 11,330 70%
4H14H(A8) LR U= 46 6,330 83%
48158 (XN) ALTR = 46 11,330 70%
48316H(K) ALIR U= 46 9,330 75%
4817H(K) ALTR U= 46 9,330 75%
48 18H(2) ALIR e 46 11,330 70%
48319H(*L) ALTR = 46 9,330 75%
482068(B) AL e 46 11,330 70%
4H21H(H) ALTR = 46 9,330 75%
48228(X) AL e 46 9,330 75%
48 23H(K) ALTR = 46 6,330 83%
483248 (K) ALIR U= 46 6,330 83%
5H780K) ALTR = 46 6,330 83%
5H10H(%) AL U= 46 7,330 80%
5H11H(H) ALTR = 46 8,330 78%
5A138 () AL e 46 5,330 86%
5H14H(K) ALTR = 46 8,330 78%
5H15H(XK) AL U= 46 6,330 83%
5H19H(A) ALTR = 46 7,330 80%
5H20H(N) AL = 46 8,330 78%
5H21H(K) AL = 46 5,330 86%
5H22H(K) AL = 46 5,330 86%
5H25H(H) ALTR = 46 7,330 80%
5H26H(A) AL = 46 5,330 86%
S5H27H(N) AL = 46 6,330 83%
5H28H(K) AL = 46 5,330 86%
5H29H(X) ALTR = 46 5,330 86%
5H30H (&) AL = 46 6,330 83%
6H1H(H) ALTR = 46 6,330 83%
6H4H(K) AL = 46 6,330 83%
6H5H(A) ALTR = 46 7,330 80%
6H7H (L) ALTR =} 46 7,330 80%
6H8H(H) AL = 46 7,330 80%
6H9H(A) ALTR =} 46 7,330 80%
683 10H(N) AL =y 46 5,330 86%
6H11H(K) ALTR =} 46 8,330 78%
6H12H(K) AL = 46 5,330 86%
6H13H (&) ALTR =} 46 6,330 83%
6H14H(*L) AL = 46 7,330 80%
6H15H(H) ALTR =} 46 8,330 78%
6H16H(H) ALTR = 46 8,330 78%
6H178(N) AL =} 46 6,330 83%
68 18H(K) ALTR = 46 5,330 86%
6H19H(K) AL =} 46 7,330 80%
6821H(L) AL = 46 7,330 80%
6H22H(H) ALTR = 46 5,330 86%
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6H23H(H) ALIR =) 46 7,330 80%
6H24H(X) ALIR e 46 7,330 80%
6H25H(K) ALIR =) 46 6,330 83%
6H26H(K) ALIR e 46 7,330 80%
6H27H(E) ALIR =) 46 6,330 83%
6H28H (%) ALIR e 46 8,330 78%
6H29H(H) ALIR =) 46 6,330 83%
6H30H(H) AL e 46 5,330 86%
7H1HN) ALIR =) 46 7,330 81%
7B2B (k) ALI% e 26 7,330 81%
7H3H(K) ALIR =) 46 7,330 81%
7HAH(E) ALIR e 46 7,330 81%
7H6H(H) ALIR =) 46 7,330 81%
7B768(7) LR filie 46 7,330 81%
7H8H(X) ALIR e 46 7,330 81%
7A9E (k) LR filie 46 7,330 81%
7H10H(R) ALIR e 46 7,330 81%
7H11H(E) ALIR =) 46 7,330 81%
7H12H(L) ALIR e 46 7,330 81%
7B136(H) LR filie 46 7,330 81%
7H14H(H) ALIR e 46 7,330 81%
7B158 () LR filie 46 7,330 81%
7H16H(K) ALIR e 46 7,330 81%
7H17H(K) ALIR =) 46 7,330 81%
7H20H(H) ALIR e 46 7,330 81%
7H228 () LR e 46 7,330 81%
7H23H(K) ALIR file 46 7,330 81%
7H24H(XK) ALIR = 46 7,330 81%
7H25H(®) ALIR file 46 7,330 81%
78268 (1) iLIE e 26 7,330 81%
7H27H(H) ALIR file 46 7,330 81%
7H28H(H) ALIR = 46 7,330 81%
7H29H(X) ALIR file 46 7,330 81%
7H30H(K) ALIR = 46 7,330 81%
7H31H(K) ALIR file 46 7,330 81%
2A18(X) s ALI% 47 14,330 62%
4H2H(K) =) ALIR 47 14,330 62%
4H3H(K) =) ALIR 47 14,330 62%
4H48H(%&) =) ALIR 47 11,330 70%
4856 (1) filie iLIE 47 11,330 70%
2A6E(H) filie LR 47 11,330 70%
2A78(8) e iLI% 47 11,330 70%
4H8H(N) =) ALIR 47 11,330 70%
4H9H(7K) =) ALIR 47 6,330 83%
4H10H(K) =) ALIR 47 6,330 83%
2B 116 (%) filie iLI% 47 11,330 70%
4H12H(X) =) ALIR 47 11,330 70%
28136 (H) s iLIE 47 11,330 70%
4H14H(H) =) ALIR 47 11,330 70%
4H15H(N) =) ALIR 47 9,330 75%
4H16H(0K) =) ALIR 47 9,330 75%
4H17H(K) =) ALIR 47 9,330 75%
4H18H(&) e ALIR 47 9,330 75%
4H19H(X) =) ALIR 47 11,330 70%
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4H20H(H) W=y ALIR 47 11,330 70%
4821H(A) =y ALIR 47 11,330 70%
4H22H(X) (= ALIR 47 9,330 75%
4H23H(K) NS, ALIR 47 9,330 75%
4H24H(K) (= ALIR 47 9,330 75%
S5H7B(K) NS, ALIR 47 8,330 78%
S5H8H(RK) (= ALIR 47 7,330 80%
589H (&) NS, ALIR 47 8,330 78%
S5H10H(L) W=y ALIR 47 5,330 86%
S5H11H(H) =y ALIR 47 7,330 80%
S5H12H(H) W=y ALIR 47 5,330 86%
S5H13H(AN) =y ALIR 47 7,330 80%
S5H14H(K) (= ALIR 47 7,330 80%
S5H16H() =3 ALIE 47 8,330 78%
5H19H(H) =y ALIR 47 6,330 83%
S5H20H(N) =y ALIE 47 5,330 86%
5H21H(K) (= ALIR 47 6,330 83%
5H22H(XK) =y ALIE 47 6,330 83%
5H23H(5&) =y ALIR 47 5,330 86%
S5H24H(%) = ALIE 47 6,330 83%
S5H27H(X) (= ALIR 47 6,330 83%
5H28H(K) =y ALIE 47 6,330 83%
S5H29H(XK) (= ALIR 47 5,330 86%
S5H30H () = ALIE 47 8,330 78%
S5H31H(%) =y ALIR 47 8,330 78%
6H48(0K) =y ALIE 47 7,330 80%
6H5H(K) (= ALIR 47 5,330 86%
6H7H(L) =3 ALIR 47 5,330 86%
6H10H(N) = ALIR 47 7,330 80%
6H11H(K) =3 ALIR 47 5,330 86%
6H12H(K) = ALIR 47 7,330 80%
6H14H(X) =3 ALIR 47 8,330 78%
65 15H(H) = ALIR 47 7,330 80%
6H16H(H) =3 ALIR 47 6,330 83%
6H17H(N) = ALIR 47 8,330 78%
6H18H(K) =3 ALIR 47 5,330 86%
6H19H(K) =y ALIR 47 7,330 80%
6H21H (%) =3 ALIR 47 8,330 78%
68522H(H) = ALIR 47 8,330 78%
6H23H(H) W=y ALIR 47 7,330 80%
6H24H(X) W=y ALIR 47 5,330 86%
6H25H(K) W=y ALIR 47 6,330 83%
6H26H(K) W=y ALIR 47 5,330 86%
6H28H (%) W=y ALIR 47 6,330 83%
68529H(H) W=y ALIR 47 7,330 80%
6H30H(H) W=y ALIR 47 6,330 83%
7H1H(CX) W=y ALIR 47 7,330 81%
7H2B(K) W=y ALIR 47 7,330 81%
7H3H(K) = ALIR 47 7,330 81%
7H6H(H) =y ALIR 47 7,330 81%
7H7H(H) = ALIR 47 7,330 81%
7H8H(X) =y ALIR 47 7,330 81%
7H9H(K) = ALIR 47 7,330 81%
7H10H(XK) =y ALIR 47 7,330 81%
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7H11H(E) =) ALIR 47 7,330 81%
7H12H(L) e ALMR 47 7,330 81%
7H13H(H) =) ALIR 47 7,330 81%
7H14H(H) e ALMR 47 7,330 81%
7H15HX) =) ALIR 47 7,330 81%
7H16H(K) e ALMR 47 7,330 81%
7H17H(K) =) ALIR 47 7,330 81%
7H22H(X) e ALMR 47 7,330 81%
7H23H(K) W=y ALIR 47 7,330 81%
7H24H(K) e ALMR 47 7,330 81%
7H25H(®) =) ALIR 47 7,330 81%
7H26H(L) e ALMR 47 7,330 81%
7H27H(H) =) ALIR 47 7,330 81%
7286 (H) e ALI% 47 7,330 81%
7H29H(X) =) ALIR 47 7,330 81%
7H3080K) e ALI% 47 7,330 81%
7H31H(RK) =) ALIR 47 7,330 81%
4B 18 (N ALIE e 48 14,330 62%
4H2H(K) ALIR e 48 14,330 62%
4H3H(K) ALIR = 48 14,330 62%
4H4H(%&) ALIR e 48 11,330 70%
4856 (1) ALI% e 48 11,330 70%
4H6H(H) ALIR e 48 11,330 70%
2876(8) LR e 48 9,330 75%
4H8H(N) ALIR e 48 5,330 86%
4A9E(K) LR e 48 5,330 86%
4H10H(K) ALIR =) 48 9,330 75%
2B 116 (%) iLIE filie 48 9,330 75%
4H12H(X) ALIR file 48 11,330 70%
4H13H(H) ALIR = 48 9,330 75%
4H14H(H) ALIR =) 48 6,330 83%
4H15H(N) ALIR = 48 6,330 83%
4H16H(0K) ALIR =) 48 6,330 83%
4H17H(K) ALIR = 48 6,330 83%
4H18H(&) ALIR file 48 6,330 83%
48198 (1) iLIE filie 48 9,330 75%
4H20H(H) ALIR file 48 9,330 75%
4H21H(H) ALIR = 48 9,330 75%
4H22H(N) ALIR =) 48 9,330 75%
4H23H(K) ALIR =) 48 9,330 75%
4H24H(K) ALIR =) 48 9,330 75%
S5H8H(K) ALIR =) 48 8,330 78%
S5H9H(&) ALIR =) 48 6,330 83%
5H11H(H) ALIR =) 48 8,330 78%
S5H13H(CN) ALIR =) 48 7,330 80%
5H14H(K) ALIR =) 48 5,330 86%
5H20H(CN) ALIR =) 48 5,330 86%
5H21H(K) ALIR =) 48 7,330 80%
5H22H(K) ALIR = 48 8,330 78%
S5H23H(s%) ALIR =) 48 8,330 78%
5H24H(%) ALIR =) 48 8,330 78%
S5H27H(X) ALIR =) 48 6,330 83%
5H28H(K) ALIR =) 48 5,330 86%
5H29H(XK) ALIR =) 48 5,330 86%
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5H31H(L) ALIR =) 48 7,330 80%
682H(H) ALIR e 48 5,330 86%
6H3H(XN) ALIR =) 48 5,330 86%
6H4H(K) ALIR e 48 7,330 80%
6H5H(K) ALIR =) 48 8,330 78%
6H6H (&) ALIR e 48 6,330 83%
6H7H(X) ALIR =) 48 6,330 83%
6H8H(H) AL e 48 7,330 80%
6H10H(N) ALIR =) 48 5,330 86%
6H11H(K) ALIR e 48 7,330 80%
6H12H(K) ALIR =) 48 5,330 86%
6H13H(&) ALIR e 48 8,330 78%
6H14H(L) ALIR =) 48 8,330 78%
6H15H(H) ALIR =) 48 8,330 78%
6H16H(H) ALIR e 48 8,330 78%
6H17H(X) ALIR =) 48 7,330 80%
6H18H(K) ALIR e 48 5,330 86%
6H19H(K) ALIR =) 48 6,330 83%
6H20H (&) ALIR e 48 5,330 86%
6H21H(%) ALIR =) 48 5,330 86%
6H23H(H) ALIR e 48 8,330 78%
6H24H(X) ALIR =) 48 5,330 86%
6H25H(K) ALIR e 48 7,330 80%
6H27H(E) ALIR =) 48 6,330 83%
6H29H(H) ALIR e 48 8,330 78%
6H30H(H) ALIR =) 48 7,330 80%
7H1H(X) ALIR file 48 7,330 81%
7H2H(K) ALIR = 48 7,330 81%
7H3H(R) ALIR file 48 7,330 81%
7H4E (%) iLIE e 48 7,330 81%
7H5H(L) ALIR file 48 7,330 81%
7B78(7) ALIR e 48 7,330 81%
7H8H(X) ALIR file 48 7,330 81%
7H9H(K) ALIR = 48 7,330 81%
7H10H(K) ALIR file 48 7,330 81%
7B118 (%) iLIE e 48 7,330 81%
7H12H(L) ALIR file 48 7,330 81%
7H13H(H) ALIR = 48 7,330 81%
7H14H(H) ALIR file 48 7,330 81%
7B158 () ALIR e 48 7,330 81%
7H16H(K) ALIR =) 48 7,330 81%
7B178 () ALIR e 48 7,330 81%
7H18H(&) ALIR =) 48 7,330 81%
7H22H(X) ALIR =) 48 7,330 81%
7H23H(K) ALIR =) 48 7,330 81%
7H24H(XK) ALIR =) 48 7,330 81%
7256 (%) ALI% e 48 7,330 81%
7H26H(L) ALIR =) 48 7,330 81%
7H27H(H) ALIR =) 48 7,330 81%
7H28H(H) ALIR =) 48 8,330 79%
7H29H(CN) ALIR = 48 8,330 79%
7H30H(K) ALIR =) 48 7,330 81%
7H31H(CK) ALIR =) 48 7,330 81%
4H1H(CKX) =) ALIR 49 14,330 62%
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4H2H(K) (= ALIR 49 14,330 62%
4H3H(K) =y ALIR 49 14,330 62%
4H4H (&) W=y ALIR 49 6,330 83%
4H5H(%) NS, ALIR 49 9,330 75%
4H6H(H) W=y ALIR 49 11,330 70%
487H(RH) =y ALIR 49 11,330 70%
4H8H(X) (= ALIR 49 11,330 70%
4H9H(K) NS, ALIR 49 6,330 83%
4H10H(K) (= ALIR 49 9,330 75%
4H11H (&) =y ALIR 49 9,330 75%
4H12H(X) W=y ALIR 49 9,330 75%
4513H(H) =y ALIR 49 9,330 75%
4H14H(H) W= ALIR 49 9,330 75%
4H158(X) =3 ALIE 49 6,330 83%
4H16H(K) (= ALIR 49 9,330 75%
4H17H(K) =y ALIE 49 9,330 75%
4H18H(E) =y ALIR 49 9,330 75%
4H19H (%) =y ALIE 49 11,330 70%
4520H(H) =y ALIR 49 11,330 70%
4521H(H) = ALIE 49 5,330 86%
4H22H(N) (= ALIR 49 5,330 86%
4H23H(K) =y ALIE 49 9,330 75%
4H24H(K) (= ALIR 49 5,330 86%
S5H7B(K) = ALIE 49 7,330 80%
S5H8H(R) (= ALIR 49 6,330 83%
S5H11H(H) =y ALIE 49 6,330 83%
5H12H(H) (= ALIR 49 7,330 80%
S5H13H(XN) =3 ALIR 49 6,330 83%
5H14H(K) (= ALIR 49 5,330 86%
5H15H(XK) =3 ALIR 49 7,330 80%
S5H17H(%) = ALIR 49 7,330 80%
S5H19H(A) =3 ALIR 49 7,330 80%
S5H20H(X) = ALIR 49 5,330 86%
S5H21H(K) =3 ALIR 49 8,330 78%
S5H22H(XK) = ALIR 49 5,330 86%
5H23H(5) =3 ALIR 49 6,330 83%
S5H24H(%) =y ALIR 49 7,330 80%
5H27H(X) =3 ALIR 49 6,330 83%
S5H28H(K) (= ALIR 49 5,330 86%
5H29H(XK) W=y ALIR 49 5,330 86%
5H30H(s&) W=y ALIR 49 7,330 80%
S5H31H(%) W=y ALIR 49 6,330 83%
6H2H(H) W=y ALIR 49 6,330 83%
6H3B(X) W=y ALIR 49 5,330 86%
6H4H(K) W=y ALIR 49 5,330 86%
6H5H(K) W=y ALIR 49 7,330 80%
688H(H) W=y ALIR 49 8,330 78%
6H9H(H) W=y ALIR 49 6,330 83%
6H10H(N) = ALIR 49 5,330 86%
6H11H(K) =y ALIR 49 5,330 86%
6H12H(K) = ALIR 49 8,330 78%
6H14H(X) =y ALIR 49 6,330 83%
6H16H(H) = ALIR 49 5,330 86%
6H17H(XN) =y ALIR 49 5,330 86%
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6H18H(K) W=y ALIR 49 8,330 78%
6H19H(K) e ALMR 49 5,330 86%
6H20H (%) =) ALIR 49 6,330 83%
6H21H(X) e ALMR 49 5,330 86%
6H23H(H) =) ALIR 49 5,330 86%
6H24H(X) e ALMR 49 7,330 80%
6H25H(K) =) ALIR 49 5,330 86%
6H26H(K) e ALMR 49 7,330 80%
6H28H (L) =) ALIR 49 7,330 80%
6H30H(H) e ALMR 49 5,330 86%
7H1HN) =) ALIR 49 7,330 81%
7B2B(K) fils ALIE 49 7,330 81%
7H3H(K) =) ALIR 49 7,330 81%
7H4E (%) fils ALI% 49 7,330 81%
7H5H(L) =) ALIR 49 7,330 81%
7H6E(H) e ALI% 49 7,330 81%
7H7H(H) =) ALIR 49 7,330 81%
7A8E () e ALI% 49 7,330 81%
7H9H(K) =) ALIR 49 7,330 81%
7H10H(K) NS ALIR 49 7,330 81%
7H11H(E) =) ALIR 49 7,330 81%
7B1268 (%) fils ALI% 49 7,330 81%
7H13H(H) =) ALIR 49 7,330 81%
7H14H(H) NS ALIR 49 7,330 81%
7H158(X) =) ALIR 49 7,330 81%
7B16E0K) s 1LI% 49 7,330 81%
7H17H(RK) =) ALIR 49 7,330 81%
7H228(K) s ALI% 49 7,330 81%
7H23H(K) =) ALIR 49 7,330 81%
7H24H(XK) =) ALIR 49 7,330 81%
7H25H(&®) =) ALIR 49 7,330 81%
7268 (+) filie ALI% 49 7,330 81%
7H27H(H) =) ALIR 49 7,330 81%
7H286(H) s ALI% 49 7,330 81%
7H29H(X) =) ALIR 49 7,330 81%
7H 308 0K) s ALI% 49 7,330 81%
7H31H(K) =) ALIR 49 7,330 81%
4H1H(CKX) ALIR = 50 14,330 62%
4H2H(K) ALIR =) 50 14,330 62%
4H3H(K) ALIR =) 50 14,330 62%
4H4E(2) ALI% e 50 11,330 70%
4H5H(X) ALIR =) 50 9,330 75%
4H6H(H) ALIR =) 50 11,330 70%
2A78(8) ALIR e 50 9,330 75%
4H8H(N) ALIR =) 50 9,330 75%
4H9H(7K) ALIR =) 50 9,330 75%
4H10H(K) ALIR =) 50 6,330 83%
4H11H(E) ALIR =) 50 11,330 70%
4H12H(X) ALIR = 50 11,330 70%
4H13H(H) ALIR =) 50 9,330 75%
4H14H(H) ALIR = 50 9,330 75%
48158 () iLIR e 50 9,330 75%
4H16H0K) ALIR =) 50 9,330 75%
4B 178 (k) ALIE & 50 9,330 75%
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4H18H(&) ALIR =) 50 11,330 70%
4B 198 (1) ALI% il 50 9,330 75%
4H20H(H) ALIR =) 50 11,330 70%
4H21H(H) ALIR e 50 9,330 75%
4H22H(N) ALIR =) 50 9,330 75%
4H23H(0K) ALIR e 50 9,330 75%
4H24H(K) ALIR =) 50 9,330 75%
S5H7H(K) AL e 50 8,330 78%
S5H8H(XK) ALIR =) 50 5,330 86%
S5H9H(&) ALIR e 50 8,330 78%
S5H10H(L) ALIR =) 50 8,330 78%
5H11H(H) ALIR e 50 8,330 78%
SH13HX) ALIR =) 50 6,330 83%
SH 146 (K) LR filie 50 5,330 86%
5H15H(RK) ALIR =) 50 5,330 86%
5H19H(H) ALIR =) 50 8,330 78%
5H20H(X) ALIR =) 50 6,330 83%
5H21H(K) ALIR =) 50 7,330 80%
5H24H(L) ALIR e 50 5,330 86%
5H25H(H) ALIR =) 50 7,330 80%
5H26H(H) ALIR e 50 6,330 83%
5H27H(X) ALIR =) 50 6,330 83%
5H28H(K) ALIR =) 50 7,330 80%
S5H29H(XK) ALIR =) 50 7,330 80%
S5H31H(L) ALIR e 50 8,330 78%
6H1H(H) ALIR =) 50 7,330 80%
6H3H(N) ALIR =) 50 5,330 86%
6H4H(K) ALIR = 50 7,330 80%
6H5H(K) ALIR =) 50 7,330 80%
6H6E(2) iLIE e 50 8,330 78%
6H7H(X) ALIR =) 50 7,330 80%
6H9H(H) ALIR = 50 7,330 80%
6H10H(X) ALIR =) 50 5,330 86%
6H11H(K) ALIR = 50 5,330 86%
6H12H(K) ALIR =) 50 5,330 86%
6A 146 (1) iLIE e 50 7,330 80%
6H16H(H) ALIR =) 50 7,330 80%
6H17H(N) ALIR = 50 8,330 78%
6H20H (&) ALIR =) 50 7,330 80%
6H21H(L) ALIR =) 50 6,330 83%
6H23H(H) ALIR =) 50 6,330 83%
6H24H(N) ALIR =) 50 8,330 78%
6H26H(K) ALIR =) 50 7,330 80%
6H27H (&) ALIR =) 50 6,330 83%
6H28H(L) ALIR =) 50 7,330 80%
6H29H(H) ALIR =) 50 7,330 80%
6H30H(H) ALIR =) 50 7,330 80%
ZZIEI00) ALIR e 50 7,330 81%
7H2H(K) ALIR = 50 7,330 81%
7838 (R) iLIR e 50 7,330 81%
7HA4H(E) ALIR = 50 7,330 81%
758 (1) iLIE e 50 7,330 81%
7H8H(XN) ALIR =) 50 7,330 81%
7A9E (k) ALIE & 50 7,330 81%
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7H10H(XK) AL e 50 7,330 81%
7H11HGE) ALIR = 50 7,330 81%
7H12H(L) ALIR e 50 7,330 81%
7H13H(H) ALIR = 50 7,330 81%
7H14H(H) ALIR e 50 7,330 81%
7H15H(N) ALIR = 50 7,330 81%
7H16H(K) AL e 50 7,330 81%
7H17H(K) ALIR = 50 7,330 81%
7H18H(5&) ALIR e 50 7,330 81%
7H19H(%) ALIR = 50 7,330 81%
7H23H(K) AL e 50 7,330 81%
7H24H(K) ALIR = 50 7,330 81%
7H25H(5&) ALIR e 50 7,330 81%
7H26H(L) ALIR il= 50 7,330 81%
7H29H(X) AL =) 50 7,330 81%
7H30H(K) ALIE il= 50 7,330 81%
4H1H(CX) AN =) 51 11,360 72%
4H2H(K) AN il= 51 9,360 77%
4H3H(K) AN =) 51 11,360 72%
4H5H(%) AN il= 51 9,360 77%
487H(H) AN =) 51 9,360 77%
4H8H(N) AN il= 51 11,360 72%
4H10H(K) AN =) 51 9,360 77%
4H12H(X) AN il= 51 10,360 75%
4H15H(CN) AN =) 51 9,360 77%
4H16H(K) AN = 51 9,360 77%
4H17H(K) ABR =) 51 11,360 72%
4521H(H) AN =3 51 6,860 83%
4H22H(N) ABR =) 51 11,360 72%
4H23H(K) AN =3 51 7,360 82%
4H24H(K) ABR =) 51 7,360 82%
S5H8H(R) AN =3 51 8,360 80%
S5H10H(L) ABR =) 51 8,000 80%
S5H11H(H) AN =3 51 8,000 80%
5H12H(H) ABR =) 51 9,360 77%
S5H13H(XN) AN =3 51 8,000 80%
5H14H(K) ABR =y 51 6,860 83%
5H15H(XK) AN =3 51 9,360 77%
5H16H(5&) ABR =) 51 8,000 80%
5H17H(L) AN =3 51 8,000 80%
5H18H(H) ABR (= 51 9,360 77%
S5H19H(H) AN =3 51 9,360 77%
5H20B(X) ABR (= 51 8,360 80%
S5H21H(K) AN =3 51 8,360 80%
5H22H(K) ABR (= 51 8,000 80%
5H23H(5) AN =3 51 8,000 80%
S5H24H(%) ABR (= 51 6,860 83%
S5H25H(H) AN =3 51 8,360 80%
5H26H(H) ABR (= 51 8,000 80%
5H27H(X) AN =3 51 6,860 83%
5H28H(K) ABR (= 51 6,860 83%
5H29H(XK) AN =3 51 6,860 83%
5H30H(s&) AN e 51 6,860 83%
S5H31H(%) ABR =3 51 8,360 80%
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6H3H(N) ABR e 51 8,360 80%
6H48(0K) AN (=3 51 8,000 80%
6H5H(K) ABR e 51 6,860 83%
6H6H (%) AN (=3 51 8,360 80%
6H7H(XL) ABR e 51 9,360 77%
6H8H(H) AN (=3 51 9,360 77%
6H9H(H) ABR e 51 9,360 77%
6H10H(XN) AN (=3 51 6,860 83%
6H12H(K) ABR e 51 8,000 80%
6H13H(&) AN (=3 51 9,360 77%
6H14H(L) ABR e 51 8,000 80%
6H15H(H) AN (=3 51 8,000 80%
6H16H(H) ABR e 51 6,860 83%
6H17H(CN) AN il= 51 6,860 83%
6H18H(K) AN =) 51 6,860 83%
6H19H(K) AN il= 51 6,860 83%
6H20H (&) AN =) 51 8,000 80%
6H21H (%) AN il= 51 6,860 83%
6822H(H) AN =) 51 8,360 80%
6H23H(H) AN il= 51 8,360 80%
6H24H(N) AN =) 51 8,000 80%
6H25H(K) AN il= 51 6,860 83%
6H26H(K) AN =) 51 8,360 80%
6H27H (&) AN il= 51 9,360 77%
6H28H (%) AN =) 51 8,000 80%
6H29H(H) AN = 51 8,000 80%
6H30H(H) ABR =) 51 8,000 80%
7H1B(X) AN =3 51 6,860 84%
7H2H(K) ABR =) 51 6,860 84%
7H3B(K) AN =3 51 8,000 81%
7H48(E) ABR =) 51 9,360 78%
7H5H(L) AN =3 51 8,000 81%
7H6H(H) ABR =) 51 6,860 84%
7H8H(X) AN =3 51 6,860 84%
7H9H(K) ABR =) 51 8,360 80%
7H10H(XK) AN =3 51 6,860 84%
7H11H(&) ABR =y 51 9,360 78%
7H12H(L) AN =3 51 6,860 84%
7H13H(H) ABR =) 51 8,000 81%
7H14H(H) AN =3 51 8,000 81%
7H158(X) ABR (= 51 8,000 81%
7H16H(K) AN =3 51 6,860 84%
7H17H(K) ABR (= 51 6,860 84%
7H22H(X) AN =3 51 8,000 81%
7H23H(K) ABR (= 51 8,360 80%
7H24H(XK) AN =3 51 6,860 84%
7H25H (&) ABR (= 51 6,860 84%
7H26H(L) AN =3 51 6,860 84%
7H27H(H) ABR (= 51 8,000 81%
7H28H(H) AN =3 51 9,360 78%
7H29H(X) ABR (= 51 6,860 84%
7H30H(K) AN =3 51 6,860 84%
7H31H(K) AN e 51 8,000 81%
4H3H(XK) =y AP 52 11,360 72%
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486H(H
44§9E|(71<§ T
10H(K) e = -
4813H(H) T e : Eﬁﬁ i“
- . o = 10,360 251
4817H(K) = PN = L0 -
4822H(N) = o = - i
i - i = 9,360 72%
4824H(K) = o = : .
i - 5 = 10,360 83%
5H8H(K) = =B > - -
S5A9H (&) =; N 2 2560 -
5H118(8) = o = - -
5813H(N) = KPR = o -
. + o 22 6,860 83%
5818H(H) = KPR = st -
5H19H(A) = 2 > - -
o 2 5 22 8,000 80%
. - o - 8,000 80%
58228 (K) = = > - -
. - 5 = 6,860 77%
5H26H(8) s = > : -
. - o - 6,860 83%
5828H(K) = = > . -
. - = - 8,000 83%
- 2 5 25 6,860 80%
682H(8) = PN 2 T -
- 2 5 25 8,360 80%
. - o - 8,360 80%
6858 (K) = B 52 - -
. - = > 6,860 80%
- : . 22 8,000 83%
6859H(8) = KPR 2 st -
68108 (N) = = > - -
6811H(K) = KPR 2 s -
68128 (K) = = > - -
68 14H (1) = KPR 2 i -
6815H(8) = = > - -
6816H(8) = KPR 2 i -
68178 (N) = = > - -
68 18H (7K) = KPR 2 i -
68198 (K) = 2B > - -
6822H(H) = KPR 25 i -
6823H(8) = 2B > - -
6824H(N) = KPR 25 o -
- . 5 ~ 22 6,860 83%
6827H(2) = KPR 25 o -
- 5 ~ 22 6,860 80%
6830H(8) = KPR 25 o -
7E1B(N) = o > . -
7B2B0K) = KPR 2 st -
7H3H(X) = B > - -
i - % 22 6,860 80%
- 5 . 22 6,860 83%
s KR 2 s .
= 52 8,360 s0%
- a0 80%
8,000 507
81%
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7H6H((H) W=y AP 52 6,860 84%
7H7H(R) =y AN 52 6,860 84%
7H8H(X) W=y AP 52 6,860 84%
7H9BH(K) =y AN 52 6,860 84%
7H10H(XK) W=y AP 52 6,860 84%
7H11H(&) =y N 52 6,860 84%
7H12H(L) W=y AP 52 6,860 84%
7H13H(H) =y AN 52 6,860 84%
7H14H(H) W=y AP 52 8,000 81%
7H15H(N) =y AN 52 6,860 84%
7H16H(K) W=y AP 52 6,860 84%
7H17H(K) =y N 52 6,860 84%
7H22H(N) W= AP 52 6,860 84%
7H24H(K) =3 AN 52 6,860 84%
7H25H (&) =y AP 52 6,860 84%
7H26H(L) =y AN 52 6,860 84%
7H27H(H) =y AP 52 6,860 84%
7H28H(H) =y KB 52 6,860 84%
7H29H(X) =y AP 52 6,860 84%
7H30H(K) = AN 52 6,860 84%
7H31H(K) =y AP 52 6,860 84%
4AH1HN) AN il= 53 10,360 75%
4H3H(K) AN =) 53 11,360 72%
4H5H(%) AN il= 53 11,360 72%
487H(H) AN =) 53 9,360 77%
4H8H(N) AN = 53 10,360 75%
4H9H(K) AN =) 53 7,360 82%
4H17H(K) AN =3 53 11,360 72%
4H19H(X) ABR =) 53 7,360 82%
4520H(H) AN =3 53 10,360 75%
4821H(H) ABR =) 53 7,360 82%
4H23H(K) AN =3 53 7,360 82%
S5H7H(K) AN =) 53 8,000 80%
S5H8H(R) AN =3 53 8,360 80%
S5H9H(E) ABR =) 53 6,860 83%
5H10H(%) AN =3 53 6,860 83%
5H11H(H) ABR =y 53 8,360 80%
S5H12H(A) AN =3 53 8,000 80%
SH13H(X) ABR =) 53 6,860 83%
S5H14H(K) AN =3 53 8,000 80%
5H15H(K) ABR (= 53 8,360 80%
5H17H(L) AN =3 53 9,360 77%
5H20B(X) ABR (= 53 6,860 83%
S5H21H(K) AN =3 53 8,000 80%
5H22H(K) ABR (= 53 6,860 83%
5H23H(5) AN =3 53 8,000 80%
S5H24H(%) ABR (= 53 6,860 83%
S5H25H(H) AN =3 53 9,360 77%
5H26H(H) ABR (= 53 8,000 80%
5H27H(X) AN =3 53 8,000 80%
5H28H(K) ABR (= 53 6,860 83%
5H29H(XK) AN =3 53 8,000 80%
5H30H(s&) AN e 53 8,360 80%
S5H31H(%) ABR =3 53 6,860 83%
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6H3H(N) ABR e 53 8,360 80%
6H48(0K) AN (=3 53 6,860 83%
6H5H(K) ABR e 53 6,860 83%
6H6H (%) AN (=3 53 6,860 83%
6H7H(XL) ABR =) 53 6,860 83%
6H8H(H) AN (=3 53 9,360 77%
6H10H(N) ABR e 53 8,360 80%
6H11H(K) AN (=3 53 6,860 83%
6H12H(K) ABR e 53 6,860 83%
6H14H(X) AN (=3 53 9,360 77%
6H16H(H) ABR e 53 8,360 80%
6H17H(CXN) AN (=3 53 6,860 83%
6H18H(K) ABR e 53 6,860 83%
6H19H(K) AN il= 53 6,860 83%
6H20H (&) AN =) 53 6,860 83%
6H21H(X) AN il= 53 6,860 83%
6823H(H) AN =) 53 8,360 80%
6H248(XN) AN il= 53 6,860 83%
6H25H(K) ABR =) 53 6,860 83%
6H26H(K) AN il= 53 6,860 83%
6H27H(:&) AN =) 53 8,000 80%
6H28H (L) AN il= 53 9,360 77%
6H30H(H) AN =) 53 8,360 80%
7H2B(K) AN il= 53 8,360 80%
7H3H(K) AN =) 53 8,360 80%
7HA4B(E) AN = 53 8,000 81%
7H5H(X) ABR =) 53 6,860 84%
7H6H((H) AN =3 53 6,860 84%
7H7H(H) ABR =) 53 8,000 81%
7H8H(X) AN =3 53 6,860 84%
7H9H(K) AN =) 53 6,860 84%
7H10H(XK) AN =3 53 6,860 84%
7H11H(&) ABR =) 53 8,000 81%
7H12H(L) AN =3 53 6,860 84%
7H13H(H) ABR =) 53 6,860 84%
7H14H(H) AN =3 53 8,360 80%
7H15H(X) ABR =y 53 6,860 84%
7H16H(K) AN =3 53 6,860 84%
7H17H(K) ABR =) 53 6,860 84%
7H22H(X) AN =3 53 8,000 81%
7H23H(K) ABR (= 53 6,860 84%
7H24H(XK) AN =3 53 6,860 84%
7H25H (&) ABR (= 53 8,000 81%
7H26H(L) AN =3 53 6,860 84%
7H27H(H) ABR (= 53 8,000 81%
7H28H(H) AN =3 53 6,860 84%
7H29BH(X) ABR (= 53 6,860 84%
7H30H(K) AN =3 53 6,860 84%
7H31H(K) ABR (= 53 6,860 84%
4H1H(XN) =y KB 54 11,360 72%
4H2H(K) = N 54 10,360 75%
4H3H(K) =y KB 54 10,360 75%
4H4H (%) =y KB 54 10,360 75%
456H(H) =y AP 54 10,360 75%
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8H(N) T
489H (K) e = -
4810H(K) T T : = il
- . x = 9,360 5|
T - i = 7,360 77%
4817H(K) = o z - :
i - i = 10,360 77%
4819H(1) = o z : -
4821H(8) = KPR 2 360 -
48228 (N) = o z -~ :
e - i = 9,360 72%
4824H(K) = o z - :
i - i = 7,360 77%
5H9H(2) = = z : -
i - s = 10,360 83%
5H128(B) = 2 z - -
5H138(N) s = z - -
5814H(K) = N > st -
. 2 5 2 8,000 83%
5817H(1) = N > i -
5818H(H) = = z . -
5819H(8) = N > s -
5H20B8(N) s = z - -
5821H(K) = N > T -
= 2 5 2 8,360 80%
5823H(2) = PN > i -
5H248(1) = = z : -
5825H(H) = KPR > s -
5H26H(8) = = z - -
5827H(N) = KPR 2 KT -
5H28H(K) = = z - -
. - = > 8,360 80%
58308 () = = z : -
. - X = 8,000 83%
681H(H) = B z - -
682H(8) = KPR 2 5 -
6838 (X) = B z - -
. - = > 8,360 80%
6858 (K) = B z - -
656H(2) = KPR 2 i -
687H(1) = 2B z - -
o - X = 8,000 83%
- 5 ~ 22 6,860 80%
68 10H(N) = KPR 2 G -
e + A 2 6,860 77%
68 12H(K) = KPR 2 st -
- 5 ~ 22 8,000 80%
. - X = 8,000 80%
- 5 ~ 22 8,360 80%
L - X = 8,360 80%
68 18H(K) = B z - -
. - j(lyi > 6,860 77%
68208 (&) = B z - -
s KR > i -
= >4 6,860 530
- Lo 83%
6,860 53
83%
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6H21H(L) W=y AP 54 6,860 83%
6H22H(H) =y AN 54 9,360 77%
6H23H(H) W=y AP 54 6,860 83%
6H24H(XN) =y AN 54 6,860 83%
6H25H(K) W=y AP 54 6,860 83%
6H26H(K) =y N 54 6,860 83%
6H27H(E) W=y AP 54 6,860 83%
6H28H (%) =y AN 54 9,360 77%
7H1B(X) W=y AP 54 8,000 81%
7H2B(K) =y AN 54 6,860 84%
7H3B(K) W=y AP 54 8,000 81%
7H4H (&) =y N 54 6,860 84%
7H5H(X) W= AP 54 6,860 84%
7H6H(H) =3 AN 54 8,360 80%
7H7H(H) =y AP 54 6,860 84%
7H8H(XN) =y AN 54 6,860 84%
7H9H(K) =y AP 54 6,860 84%
7H10H(K) =y KB 54 6,860 84%
7H11H(&) =y AP 54 6,860 84%
7H12H(L) = AN 54 6,860 84%
7H13H(H) =y AP 54 9,360 78%
7H14H(H) =y KB 54 8,000 81%
7H15H(X) =y AP 54 6,860 84%
7H16H(K) = AN 54 8,000 81%
7H17H(K) =y AP 54 8,360 80%
7H22H(X) (U= N 54 6,860 84%
7H23H(K) = ABR 54 6,860 84%
7H24H(XK) =3 AP 54 6,860 84%
7H25H (&) = ABR 54 6,860 84%
7H26H (%) =3 AP 54 6,860 84%
7H27H(H) = ABR 54 8,000 81%
7H28H(AH) =3 AP 54 6,860 84%
7H29H(X) = ABR 54 6,860 84%
7H30H(K) =3 AP 54 6,860 84%
7H31H(K) = ABR 54 6,860 84%
45 1H(N) AN ] 55 11,000 62%
4H2H(K) ABR ] 55 10,050 65%
4H3H(K) AN &[] 55 10,050 65%
4H5H(XL) ABR fE 55 11,000 62%
456H(H) AN @] 55 11,000 62%
4H7H(H) ABR il 55 11,000 62%
4H8H(X) AN @] 55 10,050 65%
4H9H(7K) ABR il 55 10,050 65%
4H10H(K) AN @] 55 10,050 65%
4H11H(E) ABR il 55 10,050 65%
4H12H(X) AN @] 55 11,000 62%
4H13H(H) ABR il 55 11,000 62%
4514H(H) AN @] 55 11,000 62%
4H15H(N) ABR fE 55 10,050 65%
4H16H(K) AN &[] 55 10,050 65%
4H17H(K) ABR fE 55 10,050 65%
4H19H(L) AN &[] 55 11,000 62%
4H20H(H) AN fe ] 55 11,000 62%
4521H(H) ABR @] 55 10,050 65%
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4H22H(X) ABR @] 55 11,000 62%
4H23H(K) AN =lid 55 10,050 65%
4H24H(K) ABR @] 55 10,050 65%
S5H8H(RK) AN =lid 55 6,050 79%
S5H9H(E) ABR @] 55 7,550 74%
S5H10H(L) ABR e[ 55 7,550 74%
S5H11H(H) ABR @] 55 7,550 74%
S5H12H(A) AN fe ] 55 7,550 74%
S5H13H(XN) ABR @] 55 6,050 79%
5H14H(K) AN =lid 55 7,550 74%
5H15H(XK) ABR @] 55 8,550 70%
5H16H(&) ABR =lid 55 8,550 70%
5H17H(L) ABR @] 55 7,550 74%
S5H18H(H) AN e ] 55 8,550 70%
5H19H(H) AN il 55 7,550 74%
S5H20H(N) AN fa ] 55 7,050 76%
5H21H(K) AN @] 55 6,050 79%
5H22H(XK) AN e ] 55 6,050 79%
5H23H(5&) AN @] 55 7,050 76%
S5H24H(%) AN e ] 55 7,550 74%
5H25H(H) AN il 55 7,550 74%
S5H26H(H) AN e ] 55 7,050 76%
S5H27H(X) AN @] 55 6,050 79%
S5H28H(K) AN e ] 55 7,050 76%
5H29H(XK) AN @] 55 6,050 79%
S5H30H () AN e ] 55 7,050 76%
S5H31H(%) ABR fE 55 7,550 74%
6H1H(H) AN ] 55 7,550 74%
682H(A) ABR ] 55 7,050 76%
6H3B(X) AN &[] 55 6,050 79%
6H4H(K) ABR ] 55 7,050 76%
6H5H(K) AN ] 55 6,050 79%
6H6H(E) ABR ] 55 7,050 76%
6H7H(L) AN &l 55 7,550 74%
688H(H) ABR fE 55 7,550 74%
6H9H(A) AN ] 55 7,050 76%
6H10H(N) ABR ] 55 7,050 76%
6H11H(K) AN &l 55 7,050 76%
6H12H(K) ABR ] 55 6,050 79%
6H13H(E) AN &l 55 7,050 76%
6H14H(X) ABR il 55 7,550 74%
6H15H(H) AN @] 55 7,550 74%
6H16H(H) ABR il 55 7,050 76%
6H17H(N) AN @] 55 6,050 79%
6H18H(K) ABR il 55 6,050 79%
6H19H(K) AN @] 55 7,050 76%
6H20H (&) ABR il 55 7,050 76%
6H21H(L) AN &l 55 8,550 70%
68522H(H) ABR fE 55 7,550 74%
6H23H(H) AN &[] 55 7,050 76%
6H24H(X) ABR fE 55 6,050 79%
6H25H(K) AN &l 55 6,050 79%
6H26H(K) AN fe ] 55 6,050 79%
6H27H(E) ABR @] 55 7,050 76%
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6H28H(L) ABR @] 55 7,550 74%
6H29H(H) AN =lid 55 7,550 74%
6H30H(H) ABR @] 55 7,050 76%
7H1B(CX) AN =lid 55 6,050 80%
7H2B(K) ABR @] 55 6,050 80%
7H3B(K) AN e[ 55 6,050 80%
7H4B(E) ABR @] 55 7,550 75%
7H5H(X) ABR fe ] 55 7,550 75%
7H6H((H) ABR @] 55 7,550 75%
7H7H(R) AN =lid 55 7,550 75%
7H8H(X) ABR @] 55 6,050 80%
7H9BH(K) AN =lid 55 6,050 80%
7H10H(XK) ABR @] 55 6,050 80%
7H11H(E) AN e ] 55 7,550 75%
7H12H(L) AN @] 55 7,550 75%
7H13H(H) AN fa ] 55 7,550 75%
7H14H(H) AN @] 55 7,550 75%
7H15H(X) AN &l 55 6,050 80%
7H16H(K) AN @] 55 6,050 80%
7H17H(K) AN &l 55 6,050 80%
4H1H(CX) &l AP 56 10,500 64%
4H2H(K) &l KB 56 9,550 67%
4H3H(K) &l AP 56 10,500 64%
4548 (&) &l AN 56 10,500 64%
4H5H(XL) &l AP 56 10,500 64%
456H((H) &l KB 56 10,500 64%
487H(H) &l ABR 56 10,500 64%
4H8H(XN) &l AP 56 9,550 67%
4H9H(7K) &l ABR 56 10,500 64%
4H10H(K) &l AP 56 9,550 67%
4H11H(ER) &l ABR 56 9,550 67%
4513H(H) &l AP 56 10,500 64%
4H514H(H) &l ABR 56 10,500 64%
45 15H(X) &l AP 56 9,550 67%
4H16H(K) & ABR 56 9,550 67%
4H17H(K) &l AP 56 9,550 67%
4H18H (&) &l ABR 56 10,500 64%
4H19H (%) &l AP 56 10,500 64%
4520H(H) &l ABR 56 9,550 67%
4H21H(H) &l AP 56 10,500 64%
4H22H(N) &l N 56 10,500 64%
4H23H(K) &l AP 56 10,500 64%
4H24H(K) &l N 56 10,500 64%
S5H8H(K) &l AP 56 6,050 79%
S5H9H(E) &l ABR 56 7,050 76%
5H10H(L) &l AP 56 8,050 72%
5H11H(H) &l ABR 56 7,050 76%
5H12H(H) &l AP 56 7,050 76%
S5H13H(X) &l N 56 8,050 72%
S5H14H(K) &l KB 56 6,050 79%
5H15H(K) &l N 56 7,050 76%
S5H16H(%) &l KB 56 8,050 72%
S5H17H(L) &l KB 56 8,050 72%
S5H18H(H) &l AP 56 7,050 76%
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S5H19H(H) &l AP 56 7,050 76%
S5H20H(N) &l AN 56 6,050 79%
S5H21H(K) f& ] AP 56 6,050 79%
5H22H(XK) &l AN 56 7,050 76%
5H23H(5&) &l AP 56 7,050 76%
S5H24H(%) &l N 56 7,050 76%
S5H25H(H) &l AP 56 8,050 72%
S5H26H(AH) &l AN 56 7,050 76%
5H27H(X) f& ] AP 56 6,050 79%
S5H28H(K) &l AN 56 7,050 76%
5H29H(XK) f& ] AP 56 6,050 79%
5H30H(&) &l N 56 7,050 76%
S5H31H(%) &l AP 56 7,050 76%
6H1H(H) &l AN 56 7,050 76%
682H(A) &l AP 56 7,050 76%
6H3B(XN) G=lid ABR 56 6,050 79%
6H4H(K) & ] AP 56 6,050 79%
6H5H(K) &l KB 56 6,050 79%
6H6H(E) &l AP 56 7,050 76%
6H7H(L) &l AN 56 7,050 76%
688H(H) &l AP 56 7,050 76%
6H9H(H) &l KB 56 7,050 76%
6H10H(N) & ] AP 56 6,050 79%
6H11H(K) &l AN 56 6,050 79%
6H12H(K) & ] AP 56 7,050 76%
6H13H (&) &l KB 56 7,050 76%
6H14H (L) &l ABR 56 8,050 72%
6H15H(H) &l AP 56 7,050 76%
6516H(H) & ABR 56 7,050 76%
6H17H(XN) &l AP 56 7,050 76%
6H18H(K) & ABR 56 6,050 79%
6H19H(K) &l AP 56 6,050 79%
6H20H (&) &l ABR 56 7,050 76%
6H21H (%) &l AP 56 7,050 76%
68522H(H) &l ABR 56 7,050 76%
6H23H(H) &l AP 56 7,050 76%
6H24H(N) & ABR 56 6,050 79%
6H25H(K) &l AP 56 6,050 79%
6H26H(K) & ABR 56 6,050 79%
6H27H (&) &l AP 56 7,050 76%
6H28H (%) &l ABR 56 7,050 76%
6H29H(H) &l AP 56 7,050 76%
6H30H(H) &l N 56 7,050 76%
7H1B(KX) &l AP 56 6,050 80%
7H2H(K) &l N 56 6,050 80%
7H3B(K) &l AP 56 6,050 80%
7H4B(E) &l N 56 7,050 77%
7H5H(%) &l AP 56 7,050 77%
7H6H(H) &l N 56 7,050 77%
7H7H(8) &l KB 56 7,050 77%
7H8H(N) &l N 56 6,050 80%
7H9H(K) &l KB 56 6,050 80%
7H10H(K) &l KB 56 6,050 80%
7H11H(E) &l AP 56 7,050 77%
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7H12H(L) &l AP 56 7,050 77%
7H13H(H) &l AN 56 7,050 77%
7H14H(H) &l AP 56 7,050 77%
7H15H(N) &l AN 56 6,050 80%
7H16H(K) f& ] AP 56 6,050 80%
7H17H(XK) &l N 56 6,050 80%
4H1H(X) ZaE @] 59 8,500 75%
4H2H(K) ZhE &l 59 8,000 76%
4H3H(XK) ZaE @] 59 7,000 79%
4H5H(%) ZhE &l 59 8,500 75%
456H(H) ZaE @] 59 8,000 76%
4H8H(N) 2EE &l 59 8,000 76%
4H9H(K) ZaE @] 59 7,000 79%
4H12H(X) 2EE e ] 59 8,500 75%
4H13H(H) ZaE @] 59 8,500 75%
4514H(H) 2EE fa ] 59 8,000 76%
4H15H(CN) ZaE @] 59 7,000 79%
4H16H(K) 2EE e ] 59 6,940 79%
4H17H(K) ZaE @] 59 7,000 79%
4H19H(X) 2EE e ] 59 6,940 79%
4H20H(H) ZaE @] 59 8,000 76%
4521H(H) 2EE e ] 59 8,000 76%
4H22H(N) ZaE @] 59 8,000 76%
4H23H(K) 2EE e ] 59 6,940 79%
4H24H(K) ZaE @] 59 6,940 79%
S5H7B(K) 2EE e ] 59 7,000 79%
SH8H(RK) ZaE ] 59 7,000 79%
S5H9H(E) 2EE ] 59 7,000 79%
S5H10H(L) ZaE ] 59 8,000 76%
S5H11H(H) 2EE &[] 59 6,940 79%
5H12H(H) ZaE ] 59 6,940 79%
S5H13H(XN) 2EE ] 59 6,940 79%
5H14H(K) ZaE ] 59 6,940 79%
5H15H(XK) 2EE &l 59 8,500 75%
S5H17H(%) ZaE ] 59 6,940 79%
S5H18H(H) 2EE ] 59 6,940 79%
5H19H(H) ZaE ] 59 6,940 79%
5H20H(X) 2EE &[] 59 6,940 79%
5H21H(K) ZaE ] 59 6,940 79%
5H22H(XK) “aE @] 59 7,000 79%
5H23H(5&) ZaE ] 59 7,000 79%
5H24H(L) “aE @] 59 7,000 79%
5H25H(H) ZaE ] 59 8,000 76%
S5H26H(H) “aE @] 59 6,940 79%
S5H27H(X) ZaE e ] 59 6,940 79%
S5H28H(K) “aE &l 59 8,000 76%
5H29H(XK) ZaE e ] 59 6,940 79%
S5H30H (&) “aE &l 59 8,500 75%
S5H31H(%) ZaE e ] 59 8,000 76%
6H1H(H) ZaE &[] 59 6,940 79%
682H(H) ZaE e ] 59 6,940 79%
6H3B(X) ZaE &l 59 6,940 79%
6H4H(K) ZhE fe ] 59 6,940 79%
6H5H(K) ZaE @] 59 6,940 79%
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6H6H(E) ZaE @] 59 6,940 79%
6H7H(L) ZhE &l 59 7,000 79%
6H8H(H) ZaE @] 59 6,940 79%
6H9H(A) 2EE &l 59 6,940 79%
6H10H(N) ZaE @] 59 6,940 79%
6H11H(K) ZhE &l 59 6,940 79%
6H12H(K) ZaE @] 59 6,940 79%
6H14H (L) ZhE &l 59 6,940 79%
6H15H(H) ZaE @] 59 6,940 79%
6H16H(H) ZhE &l 59 6,940 79%
6H17H(N) ZaE @] 59 6,940 79%
6H18H(K) ZhE &l 59 6,940 79%
6H19H(K) ZaE @] 59 8,000 76%
6H20H (&) 2EE e ] 59 8,500 75%
6H21H(X) ZaE @] 59 6,940 79%
6H22H(H) 2EE fa ] 59 6,940 79%
6823H(H) ZaE @] 59 8,000 76%
6H248(XN) 2EE e ] 59 6,940 79%
6H25H(K) ZaE @] 59 6,940 79%
6H26H(K) 2EE e ] 59 6,940 79%
6H28H (%) ZaE @] 59 6,940 79%
6H29H(H) 2EE e ] 59 8,000 76%
6H30H(H) ZaE @] 59 7,000 79%
EN=IEN) 2EE &l 59 8,000 78%
7H2H(K) ZaE @] 59 6,940 81%
7H3H(K) 2EE &l 59 6,940 81%
7H48(E) ZaE ] 59 6,940 81%
7H5H(L) 2EE &l 59 8,500 76%
7H6H(H) ZaE ] 59 6,940 81%
7H7H(8) 2EE &[] 59 6,940 81%
7H8H(KX) ZaE ] 59 6,940 81%
7H9H(K) 2EE ] 59 6,940 81%
7H10H(K) ZaE ] 59 7,000 80%
7H11H(®) 2EE &l 59 7,000 80%
7H12H(L) ZaE ] 59 8,000 78%
7H13H(H) 2EE &l 59 8,500 76%
7H14H(H) ZaE ] 59 6,940 81%
7H15H(N) 2EE &l 59 8,000 78%
7H16H(K) ZaE ] 59 6,940 81%
7H17H(XK) “aE @] 59 6,940 81%
7H18H(5&) ZaE ] 59 6,940 81%
7H21H(H) “aE @] 59 7,000 80%
7H22H(X) ZaE ] 59 6,940 81%
7H23H(K) “aE @] 59 6,940 81%
7H24H(K) ZaE e ] 59 7,000 80%
7H26H(L) “aE @] 59 6,940 81%
7H27H(H) ZaE e ] 59 6,940 81%
7H28H(H) “aE @] 59 7,000 80%
7H29H(X) ZaE e ] 59 8,000 78%
7H30H(K) ZaE &l 59 8,500 76%
7H31H(K) ZaE e ] 59 6,940 81%
4H2H(K) &l ZoaE 60 8,000 76%
4H4H (%) &l ZhE 60 8,000 76%
4857H(H) &l ZaE 60 7,000 79%
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4H8H(N) &l ZHaE 60 7,000 79%
4H9H(K) &l ZhE 60 6,940 79%
4H10H(K) &l ZHaE 60 8,500 75%
4H11H (&) &l ZhE 60 6,940 79%
4H14H(H) &l ZHaE 60 8,000 76%
4H158H(X) &l ZhE 60 6,940 79%
4H16H(K) &l ZHaE 60 6,940 79%
4H17H(K) &l ZhE 60 8,000 76%
4H18H(E) &l ZHaE 60 7,000 79%
4H19H(L) &l ZhE 60 8,500 75%
4521H(H) &l ZHaE 60 6,940 79%
4H22H(X) &l ZhE 60 6,940 79%
4H23H(K) &l ZHaE 60 8,000 76%
S5H7B(K) &l BEE 60 7,000 79%
S5H8H(R) &l ZEaE 60 6,940 79%
SH9H(E) &l BEE 60 6,940 79%
S5H10H(L) &l ZEaE 60 8,000 76%
S5H11H(H) &l “EE 60 7,000 79%
5H12H(H) &l ZEE 60 7,000 79%
S5H13H(AN) &l BEE 60 6,940 79%
5H14H(K) &l ZEaE 60 7,000 79%
5H15H(XK) &l “EE 60 6,940 79%
5H16H(5) &l ZEE 60 6,940 79%
S5H17H(L) &l BEE 60 6,940 79%
S5H20H(X) &l ZEaE 60 7,000 79%
S5H21H(K) &l “EE 60 7,000 79%
5H22H(K) &l ZHaE 60 6,940 79%
5H23H(5) &l Bz 60 7,000 79%
S5H24H(%) &l ZHaE 60 6,940 79%
S5H25H(H) &l “EE 60 7,000 79%
5H26H(H) &l ZHaE 60 8,000 76%
5H27H(X) &l Bz 60 7,000 79%
5H28H(K) &l ZHaE 60 6,940 79%
5H29H(XK) &l “EE 60 6,940 79%
5H30H(s&) &l ZHaE 60 7,000 79%
5H31H(%) &l Bz 60 8,500 75%
681H(H) &l ZaE 60 6,940 79%
6H2H(AH) &l “EE 60 8,000 76%
6H3H(X) &l ZHaE 60 6,940 79%
6H48(K) &l ZaE 60 6,940 79%
6H5H(K) &l ZhE 60 6,940 79%
6H6H(E) &l ZaE 60 6,940 79%
6H7H(XL) &l ZhE 60 6,940 79%
6H9H(H) &l ZaE 60 6,940 79%
6H10H(X) &l 2R 60 6,940 79%
6H11H(K) &l ZaE 60 6,940 79%
6H12H(K) &l ZhE 60 6,940 79%
6H13H(E) &l “aE 60 6,940 79%
6H14H(X) &l ZhE 60 6,940 79%
6H15H(H) &l ZoaE 60 8,000 76%
6H16H(H) &l ZhE 60 8,000 76%
6H17H(N) &l ZoaE 60 6,940 79%
6H18H(K) &l ZhE 60 6,940 79%
6H20H (&) &l ZaE 60 6,940 79%
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6H21H(L) &l ZHaE 60 6,940 79%
6H22H(H) &l ZhE 60 7,000 79%
6H23H(H) &l ZHaE 60 8,000 76%
6H24H(XN) &l ZhE 60 6,940 79%
6H25H(K) &l ZHaE 60 6,940 79%
6H26H(K) &l ZhE 60 7,000 79%
6H27H(E) &l ZHaE 60 6,940 79%
6H28H (L) &l ZhE 60 7,000 79%
6H29H(H) &l ZHaE 60 7,000 79%
6H30H(H) &l ZhE 60 6,940 79%
7H1HN) &l ZHaE 60 6,940 81%
7H2B(K) &l ZhE 60 6,940 81%
7H3H(K) &l ZHaE 60 6,940 81%
7H4B(GE) &l BEE 60 6,940 81%
7H5H(X) &l ZEaE 60 6,940 81%
7H7H(A) &l ZhE 60 8,000 78%
7HB8H(X) &l ZEaE 60 7,000 80%
7H9H(K) &l “EE 60 6,940 81%
7H10H(RK) &l ZEE 60 6,940 81%
7H11H(E) &l BEE 60 6,940 81%
7H13H(H) &l ZEaE 60 8,500 76%
7H14H(H) &l ZhE 60 8,000 78%
7H158(X) &l ZEE 60 6,940 81%
7H16H(K) &l BEE 60 7,000 80%
7H17H(K) &l ZEaE 60 6,940 81%
7H18H (&) &l “EE 60 6,940 81%
7H19H(L) &l ZHaE 60 7,000 80%
7H20H(H) &l Bz 60 8,000 78%
7H22H(X) &l ZHaE 60 6,940 81%
7H24H(XK) &l “EE 60 7,000 80%
7H25H (&) &l ZHaE 60 6,940 81%
7H26H (%) &l Bz 60 6,940 81%
7H27H(H) &l ZHaE 60 7,000 80%
7H28H(AH) &l “EE 60 6,940 81%
7H29H(X) &l ZHaE 60 7,000 80%
7H30H(K) &l Bz 60 6,940 81%
7H31H(K) &l ZaE 60 6,940 81%
4H2H(K) ZhE PA) 61 9,500 70%
4H6H(H) ZaE PAV) 61 9,500 70%
4857H(H) “aE PA) 61 9,000 72%
4H9H(7K) ZaE PAV) 61 9,000 72%
4H10H(K) g 2Y=] A5 61 9,500 70%
4H14H(H) ZaE PAV) 61 9,000 72%
4H16H(K) “aE DAV 61 9,500 70%
4H17H(K) ZaE PAV) 61 9,500 70%
4520H(H) “aE PA) 61 9,000 72%
4H21H(H) ZaE PAV) 61 9,000 72%
4H22H(X) “aE PA) 61 9,500 70%
4H23H(0K) ZaE PAV) 61 9,000 72%
4H24H(K) ZaE DAV 61 9,000 72%
S5H7H(K) ZaE PAV) 61 9,000 72%
S5H8H(K) BEE A5 61 8,500 74%
S5H9H () 2EE W) 61 8,500 74%
S5H10H(L) ZaE A 61 9,500 70%
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5H12H(H) ZaE DAV 61 9,000 72%
SH13H(X) ZhE PAV) 61 9,500 70%
S5H14H(K) ZaE A5 61 8,000 75%
S5H15H(K) ZhE PAV) 61 7,000 78%
S5H18H(H) ZaE A 61 8,000 75%
S5H21H(K) ZhE PAV) 61 8,000 75%
5H22H(XK) ZaE A 61 9,500 70%
5H26H(H) ZhE PAV) 61 8,000 75%
5H27H(X) ZaE A5 61 8,500 74%
S5H28H(K) ZhE PAV) 61 8,000 75%
5H29H(XK) ZaE A 61 9,000 72%
6H1H(H) ZhE PAV) 61 8,000 75%
6H2H(H) ZaE DAV 61 7,500 77%
6H3B(XN) ZhE PAV) 61 7,500 77%
6H4H(K) ZaE PA) 61 7,000 78%
6H5H(K) 2EE PAV) 61 9,500 70%
6H6H(E) ZaE X5 61 9,000 72%
6H7H(L) ZhE PAV) 61 9,500 70%
688H(H) ZaE X5 61 8,500 74%
6H9H(H) ZhE PA) 61 8,000 75%
6H10H(N) ZaE PA) 61 8,500 74%
6H11H(K) ZhE PA) 61 8,500 74%
6H12H(K) ZaE PA) 61 8,000 75%
6H13H(E) ZhE PA) 61 8,000 75%
6H14H(L) ZaE PA) 61 8,000 75%
6H15H(H) ZhE PAV) 61 7,500 77%
68516H(H) ZaE PAV) 61 7,500 77%
6H17H(CXN) ZhE PA) 61 7,000 78%
6H18H(K) ZaE PAV) 61 7,000 78%
6H19H(K) 2EE PA) 61 8,500 74%
6H20H (&) ZaE PAVJ) 61 9,000 72%
6H21H(L) ZhE PA) 61 9,000 72%
68522H(H) ZaE PAV) 61 8,000 75%
6H23H(H) ZhE PA) 61 7,500 77%
6H24H(N) ZaE PAV) 61 7,500 77%
6H25H(K) ZhE PA) 61 7,000 78%
6H26H(K) ZaE PAV) 61 8,000 75%
6H27H(E) ZhE PA) 61 9,500 70%
6H28H (%) ZaE PAVJ) 61 9,000 72%
6H29H(H) “aE PA) 61 7,500 77%
6H30H(H) ZaE PAV) 61 7,500 77%
7H1B(KX) “aE PA) 61 7,500 78%
7H2H(K) ZaE PAV) 61 8,000 76%
7H3H(K) g 2Y=] A5 61 7,500 78%
7H4B(E) ZaE PAV) 61 7,500 78%
7H5H(%) ZaE PA) 61 7,500 78%
7H6H(H) ZaE PAV) 61 8,000 76%
7H7H(A) “aE PA) 61 7,500 78%
7H8H(N) ZaE PAV) 61 7,500 78%
7H9H(K) ZaE DAV 61 7,500 78%
7H10H(K) ZaE PAV) 61 7,500 78%
7H11H(®) ZaE PA) 61 7,500 78%
7H12H(L) ZhE PAV) 61 8,000 76%
7H13H(H) ZaE A 61 7,500 78%
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7H14H(H) ZaE A 61 8,000 76%
7H15H(N) ZhE PAV) 61 7,500 78%
7H16H(K) ZaE A5 61 8,000 76%
7H17H(K) ZhE PAV) 61 8,500 75%
7H18H(5&) ZaE A 61 8,500 75%
7H19H(%) ZhE PAV) 61 8,500 75%
7H20H(H) ZaE A 61 8,500 75%
7H21H(A) ZhE PAV) 61 7,500 78%
7H22H(N) ZaE A5 61 8,000 76%
7H23H(K) ZhE PAV) 61 8,000 76%
7H24H(XK) ZaE A 61 8,000 76%
7H25H(GE) ZhE PAV) 61 8,000 76%
7H26H(L) ZaE PA) 61 7,500 78%
7H27H(H) ZhE PA) 61 7,500 78%
7H28H(H) ZaE PA) 61 7,500 78%
7H29H(N) ZhE PA) 61 8,500 75%
7H30H(K) ZaE PA) 61 7,500 78%
7H31H(K) 2EE PA) 61 8,500 75%
4H2H(K) PA) ZEE 62 9,500 70%
4H3H(K) PAV) ZhE 62 9,500 70%
4H5H(XL) PAV) ZEaE 62 9,500 70%
4H8H(N) PAV) ZhE 62 9,000 72%
4H9H(7K) PAV) ZEE 62 8,500 74%
4H10H(K) PAV) ZhE 62 9,000 72%
4H11H(%&) PA) ZEaE 62 9,000 72%
4H12H(L) PAV) “EE 62 9,500 70%
4H15H(CN) PAV) ZHaE 62 9,000 72%
4H16H(K) PAV) Bz 62 9,000 72%
4H17H(K) PAV) ZHaE 62 9,500 70%
4H19H(L) PAV) “EE 62 9,000 72%
4520H(H) PAV) ZHaE 62 9,000 72%
4H22H(X) PAV) Bz 62 9,000 72%
4H23H(0K) PAV) ZHaE 62 9,000 72%
4H24H(K) PAV) “EE 62 8,500 74%
S5H7H(K) PAV) ZHaE 62 9,500 70%
S5H8H(R) PAV) Bz 62 8,000 75%
S5H9H(E) PAV) ZaE 62 9,000 72%
5H10H(%) PAV) “EE 62 9,500 70%
5H11H(H) PAV) ZHaE 62 9,000 72%
S5H12H(H) PAV) ZaE 62 9,500 70%
S5H13H(X) PAV) ZhE 62 7,500 77%
S5H14H(K) PAV) ZaE 62 9,000 72%
5H15H(K) PAV) ZhE 62 8,000 75%
5H16H(5) PAV) ZaE 62 9,500 70%
S5H17H(%) PAV) 2R 62 8,000 75%
S5H18H(H) PAV) ZaE 62 8,500 74%
5H19H(H) PAV) ZhE 62 8,500 74%
5H20H(X) PAV) “aE 62 8,000 75%
5H21H(K) PAV) ZhE 62 7,500 77%
5H22H(XK) PAV) ZoaE 62 7,500 77%
5H23H(5&) PAV) ZhE 62 9,000 72%
S5H24H(%) PAV) ZoaE 62 8,500 74%
5H25H(H) PAV) “EE 62 9,000 72%
S5H26H(H) %) ZaE 62 7,500 77%
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5H27H(X) ) ZHaE 62 8,000 75%
S5H28H(K) PAV) ZhE 62 7,000 78%
5H29H(XK) ) ZHaE 62 7,000 78%
5H30HGE) PAV) BEE 62 7,500 77%
S5H31H(%) ) ZHaE 62 7,500 77%
6H1H(H) PAV) ZhE 62 9,000 72%
6H2H(H) %) ZHaE 62 7,000 78%
6H3B(XN) PV ZhE 62 7,500 77%
6H4H8(K) ) ZHaE 62 7,500 77%
6H5H(K) PAV) ZhE 62 7,500 77%
6H6H(E) ) ZHaE 62 7,500 77%
6H7H(L) PAV) BEE 62 8,500 74%
6H8H(H) A7 ZHaE 62 7,500 77%
6H9H(H) PAV) ZhE 62 7,500 77%
6H10H(N) PA) ZEaE 62 7,500 77%
6H11H(K) PAV) ZhE 62 7,500 77%
6H12H(K) PAV) ZEaE 62 7,500 77%
6H13H(E) PAV) “EE 62 9,000 72%
6H14H(L) PA) ZEE 62 7,500 77%
6H15H(H) PAV) ZhE 62 7,500 77%
6H16H(H) PAV) ZEaE 62 7,500 77%
6H17H(CN) PAV) ZhE 62 7,500 77%
6H18H(K) PAV) ZEE 62 7,000 78%
6H19H(K) PAV) ZhE 62 7,500 77%
6H20H (&) PA) ZEaE 62 7,500 77%
6H21H(L) PAV) “EE 62 7,500 77%
68522H(H) PAV) ZHaE 62 7,500 77%
6H23H(H) PAV) Bz 62 7,000 78%
6H24H(N) PAV) ZHaE 62 7,500 77%
6H25H(K) PAV) “EE 62 7,000 78%
6H26H(K) PAV) ZHaE 62 7,500 77%
6H27H(E) PAV) Bz 62 7,500 77%
6H28H (%) PAV) ZHaE 62 7,500 77%
6H29H(H) PAV) “EE 62 7,500 77%
6H30H(H) PAV) ZHaE 62 7,500 77%
7H1IBCN) A5 “hE 62 7,500 78%
7H2H(K) PAV) ZaE 62 7,500 78%
7H3H(K) PAV) “EE 62 7,500 78%
7H48(E) PAV) ZHaE 62 7,500 78%
7H5H(%) PAV) ZaE 62 7,500 78%
7H6H(H) PAV) ZhE 62 7,500 78%
7H7H(A) PAV) ZaE 62 7,500 78%
7H8H(X) PAV) ZhE 62 7,500 78%
7H9H(K) PAV) ZaE 62 7,500 78%
7H10H(K) PAV) 2R 62 7,500 78%
7H11H(®) PAV) ZaE 62 7,500 78%
7H12H(L) PAV) ZhE 62 8,000 76%
7H13H(H) PAV) “aE 62 8,000 76%
7H14H(H) PAV) ZhE 62 7,500 78%
7H15H(N) PAV) ZoaE 62 7,500 78%
7H16H(K) PAV) ZhE 62 7,500 78%
7H17H(XK) PAV) ZoaE 62 7,500 78%
7H18H(5&) PAV) “EE 62 9,000 73%
7H20H(H) %) ZaE 62 9,000 73%
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7H21H(H) ) ZHaE 62 9,000 73%
7H22H(X) PAV) ZhE 62 7,500 78%
7H23H(K) ) ZHaE 62 7,500 78%
7H24H(K) PAV) ZhE 62 7,500 78%
7H25H(5&) ) ZHaE 62 8,000 76%
7H26H (%) PAV) BEE 62 9,000 73%
7H27H(H) %) ZHaE 62 7,500 78%
7H28H(H) PV ZhE 62 8,000 76%
7H29H(N) ) ZHaE 62 7,500 78%
7H30H(K) PAV) ZhE 62 7,500 78%
7H31H(XK) ) ZHaE 62 7,500 78%
4H1HN) ZhE PAV) 65 9,500 70%
4H2H(K) ZaE PA) 65 9,000 72%
4H5H(XL) ZhE PAV) 65 9,500 70%
4H8H(X) ZaE PA) 65 9,500 70%
4H9H(K) ZhE PAV) 65 9,000 72%
4H10H(K) ZaE PA) 65 9,000 72%
4H12H(L) ZhE PAV) 65 9,000 72%
4H13H(H) ZaE X5 65 9,500 70%
4H14H(H) ZhE PAV) 65 9,500 70%
45 15H(CN) ZaE PA) 65 9,500 70%
4H16H(K) ZhE PAV) 65 9,000 72%
4H17H(K) ZaE PA) 65 9,500 70%
4H19H(%) ZhE PAV) 65 9,500 70%
4H21H(H) ZaE X5 65 9,000 72%
4H22H(N) ZhE PAV) 65 9,000 72%
4H23H(0K) ZaE PAV) 65 9,000 72%
4H24H(K) 2EE PA) 65 9,500 70%
S5H7H(K) ZaE PAV) 65 8,500 74%
S5H8H(K) 2EE PA) 65 8,500 74%
S5H9H(E) ZaE PAVJ) 65 9,000 72%
5H10H(%) ZhE PA) 65 7,500 77%
5H11H(H) ZaE PAVJ) 65 9,000 72%
S5H12H(A) ZhE PAV) 65 9,000 72%
SH13H(X) ZaE PAV) 65 8,500 74%
S5H14H(K) ZhE PA) 65 7,500 77%
S5H15H(K) ZaE PAV) 65 7,500 77%
5H16H(5&) ZhE PAV) 65 9,000 72%
S5H17H(%) ZaE PAVJ) 65 8,500 74%
S5H18H(H) “aE DAV 65 9,500 70%
5H19H(H) ZaE PAV) 65 9,500 70%
5H20H(X) “aE PA) 65 8,500 74%
5H21H(K) ZaE PAV) 65 8,500 74%
5H22H(XK) “aE DAV 65 9,000 72%
5H23H(5&) ZaE PAV) 65 9,000 72%
5H24H(L) ZaE DAV 65 8,000 75%
5H25H(H) ZaE PAV) 65 8,500 74%
S5H26H(H) “aE DAV 65 8,000 75%
S5H27H(X) ZaE PAV) 65 8,500 74%
S5H28H(K) ZaE DAV 65 7,500 77%
S5H29H(XK) ZaE PAV) 65 7,500 77%
5H30H (&) ZaE DAV 65 7,000 78%
S5H31H(L) ZhE PAV) 65 7,500 77%
6H2H(H) ZaE DAV 65 7,500 77%
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6H3B(X) ZaE A 65 7,500 77%
6H48(0K) ZhE PAV) 65 7,500 77%
6H5H(K) ZaE A5 65 7,500 77%
6H6H(E) ZhE PAV) 65 7,500 77%
6H7H(XL) ZaE DAV 65 7,500 77%
6H8H(H) ZhE PAV) 65 9,000 72%
6H9H(H) ZaE DAV 65 7,500 77%
6H10H(N) ZhE PAV) 65 7,000 78%
6H11H(K) ZaE A5 65 7,000 78%
6H12H(K) ZhE PAV) 65 7,500 77%
6H13H(E) ZaE DAV 65 9,000 72%
6H14H (L) ZhE PAV) 65 7,500 77%
6H15H(H) ZaE DAV 65 8,000 75%
6H16H(H) ZhE PA) 65 7,000 78%
6H17H(N) ZaE PA) 65 7,000 78%
6H18H(K) ZhE PAV) 65 7,500 77%
6H19H(K) ZaE PA) 65 7,000 78%
6H20H(E) ZhE PA) 65 7,000 78%
6H21H(L) ZaE X5 65 7,500 77%
6H22H(H) ZhE PAV) 65 9,000 72%
6823H(H) ZaE X5 65 7,000 78%
6H248(XN) ZhE PA) 65 7,000 78%
6H25H(K) ZaE PA) 65 7,500 77%
6H26H(K) 2EE PA) 65 7,000 78%
6H27H (&) ZaE X5 65 7,000 78%
6H28H (L) ZhE PAV) 65 7,500 77%
68529H(H) ZaE PAVJ) 65 8,500 74%
6H30H(H) ZhE PA) 65 7,500 77%
7H1HCN) ZaE PAV) 65 7,500 78%
7H2B(K) ZhE PA) 65 7,500 78%
7H3H(K) ZaE PAV) 65 8,000 76%
7H4H (&) ZhE PAV) 65 7,500 78%
7H5H(X) ZaE PAVJ) 65 7,500 78%
7H6H((H) ZhE PAV) 65 9,000 73%
7H7H(H) ZaE PAV) 65 7,500 78%
7H8H(N) 2EE A5 65 7,500 78%
7H9H(K) ZaE PAV) 65 7,500 78%
7H10H(K) 2EE PA) 65 7,500 78%
7H11H(&) ZaE PAVJ) 65 7,000 79%
7H12H(L) ZaE DAV 65 7,500 78%
7H13H(H) ZaE PAV) 65 9,000 73%
7H14H(H) “aE DAV 65 7,500 78%
7H15H(X) ZaE PAV) 65 7,500 78%
7H16H(K) “aE DAV 65 7,500 78%
7H17H(K) ZaE PAV) 65 7,500 78%
7H18H(5&) ZaE PA) 65 9,500 72%
7H19H(L) ZaE PAV) 65 9,000 73%
7H20H(H) “aE PA) 65 9,500 72%
7H21H(H) ZaE PAV) 65 9,500 72%
7H22H(X) ZaE DAV 65 7,500 78%
7H23H(K) ZaE PAV) 65 7,500 78%
7H24H(XK) ZaE DAV 65 7,500 78%
7H25H (&) ZhE PAV) 65 8,000 76%
7H26H(%) ZaE DAV 65 8,000 76%
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78278(8) &HE X9 65 9,000 73%
7828H(B) &HE ) 65 8,000 76%
78298 (N) ZhE X9 65 7,500 78%
7H308(K) &HE ) 65 7,500 78%
7831H(XK) ZhE X9 65 7,500 78%
4H1B(N) ) 2= 66 9,000 72%
4548 (%) ) &= 66 9,500 70%
4858 (1) ) &E 66 9,500 70%
4878(8) ) &= 66 9,500 70%
4H8H(N) ) 2= 66 9,500 70%
4859H (7K) ) &= 66 9,000 72%
45108 (k) ) 2= 66 9,500 70%
4H118(®) ) &= 66 9,500 70%
45158 (N) ) &E 66 9,500 70%
45168 (K) ) &= 66 9,500 70%
45178 (K) ) &E 66 9,500 70%
4H188(®) ) &= 66 9,500 70%
45198 (%) ) &E 66 9,500 70%
4H218(A) ) &= 66 9,500 70%
45228 (N) ) &E 66 9,500 70%
4H238(K) ) &= 66 9,000 72%
45248 (k) ) &E 66 9,000 72%
5878(K) ) &= 66 9,000 72%
588H(XK) ) &= 66 8,000 75%
589H(2) ) &= 66 8,000 75%
5A10H(1) ) &E 66 9,500 70%
5A118(H) K53 ZhE 66 9,000 72%
5H128(8) Pavs) ZhE 66 9,500 70%
5H138(N) ) &= 66 7,000 78%
5A14H(K) ) ZhE 66 8,500 74%
58158 (K) ) &= 66 9,500 70%
5A178(1) ) &R 66 9,500 70%
5A198(A) ) &E 66 9,000 72%
5820 () X9 &= 66 8,000 75%
58218 (K) ) &E 66 9,000 72%
5A22H(X) ) &= 66 9,500 70%
5H238(%) ) &E 66 8,500 74%
5828H(K) X9 &= 66 7,500 77%
58298 (X) ) &E 66 9,000 72%
5A31H(1) X9 &= 66 9,000 72%
6828(A) ) &E 66 7,500 77%
6H3H(N) A5 HhE 66 7,500 77%
6848 (7k) ) &E 66 7,500 77%
68508 (k) ) &R 66 7,000 78%
656H (&) ) &E 66 9,500 70%
6878 (1) x5 2= 66 7,500 77%
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6H8H(H) ) ZHaE 66 9,500 70%
6H10H(XN) PAV) ZhE 66 7,500 77%
6H11H(K) ) ZHaE 66 7,500 77%
6H12H(K) PAV) ZhE 66 7,500 77%
6H13H(E) ) ZHaE 66 8,500 74%
6H14H(L) PAV) BEE 66 7,500 77%
6H15H(H) %) ZHaE 66 8,500 74%
6H16H(H) PV ZhE 66 9,500 70%
6H17H(N) ) ZHaE 66 7,000 78%
6H18H(K) PAV) ZhE 66 7,000 78%
6H19H(K) ) ZHaE 66 7,500 77%
6H20H(E) PAV) BEE 66 8,000 75%
6H21H(L) A7 ZHaE 66 7,500 77%
6H22H(H) PAV) ZhE 66 9,000 72%
68523H(H) PA) ZEaE 66 8,500 74%
6H248(XN) PAV) ZhE 66 7,500 77%
6H25H(K) PAV) ZEaE 66 7,500 77%
6H26H(K) PAV) “EE 66 7,000 78%
6H27H(:&) PA) ZEE 66 8,500 74%
6H28H (L) PAV) BEE 66 7,500 77%
6829H(H) PAV) ZEaE 66 8,500 74%
6H30H(H) PAV) “EE 66 8,500 74%
7H1HCN) PAV) ZEE 66 8,000 76%
7H2B(K) PAV) BEE 66 8,000 76%
7H3H(K) PA) ZEaE 66 7,500 78%
7HA4B(E) PAV) “EE 66 8,500 75%
7H5H(X) PAV) ZHaE 66 7,500 78%
7H6HH) PAV) ZhE 66 8,500 75%
7H7H(H) PAV) ZHaE 66 8,000 76%
7H8H(N) A5 “hE 66 7,500 78%
7H9H(K) PAV) ZHaE 66 7,500 78%
7H10H(K) PAV) Bz 66 7,500 78%
7H11H(&) PAV) ZHaE 66 8,500 75%
7H12H (%) PAV) ZhE 66 7,500 78%
7H13H(H) PAV) ZHaE 66 9,000 73%
7H14H(H) PAV) ZhE 66 8,000 76%
7H15H(X) PAV) ZaE 66 7,500 78%
7H16H(K) PAV) “EE 66 7,500 78%
7H17H(K) PAV) ZHaE 66 7,500 78%
7H18H(5&) PAV) ZaE 66 9,000 73%
7H19H(L) PAV) ZhE 66 9,500 72%
7H20H(H) PAV) ZaE 66 9,000 73%
7H21H(H) PAV) ZhE 66 9,500 72%
7H22H(X) PAV) ZaE 66 8,000 76%
7H23H(K) PAV) 2R 66 8,000 76%
7H24H(XK) PAV) ZaE 66 7,500 78%
7H25H (&) PAV) ZhE 66 9,000 73%
7H26H(L) PAV) “aE 66 7,500 78%
7H27H(H) PAV) ZhE 66 9,000 73%
7H28H(H) PAV) ZoaE 66 7,500 78%
7H29H(X) PAV) ZhE 66 8,500 75%
7H30H(K) PAV) ZoaE 66 7,500 78%
7H31H(K) PAV) ZhE 66 8,000 76%
4H1HX) ABR it 71 9,500 75%
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4H2H(K) ABR it 71 8,500 78%
4H3H(K) AN ot 71 9,500 75%
4H4H (&) ABR it 71 8,500 78%
4H5H(%) AN ot 71 9,500 75%
4H6H(H) ABR it 71 9,000 76%
487H(RH) AN ot 71 8,500 78%
4H8H(X) ABR it 71 8,500 78%
4H9H(K) AN ot 71 8,500 78%
4H10H(K) ABR it 71 9,000 76%
4514H(H) AN ot 71 9,000 76%
4H15H(X) ABR it 71 9,000 76%
4H16H(K) AN ot 71 8,500 78%
4H17H(K) ABR it 71 9,500 75%
4H18H(E) AN it 71 9,000 76%
4520H(H) AN ok 71 9,000 76%
4521H(H) AN it 71 9,500 75%
4H22H(N) AN ok 71 9,000 76%
4H23H(K) AN it 71 9,000 76%
4H24H(K) AN ok 71 8,500 78%
S5H7B(K) AN it 71 7,500 80%
S5H8H(XK) AN ok 71 7,500 80%
S5H9H(E) AN it 71 7,000 82%
S5H10H(L) AN ok 71 7,500 80%
S5H11H(H) AN it 71 7,500 80%
5H12H(H) AN ok 71 8,500 78%
S5H13H(AN) AN it 71 8,000 79%
5H14H(K) ABR ik 71 6,500 83%
5H15H(XK) AN it 71 8,500 78%
5H16H(5&) ABR ik 71 8,000 79%
S5H19H(A) AN it 71 9,000 76%
S5H20H(X) ABR ik 71 6,500 83%
S5H21H(K) AN it 71 7,500 80%
S5H22H(XK) ABR ik 71 6,500 83%
5H23H(5) AN it 71 8,000 79%
S5H24H(%) ABR ik 71 8,000 79%
S5H25H(H) AN it 71 8,000 79%
5H26H(H) ABR ik 71 8,000 79%
S5H28H(K) AN it 71 7,000 82%
S5H29H(XK) ABR ik 71 8,000 79%
S5H30H (&) AN it 71 7,000 82%
S5H31H(%) AN o) 71 8,000 79%
6H1H(H) AN it 71 7,000 82%
682H(A) AN it 71 7,000 82%
6H3B(X) AN it 71 7,000 82%
6H4H(K) AN ot 71 6,500 83%
6H5H(K) AN it 71 7,000 82%
6H6H(E) AN it 71 7,000 82%
6H7H(L) AN it 71 7,500 80%
688H(H) AN it 71 7,000 82%
6H9H(H) AN it 71 7,000 82%
6H10H(N) AN it 71 7,000 82%
6H11H(K) AN it 71 6,500 83%
6H12H(K) AN e 71 7,000 82%
6H13H(E) ABR it 71 8,000 79%
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6H14H(L) ABR it 71 8,000 79%
6H15H(H) AN ot 71 7,000 82%
6H16H(H) ABR it 71 7,000 82%
6H17H(CXN) AN ot 71 7,000 82%
6H18H(K) ABR it 71 7,000 82%
6H19H(K) AN ot 71 7,000 82%
6H20H (&) ABR it 71 7,000 82%
6H21H (%) AN ot 71 8,000 79%
6H22H(H) ABR it 71 7,000 82%
6H23H(H) AN ot 71 7,000 82%
6H24H(N) ABR it 71 6,500 83%
6H25H(K) AN ot 71 6,500 83%
6H26H(K) ABR it 71 7,000 82%
6H27H (&) AN it 71 7,000 82%
6H28H (%) AN ok 71 8,000 79%
6H29H(H) AN it 71 7,000 82%
6H30H(H) AN ok 71 7,000 82%
7H1B(CN) AN it 71 6,500 84%
7H2H(K) AN ok 71 6,500 84%
7H3H(K) AN it 71 6,500 84%
7H4B(E) AN ok 71 7,000 83%
7H5H(L) AN it 71 8,000 80%
7H6H(H) AN ok 71 8,000 80%
7H7H(A) AN it 71 7,000 83%
7H8H(N) AN ok 71 6,500 84%
7H9H(K) AN it 71 6,500 84%
7H10H(K) ABR ik 71 6,500 84%
7H11H(®) AN it 71 7,000 83%
7H12H(L) ABR ik 71 8,000 80%
7H13H(H) AN it 71 7,000 83%
7H14H(H) ABR ik 71 7,000 83%
7H15H(N) AN it 71 6,500 84%
7H16H(K) ABR ik 71 6,500 84%
7H17H(XK) AN it 71 6,500 84%
7H18H(5&) ABR ik 71 7,500 81%
7H19H(L) AN it 71 8,500 79%
7H20H(H) ABR ik 71 8,500 79%
7H21H(AH) AN it 71 9,500 76%
7H22H(X) ABR ik 71 7,000 83%
7H23H(K) AN it 71 6,500 84%
7H24H(K) AN it 71 7,000 83%
7H25H (&) AN it 71 7,000 83%
7H26H(L) AN o) 71 8,000 80%
7H27H(H) AN it 71 7,000 83%
7H28H(H) AN ot 71 7,000 83%
7H29H(N) AN it 71 6,500 84%
7H30H(K) AN it 71 6,500 84%
7H31H(XK) AN it 71 6,500 84%
4H1HCN) o) ABR 72 9,000 76%
4H2H(K) Eoibi) KB 72 8,500 78%
4H3H(K) o) ABR 72 8,500 78%
4H4H (&) Eoibi) KB 72 9,500 75%
4H5H(XL) it KB 72 9,500 75%
456H(H) ok AP 72 9,500 75%
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457H(H) b AP 72 8,500 78%
4H8H(N) it AN 72 9,500 75%
4H9H(K) b AP 72 9,500 75%
4H10H(K) it AN 72 8,500 78%
4H11HGER) b AP 72 9,500 75%
4H12H(X) ik N 72 9,500 75%
4H14H(H) b AP 72 9,500 75%
4H158H(X) it AN 72 8,500 78%
4H16H(K) b AP 72 8,500 78%
4H17H(K) it AN 72 9,000 76%
4H18H(E) b AP 72 9,500 75%
4H19H(X) it N 72 9,000 76%
4H20H(H) b AP 72 9,000 76%
4521H(H) ik AN 72 8,500 78%
4H22H(N) Eolb) AP 72 8,500 78%
4H23H(K) ik AN 72 9,000 76%
4H24H(K) o) AP 72 9,500 75%
S5H7B(K) Eoibi) KB 72 6,500 83%
S5H8H(XK) Eolb) AP 72 7,000 82%
S5H9H(E) ik AN 72 8,000 79%
S5H10H(L) o) AP 72 7,500 80%
S5H11H(H) ik KB 72 9,500 75%
5H12H(H) Eolb) AP 72 9,500 75%
S5H13H(AN) ik AN 72 8,000 79%
5H14H(K) Eolb) AP 72 9,500 75%
S5H15H(XK) ik KB 72 9,000 76%
5H16H(5&) o) ABR 72 8,000 79%
S5H17H(%) Eoibi) AP 72 9,500 75%
S5H20H(X) b, ABR 72 8,000 79%
S5H21H(K) Eoibi) AP 72 9,000 76%
5H22H(K) b, ABR 72 9,000 76%
5H23H(5) Eoibi) AP 72 7,500 80%
S5H24H(%) b, ABR 72 6,500 83%
S5H25H(H) Eoibi) AP 72 7,500 80%
5H26H(H) b, ABR 72 8,000 79%
5H27H(X) Eoibi) AP 72 8,000 79%
S5H28H(K) o) ABR 72 7,500 80%
5H29H(XK) Eoibi) AP 72 7,500 80%
5H30H(s&) b, ABR 72 7,000 82%
S5H31H(%) poibi) AP 72 9,000 76%
681H(H) o) ABR 72 7,500 80%
6H2H(H) poibi) AP 72 7,000 82%
6H3H(X) o) ABR 72 9,000 76%
6H48(K) poibi) AP 72 8,500 78%
6H5H(K) b ABR 72 9,000 76%
6H6H(E) poibi) AP 72 8,500 78%
6H7H(XL) b ABR 72 7,500 80%
6H8H(H) poibi) AP 72 8,000 79%
689H(H) o) ABR 72 7,000 82%
6H10H(XN) Eoibi) KB 72 7,000 82%
6H11H(K) o) ABR 72 9,000 76%
6H12H(K) Eoibi) KB 72 9,500 75%
6H13H(&) it KB 72 8,500 78%
6H14H(L) ok AP 72 7,500 80%
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6H15H(H) b AP 72 8,500 78%
6H16H(H) it AN 72 9,000 76%
6H17H(N) b AP 72 7,000 82%
6H18H(K) it AN 72 7,000 82%
6H19H(K) b AP 72 7,500 80%
6H20H (&) ik N 72 9,000 76%
6H21H(L) b AP 72 9,500 75%
6H22H(H) it AN 72 7,000 82%
6H23H(H) b AP 72 7,000 82%
6H24H(XN) it AN 72 7,000 82%
6H25H(K) b AP 72 8,000 79%
6H26H(K) it N 72 7,500 80%
6H27H(E) b AP 72 9,500 75%
6H28H (L) ik AN 72 9,000 76%
68529H(H) Eolb) AP 72 6,500 83%
6H30H(H) ik AN 72 6,500 83%
7H1H(X) o) AP 72 7,000 83%
7H2B(K) Eoibi) KB 72 7,000 83%
7H3H(K) Eolb) AP 72 8,000 80%
7HA4B(GE) ik AN 72 9,000 78%
7H5H(X) o) AP 72 8,500 79%
7H6H(H) ik KB 72 6,500 84%
7H7H(H) Eolb) AP 72 7,000 83%
7H8H(N) ik AN 72 7,500 81%
7H9H(K) Eolb) AP 72 6,500 84%
7H10H(K) ik KB 72 7,500 81%
7H11H(&) o) ABR 72 7,000 83%
7H12H(L) Eoibi) AP 72 8,500 79%
7H13H(H) b, ABR 72 6,500 84%
7H14H(H) Eoibi) AP 72 6,500 84%
7H15H(X) b, ABR 72 7,000 83%
7H16H(K) Eoibi) AP 72 6,500 84%
7H17H(R) b, ABR 72 7,500 81%
7H18H (&) Eoibi) AP 72 8,000 80%
7H19H(L) b, ABR 72 9,500 76%
7H20H(H) Eoibi) AP 72 9,000 78%
7H21H(H) o) ABR 72 9,500 76%
7H22H(X) Eoibi) AP 72 6,500 84%
7H23H(K) b, ABR 72 7,000 83%
7H24H(XK) poibi) AP 72 7,500 81%
7H25H (&) o) ABR 72 8,500 79%
7H26H(L) poibi) AP 72 9,000 78%
7H27H(H) o) ABR 72 8,000 80%
7H28H(H) poibi) AP 72 7,500 81%
7H29H(X) b ABR 72 9,000 78%
7H30H(K) poibi) AP 72 6,500 84%
7H31H(K) b ABR 72 7,500 81%
4H1H(XN) AN it 73 8,500 78%
4H2H(K) AN it 73 9,000 76%
4H3H(K) AN it 73 9,500 75%
4H4H (&) AN it 73 8,500 78%
4H5H(%) AN it 73 8,500 78%
4H6H(H) AN e 73 9,000 76%
4857H(H) ABR it 73 9,500 75%
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4H8H(X) ABR it 73 9,000 76%
4H9H(K) AN ot 73 9,000 76%
4H10H(K) ABR it 73 9,000 76%
4H11H(E) AN ot 73 9,500 75%
4H13H(H) ABR it 73 9,500 75%
4514H(H) AN ot 73 9,000 76%
4H15H(X) ABR it 73 9,000 76%
4H16H(K) AN ot 73 8,500 78%
4H17H(K) ABR it 73 9,500 75%
4H18H (&) AN ot 73 9,500 75%
4H19H(X) ABR it 73 9,000 76%
4520H(H) AN ot 73 9,500 75%
4521H(H) ABR it 73 9,500 75%
4H22H(X) AN it 73 9,500 75%
4H23H(K) AN ok 73 9,000 76%
4H24H(K) AN it 73 9,500 75%
S5H7H(K) AN ok 73 7,500 80%
S5H8H(K) AN it 73 7,000 82%
S5H9H(E) AN ok 73 6,500 83%
S5H10H(L) AN it 73 7,000 82%
5H11H(H) AN ok 73 7,000 82%
S5H12H(H) AN it 73 8,000 79%
SH13H(X) AN ok 73 8,000 79%
S5H14H(K) AN it 73 7,000 82%
S5H15H(K) AN ok 73 8,000 79%
S5H16H(E) AN it 73 8,000 79%
5H18H(H) ABR ik 73 9,000 76%
S5H19H(A) AN it 73 8,500 78%
S5H20H(X) ABR ik 73 7,500 80%
S5H21H(K) AN it 73 8,000 79%
S5H22H(XK) ABR ik 73 7,500 80%
5H23H(5) AN it 73 7,500 80%
S5H24H(%) ABR ik 73 8,000 79%
S5H25H(H) AN it 73 8,000 79%
5H26H(H) ABR ik 73 8,000 79%
5H27H(X) AN it 73 7,000 82%
S5H28H(K) ABR ik 73 7,500 80%
5H29H(XK) AN it 73 7,500 80%
5H30H(s&) ABR ik 73 8,000 79%
S5H31H(%) AN it 73 8,000 79%
681H(H) AN it 73 9,000 76%
6H2H(H) AN it 73 7,500 80%
6H3B(X) AN it 73 7,000 82%
6H48(K) AN it 73 7,000 82%
6H5H(RK) AN ot 73 7,000 82%
6H6H(E) AN it 73 7,500 80%
6H7H(XL) AN it 73 9,000 76%
6H8H(H) AN it 73 9,000 76%
6H9H(AH) AN it 73 9,000 76%
6H10H(XN) AN it 73 6,500 83%
6H11H(K) AN it 73 7,000 82%
6H12H(K) AN it 73 7,000 82%
6H13H(&) AN e 73 9,500 75%
6H14H(L) ABR it 73 9,500 75%
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6H15H(H) ABR it 73 9,500 75%
6H16H(H) AN ot 73 7,500 80%
6H17H(N) ABR it 73 7,000 82%
6H18H(K) AN ot 73 7,000 82%
6H19H(K) ABR it 73 7,000 82%
6H20H (&) AN ot 73 8,000 79%
6H21H(L) ABR it 73 7,500 80%
6H22H(H) AN ot 73 9,000 76%
6H23H(H) ABR it 73 7,500 80%
6H24H(XN) AN ot 73 7,000 82%
6H25H(K) ABR it 73 6,500 83%
6H26H(K) AN ot 73 6,500 83%
6H27H(E) ABR it 73 8,000 79%
6H28H (L) AN it 73 7,500 80%
68529H(H) AN ok 73 9,000 76%
6H30H(H) AN it 73 8,000 79%
7H1HCN) AN ok 73 6,500 84%
7H2B(K) AN it 73 6,500 84%
7H3H(K) AN ok 73 6,500 84%
7HA4B(GE) AN it 73 8,000 80%
7H5H(X) AN ok 73 7,500 81%
7H6H(H) AN it 73 9,000 78%
7H7H(H) AN ok 73 7,500 81%
7H8H(N) AN it 73 6,500 84%
7H9H(K) AN ok 73 6,500 84%
7H10H(K) AN it 73 6,500 84%
7H11H(&) ABR ik 73 7,500 81%
7H12H(L) AN it 73 7,500 81%
7H13H(H) ABR ik 73 9,000 78%
7H14H(H) AN it 73 7,500 81%
7H15H(X) ABR ik 73 6,500 84%
7H16H(K) AN it 73 7,000 83%
7H17H(K) ABR ik 73 6,500 84%
7H18H (&) AN it 73 9,500 76%
7H19H(L) ABR ik 73 9,500 76%
7H20H(H) AN it 73 9,500 76%
7H21H(H) ABR ik 73 9,500 76%
7H22H(X) AN it 73 7,500 81%
7H23H(K) ABR ik 73 6,500 84%
7H24H(XK) AN it 73 7,000 83%
7H25H (&) AN it 73 9,000 78%
7H26H(L) AN it 73 7,500 81%
7H27H(H) AN it 73 9,000 78%
7H28H(H) AN it 73 9,000 78%
7H29H(X) AN ot 73 7,500 81%
7H30H(K) AN it 73 7,000 83%
7H31H(K) AN it 73 7,500 81%
4H1H(XN) poibi) AP 74 9,000 76%
4H2H(K) o) ABR 74 8,500 78%
4H3H(K) Eoibi) KB 74 9,500 75%
4H4H (&) o) ABR 74 9,000 76%
4H5H(%) Eoibi) KB 74 9,500 75%
4H6H(H) it KB 74 8,500 78%
4857H(H) ok AP 74 9,500 75%
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4H8H(X) b AP 74 9,500 75%
4H9H(K) it AN 74 8,500 78%
4H10H(K) b AP 74 8,500 78%
4H11H(E) it AN 74 8,500 78%
4H12H(X) b AP 74 9,000 76%
4H158H(X) ik N 74 9,500 75%
4H16H(K) b AP 74 9,000 76%
4H17H(K) it AN 74 8,500 78%
4H18H(E) b AP 74 8,500 78%
4H19H(X) it AN 74 9,000 76%
4H20H(H) b AP 74 9,000 76%
4821H(A) it N 74 8,500 78%
4H22H(N) b AP 74 9,500 75%
4H23H(K) ik AN 74 9,500 75%
4H24H(K) Eolb) AP 74 9,000 76%
S5H7B(K) ik AN 74 7,500 80%
S5H8H(XK) o) AP 74 7,000 82%
S5H9H(E) Eoibi) KB 74 6,500 83%
S5H10H(L) Eolb) AP 74 7,000 82%
S5H11H(H) ik AN 74 7,500 80%
5H12H(H) o) AP 74 8,000 79%
S5H13H(AN) ik KB 74 7,000 82%
5H14H(K) Eolb) AP 74 8,000 79%
S5H15H(XK) ik AN 74 8,000 79%
5H16H(5) Eolb) AP 74 9,500 75%
S5H17H(L) ik KB 74 9,500 75%
5H20H(X) o) ABR 74 7,500 80%
S5H21H(K) Eoibi) AP 74 7,500 80%
5H22H(K) b, ABR 74 8,000 79%
5H23H(5) Eoibi) AP 74 7,000 82%
S5H24H(%) b, ABR 74 9,000 76%
S5H25H(H) Eoibi) AP 74 9,000 76%
5H26H(H) b, ABR 74 8,000 79%
5H27H(X) Eoibi) AP 74 7,500 80%
S5H28H(K) b, ABR 74 7,000 82%
S5H29H(XK) Eoibi) AP 74 7,500 80%
5H30H (&) o) ABR 74 9,000 76%
5H31H(%) Eoibi) AP 74 9,000 76%
681H(H) b, ABR 74 7,000 82%
6H2H(H) poibi) AP 74 6,500 83%
6H3H(X) o) ABR 74 7,000 82%
6H48(K) poibi) AP 74 7,000 82%
6H5H(K) o) ABR 74 7,000 82%
6H6H(E) poibi) AP 74 9,000 76%
6H7H(XL) b ABR 74 7,000 82%
6H8H(H) poibi) AP 74 8,000 79%
689H(H) b ABR 74 7,000 82%
6H108(XN) poibi) AP 74 7,000 82%
6H11H(K) o) ABR 74 6,500 83%
6H12H(K) Eoibi) KB 74 7,000 82%
6H13H(&) o) ABR 74 9,000 76%
6H14H(X) Eoibi) KB 74 7,500 80%
6H15H(H) it KB 74 8,000 79%
6H16H(H) ok AP 74 7,000 82%
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6H17H(N) b AP 74 6,500 83%
6H18H(K) it AN 74 6,500 83%
6H19H(K) b AP 74 7,000 82%
6H20H (&) it AN 74 9,000 76%
6H21H(L) b AP 74 7,000 82%
6H22H(H) ik N 74 7,000 82%
6H23H(H) b AP 74 7,000 82%
6H24H(XN) it AN 74 7,000 82%
6H25H(K) b AP 74 7,000 82%
6H26H(K) it AN 74 6,500 83%
6H27H(E) b AP 74 9,000 76%
6H28H (%) it N 74 6,500 83%
6H29H(H) b AP 74 6,500 83%
6H30H(H) ik AN 74 6,500 83%
7H1H(X) Eolb) AP 74 6,500 84%
7H2B(K) ik AN 74 6,500 84%
7H3H(K) o) AP 74 6,500 84%
7H4B(E) Eoibi) KB 74 9,000 78%
7H5H(X) Eolb) AP 74 7,000 83%
7H6H(H) ik AN 74 6,500 84%
7H7H(H) o) AP 74 6,500 84%
7H8H(N) ik KB 74 6,500 84%
7H9H(K) Eolb) AP 74 6,500 84%
7H10H(K) ik AN 74 6,500 84%
7H11H(&) Eolb) AP 74 9,000 78%
7H12H(L) ik KB 74 7,000 83%
7H13H(H) o) ABR 74 7,000 83%
7H14H(H) Eoibi) AP 74 6,500 84%
7H158(X) b, ABR 74 6,500 84%
7H16H(K) Eoibi) AP 74 6,500 84%
7H17H(RK) b, ABR 74 6,500 84%
7H18H(5&) Eoibi) AP 74 9,500 76%
7H19H(L) b, ABR 74 9,500 76%
7H20H(H) Eoibi) AP 74 9,000 78%
7H21H(H) b, ABR 74 9,500 76%
7H22H(X) Eoibi) AP 74 6,500 84%
7H23H(K) o) ABR 74 6,500 84%
7H24H(XK) Eoibi) AP 74 6,500 84%
7H25H (&) b, ABR 74 9,500 76%
7H26H(L) poibi) AP 74 9,500 76%
7H27H(H) o) ABR 74 7,500 81%
7H28H(H) poibi) AP 74 7,000 83%
7H29H(X) o) ABR 74 6,500 84%
7H30H(K) poibi) AP 74 6,500 84%
7H31H(K) b ABR 74 6,500 84%
4H1H(XN) AN RS 75 8,000 77%
4H2H(K) ABR EERS 75 9,000 74%
4H4H (&) AN RS 75 8,000 77%
4H7H(H) ABR ERS 75 7,160 80%
4H8H(N) AN RS 75 7,160 80%
4H9H(7K) ABR ERS 75 8,000 77%
4H10H(K) AN ) 75 5,650 84%
4H11H(E) AN EERS 75 7,160 80%
4514H(H) ABR RS 75 7,160 80%




IBEX4Hi

aE&e (X f& EE p——

EERE F5|x

4H15H(X) ABR RS 75 8,000 77%
4H16H(K) AN EERS 75 5,650 84%
4H17H(K) ABR ERS 75 7,160 80%
4H18H (&) AN EERS 75 8,000 77%
4H19H(X) ABR RS 75 9,000 74%
4821H(A) AN EERS 75 5,650 84%
4H22H(X) ABR ERS 75 5,650 84%
4H23H(K) AN EERS 75 8,000 77%
S5H7B(K) ABR ERS 75 5,650 84%
S5H8H(K) AN EERS 75 5,650 84%
S5H9H(E) ABR RS 75 8,000 77%
S5H10H(L) AN EERS 75 8,000 77%
S5H11H(H) ABR ERS 75 7,160 80%
S5H12H(H) AN EERS 75 5,650 84%
SH13H(X) AN ERS 75 5,650 84%
S5H14H(K) AN EERS 75 5,650 84%
S5H15H(K) AN ERS 75 5,650 84%
S5H17H(L) AN EERS 75 5,650 84%
5H18H(H) AN ERS 75 9,000 74%
S5H19H(A) AN EERS 75 5,650 84%
S5H20H(X) AN ) 75 9,000 74%
S5H21H(K) AN EERS 75 7,160 80%
S5H22H(XK) AN ERS 75 7,160 80%
S5H23H(:) AN EERS 75 5,650 84%
S5H24H(%) AN ERS 75 8,000 77%
S5H25H(H) AN EERS 75 9,000 74%
5H26H(H) ABR ERS 75 9,000 74%
5H27H(X) AN EERS 75 5,650 84%
5H28H(K) ABR ERS 75 5,650 84%
5H29H(XK) AN ERS 75 5,650 84%
S5H31H(%) ABR ERS 75 9,000 74%
6H2H(H) AN EERS 75 5,650 84%
6H3B(X) ABR ERS 75 5,650 84%
6H4H(K) AN ERS 75 5,650 84%
6H5H(R) ABR ERS 75 5,650 84%
6H6H(E) AN EERS 75 9,000 74%
6H7H(L) ABR ERS 75 5,650 84%
6H8H(H) AN ERS 75 9,000 74%
6H9H(AH) ABR ERS 75 8,000 77%
6H108(XN) AN RS 75 7,160 80%
6H11H(K) ABR EERS 75 8,000 77%
6H12H(K) AN ERS 75 5,650 84%
6H13H(&) ABR RS 75 7,160 80%
6H14H(L) AN RS 75 5,650 84%
6H15H(H) ABR RS 75 9,000 74%
6H16H(H) AN RS 75 5,650 84%
6H17H(X) ABR EERS 75 7,160 80%
6H18H(K) AN RS 75 5,650 84%
6H19H(K) ABR ERS 75 5,650 84%
6H20H (&) AN RS 75 5,650 84%
6H21H(X) ABR ERS 75 5,650 84%
6H22H(H) AN RS 75 8,000 77%
6H23H(H) AN EERS 75 5,650 84%
6H24H(N) ABR ERS 75 5,650 84%
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6H25H(K) ABR RS 75 5,650 84%
6H26H(K) ABR RS /5 5,650 84%
6H27H(E) ABR RS 75 9,000 74%
6H28H(L) KBR RS /5 5,650 84%
6H29H(H) ABR RS 75 7,160 80%
6H30H(H) ABR RS /5 7,160 80%
7H1HN) ABR RS 75 8,000 78%
7H2H(K) ABR ERS /5 5,650 85%
7H3H(K) ABR RS 75 5,650 85%
7H4H(E) KBR ERS /5 8,000 78%
7H5H(L) ABR RS 75 8,000 78%
7H6H(H) ABR RS /5 8,000 78%
7H7H(H) ABR RS 75 8,000 78%
7H8H(N) ABR RS /5 5,650 85%
7H9H(K) KPR RS 75 5,650 85%
7H10H(K) ABR RS /5 5,650 85%
7H11H(E) KPR RS 75 8,000 78%
7H12H(%) KPR RS /5 7,650 79%
7H13H(H) KPR RS 75 7,650 79%
7H14H(H) ABR RS /5 7,650 79%
7H158(X) KPR RS 75 8,000 78%
7H16H(K) ABR RS /5 5,650 85%
7H17H(K) KPR RS 75 5,650 85%
7H18H(&E) KPR RS /5 5,650 85%
7H19H(L) KPR RS 75 10,000 73%
7H20H(H) ABR RS /5 10,000 73%
7H21H(H) KBR RS 75 10,000 73%
7H22B8(X) KPR RS 75 7,650 79%
7H23H(K) KPR RS 75 5,650 85%
7H24H(XK) KPR RS 75 5,650 85%
7H25H(&®) KBR RS 75 8,000 78%
7H26H(%) KPR RS 75 7,650 79%
7H27H(H) KPR RS 75 7,650 79%
7H28H(H) KPR RS 75 8,000 78%
7H29H(X) KBR RS 75 5,650 85%
7H30H(K) KPR RER 75 5,650 85%
7H31H(K) KBR RS 75 5,650 85%
4H3H(K) RS ABR 76 9,000 74%
4H48H(%&) B ABR 76 8,000 77%
4H5H(X) ERE KPR 76 9,000 74%
4H7H(H) bljb ABR 76 9,000 74%
4H8H(XN) ERE KPR 76 8,000 77%
4H9H(K) bljb ABR 76 8,000 77%
4H10H(K) ERE KPR 76 8,000 77%
4H11H(&) bljb KBR 76 5,650 84%
4H12H(X) ERE KPR 76 8,000 77%
4H13H(H) bljb KBR 76 7,160 80%
4H14H(H) ERE KR 76 5,650 84%
4H15H0N) bljb ABR 76 5,650 84%
4H17H(K) ERE KPR 76 7,160 80%
4H19H(X) bljb KBR 76 5,650 84%
4H22H(N) RS KPR 76 5,650 84%
4H23H0K) B ABR 76 5,650 84%
4H24H(K) RS KPR 76 7,160 80%
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S5H7B(K) E AP 76 7,160 80%
S5H8H(K) RER AN 76 5,650 84%
S5H9H(E) S AP 76 9,000 74%
S5H10H(L) RER AN 76 7,160 80%
5H12H(H) S AP 76 9,000 74%
SH13H(X) RER N 76 7,160 80%
S5H14H(K) ERE AP 76 8,000 77%
S5H15H(K) ﬁ')ﬁ AN 76 7,160 80%
5H16H(5) S AP 76 8,000 77%
S5H17H(L) RER AN 76 5,650 84%
S5H18H(H) RS AP 76 9,000 74%
5H19H(H) ) N 76 9,000 74%
5H20H(X) RS AP 76 5,650 84%
S5H21H(K) ERS ABR 76 5,650 84%
S5H22H(XK) m' AP 76 5,650 84%
S5H23H(:) ) ABR 76 7,160 80%
5H24H(L) E AP 76 8,000 77%
5H25H(H) ERE ABR 76 7,160 80%
S5H27H(X) m' AP 76 5,650 84%
S5H28H(K) ERS ABR 76 5,650 84%
S5H29H(XK) m' AP 76 5,650 84%
S5H30H () ) ABR 76 7,160 80%
S5H31H(%) E AP 76 5,650 84%
6H1H(H) ERE ABR 76 8,000 77%
682H(A) m' AP 76 8,000 77%
6H3B(XN) ERE ABR 76 5,650 84%
6H4H(K) us' ABR 76 5,650 84%
6H5H(K) ERS KPR 76 5,650 84%
6H6H(E) m' ABR 76 9,000 74%
6H7H(L) ERE KPR 76 7,160 80%
689H(A) us' ABR 76 5,650 84%
6H10H(XN) ) KPR 76 7,160 80%
6H11H(K) EeUT ABR 76 5,650 84%
6H12H(K) ERS KPR 76 5,650 84%
6H13H(&) m' ABR 76 7,160 80%
6H14H(X) ERE KPR 76 5,650 84%
65 15H(H) m' ABR 76 7,160 80%
6H16H(H) ) ABR 76 5,650 84%
6H17H(N) EeUT ABR 76 5,650 84%
6H18H(K) ERS KPR 76 7,160 80%
6H19H(K) bljb N 76 7,160 80%
6H20H (&) ERS KPR 76 9,000 74%
6H21H (%) bljb ABR 76 5,650 84%
6H23H(H) ERS KPR 76 5,650 84%
6H24H(X) bljb N 76 5,650 84%
6H25H(K) ERS KPR 76 5,650 84%
6H26H(K) bljb N 76 7,160 80%
6H27H (&) ERS KPR 76 5,650 84%
6H28H (%) bljb ABR 76 5,650 84%
6H30H(H) ERS KPR 76 5,650 84%
7H1H(CX) bljb N 76 8,000 78%
7H2B(K) ) KPR 76 5,650 85%
7H3H(K) eSS KB 76 5,650 85%
7H48(E) RS KPR 76 8,000 78%
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7H5H(X) E AP 76 8,000 78%
7H6H(H) RER AN 76 8,000 78%
7H7H(H) S AP 76 8,000 78%
7H8H(XN) RER AN 76 5,650 85%
7H9H(K) S AP 76 5,650 85%
7H10H(K) RER N 76 5,650 85%
7H11H(®) ERE AP 76 8,000 78%
7H12H(L) ﬁ'ﬁd AN 76 7,650 79%
7H13H(H) S AP 76 7,650 79%
7H14H(H) RER AN 76 7,650 79%
7H15H(N) RS AP 76 8,000 78%
7H16H(K) ) N 76 5,650 85%
7H17H(XK) RS AP 76 5,650 85%
7H18H(:&) ERE ABR 76 5,650 85%
7H19H(L) m' AP 76 10,000 73%
7H20H(H) ) AN 76 10,000 73%
7H21H(H) E AP 76 10,000 73%
7H22H(X) ERE KB 76 7,650 79%
7H23H(K) m' AP /76 5,650 85%
7H24H(K) ERS ABR 76 5,650 85%
7H25H(5&) m' AP 76 8,000 78%
7H26H(L) ) KB 76 7,650 79%
7H27H(H) E AP 76 7,650 79%
7H28H(H) ERE ABR 76 8,000 78%
7H29H(X) m' AP 76 5,650 85%
7H30H(K) ERS ABR 76 5,650 85%
7H31H(K) u:' ABR 76 5,650 85%
45 1H(N) AN PA) 77 9,500 62%
4H2H(K) ABR PAVJ) 77 9,500 62%
4H3H(K) AN PA) 77 6,500 74%
4H4H (&) ABR PAVJ) 77 9,000 64%
4H5H(%) KPR PA) 77 9,000 64%
4H6H(H) ABR PAVJ) 77 8,000 68%
4857H(H) AN PAV) 77 8,000 68%
4H8H(X) ABR PAVJ) 77 9,000 64%
4H9H(K) AN PA) 77 6,500 74%
4H10H(K) ABR PAVJ) 77 7,500 70%
4H11H(%&) KPR PA) 77 9,500 62%
4H12H(X) ABR PAVJ) 77 9,000 64%
4513H(H) AN DAV 77 8,000 68%
4H14H(H) ABR Aa) 77 8,000 68%
4H15H(X) AN DAV 77 8,500 66%
4H16H(K) ABR Aa) 77 6,500 74%
4H17H(K) AN DAV 77 6,500 74%
4H18H (&) ABR PAV) 77 8,500 66%
4520H(H) AN DAV 77 8,500 66%
4H21H(H) ABR Aa) 77 6,500 74%
4H22H(N) AN DAV 77 6,500 74%
4H23H(0K) ABR Aa) 77 8,000 68%
4H24H(K) AN DAV 77 8,000 68%
S5H7H(K) ABR Aa) 77 8,500 66%
S5H8H(K) AN DAV 77 6,500 74%
S5H9H(E) ABR PAV) 77 5,500 78%
5H10H(L) ABR DAV 77 6,500 74%
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5H11H(H) ABR DAV 77 6,500 74%
5H12H(H) AN PAV) 77 7,000 72%
S5H13H(XN) ABR DAV 77 6,500 74%
5H14H(K) AN PAV) 77 6,000 76%
5H15H(XK) ABR DAV 77 5,500 78%
5H16H(&) ABR PAV) 77 6,000 76%
5H17H(L) ABR DAV 77 6,500 74%
5H18H(H) AN PAV) 77 6,500 74%
S5H19H(H) ABR DAV 77 5,500 78%
S5H20H(X) AN PAV) 77 6,000 76%
S5H21H(K) ABR DAV 77 5,500 78%
S5H22H(XK) AN PAV) 77 6,500 74%
5H23H(5&) ABR DAV 77 7,000 72%
S5H24H(%) ABR PAV) 77 6,500 74%
5H25H(H) AN X5 77 6,000 76%
5H26H(H) AN PAV) 77 5,500 78%
S5H27H(X) AN X5 77 5,500 78%
S5H28H(K) AN PAV) 77 5,500 78%
S5H29H(XK) AN X5 77 5,500 78%
S5H30H () ABR PAV) 77 6,000 76%
S5H31H(%) AN X5 77 6,500 74%
6H1H(H) AN PAV) 77 6,500 74%
682H(A) AN X5 77 6,500 74%
6H3B(XN) AN PAV) 77 5,500 78%
6H4H(K) AN X5 77 5,500 78%
6H5H(K) AN PAV) 77 5,500 78%
6H6H(E) ABR PAVJ) 77 6,500 74%
6H7H(L) KPR PA) 77 6,500 74%
688H(H) ABR PAVJ) 77 6,500 74%
6H9H(A) AN PA) 77 6,500 74%
6H10H(N) ABR PAVJ) 77 5,500 78%
6H11H(K) AN PAV) 77 5,500 78%
6H12H(K) ABR PAVJ) 77 5,500 78%
6H13H (&) KPR PAV) 77 6,000 76%
6H14H(X) ABR PAVJ) 77 5,500 78%
6H15H(H) AN PAV) 77 5,500 78%
68516H(H) ABR PAVJ) 77 5,500 78%
6H17H(N) AN PAV) 77 5,500 78%
6H18H(K) ABR PAVJ) 77 6,500 74%
6H19H(K) AN DAV 77 6,500 74%
6H20H (&) ABR PAV) 77 5,500 78%
6H21H(L) AN DAV 77 6,000 76%
68522H(H) ABR PAV) 77 5,500 78%
6H23H(H) AN DAV 77 7,000 72%
6H24H(X) ABR Aa) 77 6,500 74%
6H25H(K) AN DAV 77 5,500 78%
6H26H(K) ABR Aa) 77 6,000 76%
6H27H (&) AN DAV 77 6,000 76%
6H28H (%) ABR PAV) 77 6,500 74%
6H29H(H) AN DAV 77 6,500 74%
6H30H(H) ABR Aa) 77 5,500 78%
7H1B(X) AN DAV 77 6,000 78%
7H2H(K) AN PAV) 77 6,000 78%
7H3H(K) ABR DAV 77 6,000 78%
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7H48(E) ABR DAV 77 7,000 74%
7H5H(X) ABR PAV) 77 7,000 74%
7H6H((H) ABR DAV 77 6,000 78%
7H7H(R) AN PAV) 77 7,000 74%
7H8H(X) ABR DAV 77 6,000 78%
7H9BH(K) AN PAV) 77 6,000 78%
7H10H(XK) ABR DAV 77 6,000 78%
7H11H(&) ABR PAV) 77 7,000 74%
7H12H(L) ABR DAV 77 7,000 74%
7H13H(H) AN PAV) 77 6,000 78%
7H14H(H) ABR DAV 77 6,000 78%
7H15H(X) AN PAV) 77 6,000 78%
7H16H(K) ABR DAV 77 6,000 78%
7H17H(K) AN PAV) 77 6,000 78%
7H18H(5&) AN X5 77 7,000 74%
7H19H(L) ABR PAV) 77 9,500 64%
7H20H(H) AN X5 77 7,000 74%
7H21H(H) AN PAV) 77 9,500 64%
7H22H(X) AN X5 77 6,000 78%
7H23H(K) AN PAV) 77 6,000 78%
7H24H(K) AN X5 77 6,000 78%
7H25H (%) ABR PAV) 77 7,000 74%
7H26H(L) AN X5 77 7,500 72%
7H27H(H) AN PAV) 77 6,000 78%
7H28H(H) AN X5 77 7,000 74%
7H29H(X) AN PAV) 77 6,000 78%
7H30H(K) ABR PAVJ) 77 6,000 78%
7H31H(XK) AN PAV) 77 6,000 78%
4H1H(CX) PAV) ABR 78 9,500 62%
4H2H(K) PAV) KPR 78 8,500 66%
4H3H(K) PAV) ABR 78 6,500 74%
4H4H (&) PAV) AP 78 8,500 66%
4H5H(XL) PAV) ABR 78 9,000 64%
4H8H(XN) PAV) AP 78 6,500 74%
4H9H(K) PAV) ABR 78 6,500 74%
4H10H(K) PAV) KPR 78 7,000 72%
4H11H(ER) PAV) ABR 78 6,500 74%
4H12H(X) PAV) AP 78 9,500 62%
4H13H(H) PAV) ABR 78 7,000 72%
4H14H(H) PAV) AP 78 9,500 62%
4H15H(N) PAV) N 78 8,500 66%
4H16H(K) PAV) AP 78 8,000 68%
4H17H(K) PAV) N 78 7,000 72%
4H18H(%&) PAV) KPR 78 7,000 72%
4H19H (%) PAV) ABR 78 9,000 64%
4520H(H) PAV) AP 78 6,500 74%
4H21H(H) PAV) N 78 9,500 62%
4H22H(N) PAV) AP 78 7,000 72%
4H23H(0K) PAV) N 78 9,000 64%
4H24H(K) PAV) KB 78 9,000 64%
S5H7H(K) PAV) N 78 7,000 72%
S5H8H(K) PAV) KB 78 5,500 78%
S5H9H(E) PAV) KB 78 6,000 76%
5H10H(L) %) KPR 78 6,000 76%
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5H11H(H) ) AP 78 6,500 74%
S5H12H(A) PAV) AN 78 7,000 72%
S5H13H(XN) ) AP 78 7,000 72%
5H14H(K) PAV) AN 78 7,000 72%
5H15H(XK) ) AP 78 6,000 76%
5H16H(&) PAV) N 78 6,500 74%
5H17H(L) %) AP 78 6,000 76%
S5H18H(H) PAV) AN 78 6,500 74%
S5H19H(H) ) AP 78 8,000 68%
S5H20H(N) PAV) AN 78 6,000 76%
S5H21H(K) ) AP 78 6,000 76%
5H22H(XK) PAV) N 78 6,000 76%
5H23H(5&) A7 AP 78 6,500 74%
S5H24H(%) PAV) AN 78 6,000 76%
5H25H(H) PA) AP 78 6,500 74%
S5H26H(H) PAV) AN 78 6,500 74%
S5H27H(X) PAV) AP 78 5,500 78%
S5H28H(K) PAV) KB 78 7,000 72%
S5H29H(XK) PA) AP 78 6,000 76%
S5H30H () PAV) AN 78 6,500 74%
S5H31H(%) PAV) AP 78 6,500 74%
6H1H(H) PAV) KB 78 6,500 74%
682H(A) PAV) AP 78 7,000 72%
6H3B(XN) PAV) AN 78 5,500 78%
6H4H(K) PA) AP 78 5,500 78%
6H5H(K) PAV) KB 78 5,500 78%
6H6H(E) PAV) ABR 78 6,500 74%
6H7H(L) PAV) AP 78 7,500 70%
688H(H) PAV) ABR 78 7,000 72%
6H9H(A) PAV) AP 78 5,500 78%
6H10H(N) PAV) ABR 78 5,500 78%
6H11H(K) PAV) KPR 78 5,500 78%
6H12H(K) PAV) ABR 78 6,500 74%
6H13H(E) PAV) AP 78 6,500 74%
6H14H(X) PAV) ABR 78 7,000 72%
6H15H(H) PAV) AP 78 5,500 78%
6H17H(N) PAV) ABR 78 6,000 76%
6H18H(K) PAV) ABR 78 5,500 78%
6H19H(K) PAV) ABR 78 5,500 78%
6H20H (&) PAV) AP 78 6,000 76%
6H21H (%) PAV) ABR 78 8,500 66%
6H22H(H) PAV) AP 78 6,000 76%
6H23H(H) PAV) N 78 6,000 76%
6H24H(N) PAV) AP 78 5,500 78%
6H25H(K) PAV) N 78 5,500 78%
6H26H(K) PAV) AP 78 6,000 76%
6H27H(&) PAV) ABR 78 6,500 74%
6H28H (%) PAV) AP 78 6,500 74%
68529H(H) PAV) ABR 78 6,000 76%
6H30H(H) PAV) KB 78 5,500 78%
7H1H(CX) PAV) N 78 6,000 78%
7H2B(K) PAV) KB 78 5,500 79%
7H3B(K) PAV) KB 78 5,500 79%
7H48(E) %) AP 78 5,500 79%
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7H5H(X) ) AP 78 8,500 68%
7H6H(H) PAV) AN 78 5,500 79%
7H7H(H) ) AP 78 5,500 79%
7H8H(XN) PAV) AN 78 5,500 79%
7H9H(K) ) AP 78 5,500 79%
7H10H(K) PAV) N 78 5,500 79%
7H11H(®) %) AP 78 7,000 74%
7H12H(L) PV AN 78 8,500 68%
7H13H(H) ) AP 78 5,500 79%
7H14H(H) PAV) AN 78 5,500 79%
7H15H(N) ) AP 78 5,500 79%
7H16H(K) PAV) N 78 5,500 79%
7H17H(XK) A7 AP 78 5,500 79%
7H18H (&) PAV) AN 78 7,000 74%
7H19H(L) PA) AP 78 9,500 64%
7H20H(H) PAV) AN 78 7,000 74%
7H21H(H) PAV) AP 78 9,500 64%
7H22H(X) PAV) KB 78 5,500 79%
7H23H(K) PA) AP 78 5,500 79%
7H24H(K) PAV) AN 78 5,500 79%
7H25H(5&) PAV) AP 78 7,000 74%
7H26H(L) PAV) KB 78 9,500 64%
7H27H(H) PAV) AP 78 7,000 74%
7H28H(H) PAV) AN 78 5,500 79%
7H29H(X) PA) AP 78 5,500 79%
7H30H(K) PAV) KB 78 5,500 79%
7H31H(K) PAV) ABR 78 5,500 79%
4H2H(K) AN B5S 79 8,160 79%
4H4H (%) ABR B 79 9,160 77%
456H(H) AN (=) 79 9,160 77%
487H(H) ABR B 79 9,160 77%
4H8H(XN) AN (=) 79 8,660 78%
4H10H(K) ABR B 79 8,660 78%
4H12H(X) AN (=) 79 9,160 77%
4H13H(H) ABR B 79 9,160 77%
4H14H(H) AN (=) 79 8,660 78%
4H15H(CN) ABR B 79 8,660 78%
4H16H(K) AN B5S 79 8,160 79%
4H17H(K) ABR B 79 8,160 79%
4519H(X) AN =) 79 10,100 74%
4H21H(H) ABR BS 79 8,160 79%
4H22H(N) AN =) 79 8,660 78%
4H24H(K) ABR BS 79 8,160 79%
S5H7B(K) AN =) 79 8,660 78%
S5H8H(K) ABR B5S 79 8,160 79%
S5H9H(E) AN =) 79 8,160 79%
5H11H(H) ABR =) 79 8,660 78%
5H12H(H) AN =) 79 9,160 77%
S5H13H(X) ABR BES 79 8,160 79%
S5H14H(K) AN =) 79 8,660 78%
5H16H(5&) ABR B 79 8,660 78%
S5H18H(H) AN =) 79 8,160 79%
S5H20H(X) AN B5S 79 8,660 78%
S5H21H(K) ABR =) 79 8,160 79%
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5H22H(XK) ABR = 79 8,660 78%
S5H26H(AH) AN B5S 79 8,160 79%
5H27H(X) ABR B 79 8,160 79%
S5H28H(K) AN B5S 79 8,660 78%
5H29H(XK) ABR = 79 8,660 78%
5H30H(&) AN B5S 79 10,100 74%
S5H31H(%) ABR = 79 9,160 77%
6H1H(H) AN B5S 79 8,160 79%
6H2H(H) ABR B 79 8,160 79%
6H3B(XN) AN B5S 79 8,160 79%
6H4H8(K) ABR B 79 8,160 79%
6H5H(K) AN B5S 79 8,660 78%
6H6H(E) ABR = 79 8,160 79%
6H7H(L) AN B5S 79 9,160 77%
689H(A) AN = 79 8,160 79%
6H108(N) AN B5S 79 8,160 79%
6H11H(K) AN = 79 9,160 77%
6H12H(K) AN B5S 79 9,160 77%
6H13H(E) AN = 79 8,160 79%
6H14H(X) AN B5S 79 8,160 79%
6H16H(H) AN = 79 8,160 79%
6H17H(CN) AN B5S 79 8,160 79%
6H18H(K) AN = 79 8,160 79%
6H19H(K) AN B5S 79 8,160 79%
6H20H (&) AN = 79 8,660 78%
6H21H (%) AN B5S 79 9,160 77%
68522H(H) ABR B 79 8,660 78%
6H24H(N) AN B5S 79 8,660 78%
6H25H(K) ABR B 79 9,160 77%
6H26H(K) AN B5S 79 8,160 79%
6H27H(:&) ABR B 79 8,160 79%
6H28H (L) AN B5S 79 8,660 78%
6829H(H) ABR B 79 8,160 79%
6H30H(H) AN B5S 79 8,660 78%
7H1HCN) ABR B 79 9,000 78%
7H2B(K) AN B5S 79 9,000 78%
7H3B(K) ABR B 79 8,160 80%
7H4B(E) AN B5S 79 9,000 78%
7H5H(X) ABR B 79 8,160 80%
7H6H(H) AN =) 79 8,160 80%
7H7H(H) ABR BS 79 8,160 80%
7H8H(X) AN =) 79 8,160 80%
7H9H(K) ABR BS 79 8,160 80%
7H10H(XK) AN == 79 8,160 80%
7H11H(&) ABR =) 79 9,000 78%
7H12H(L) AN =) 79 8,160 80%
7H13H(H) ABR =) 79 8,160 80%
7H14H(H) AN =) 79 8,160 80%
7H158(X) ABR BES 79 8,160 80%
7H16H(K) AN =) 79 9,000 78%
7H17H(K) ABR BES 79 8,160 80%
7H18H(5&) AN =) 79 9,000 78%
7H19H(L) AN B5S 79 11,000 73%
7H20H(H) ABR =) 79 9,000 78%
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7H21H(H) ABR = 79 11,000 73%
7H22H(N) AN B5S 79 9,000 78%
7H23H(K) ABR B 79 8,160 80%
7H24H(K) AN B5S 79 9,000 78%
7H25H(5&) ABR = 79 8,160 80%
7H26H(L) AN B5S 79 8,160 80%
7H27H(H) ABR = 79 8,160 80%
7H28H(AH) AN B5S 79 8,160 80%
7H29H(N) ABR B 79 8,160 80%
7H30H(K) AN B5S 79 8,160 80%
7H31H(XK) ABR B 79 9,000 78%
4H1HN) RS N 80 9,160 77%
4H2H(K) BS AP 80 8,660 78%
4H3H(K) RS AN 80 10,100 74%
4H4H (&) =] AP 80 8,660 78%
4H5H(%) RS AN 80 10,100 74%
487H(H) =] AP 80 8,160 79%
4H8H(N) RS KB 80 8,160 79%
4H9H(7K) B AP 80 8,160 79%
4H10H(K) RS AN 80 10,100 74%
4H11HGER) =] AP 80 9,160 77%
4H12H(X) RS KB 80 10,100 74%
4H13H(H) =] AP 80 8,160 79%
4H158H(X) RS AN 80 9,160 77%
4H16H(K) B AP 80 10,100 74%
4H17H(K) RS KB 80 8,660 78%
4H19H (%) =] ABR 80 9,160 77%
4521H(H) RS AP 80 8,160 79%
4H22H(N) B ABR 80 8,160 79%
4H23H(K) RS AP 80 10,100 74%
4H24H(K) B ABR 80 10,100 74%
S5H7H(K) RS AP 80 10,100 74%
SH8H(RK) B ABR 80 8,160 79%
S5H9H(E) RS AP 80 10,100 74%
S5H10H(L) =] ABR 80 8,160 79%
S5H11H(H) RS AP 80 8,160 79%
5H12H(H) B ABR 80 8,160 79%
S5H13H(XN) RS AP 80 8,160 79%
5H14H(K) B ABR 80 9,160 77%
5H15H(XK) =] AP 80 8,160 79%
5H16H(5&) =) N 80 9,160 77%
S5H18H(H) =] AP 80 8,160 79%
5H20B(X) =) N 80 8,160 79%
S5H21H(K) =] AP 80 8,160 79%
5H22H(K) =) N 80 8,660 78%
5H23H(5) =] AP 80 8,160 79%
S5H24H(%) =) ABR 80 8,660 78%
S5H25H(H) =] AP 80 8,160 79%
5H26H(H) =) N 80 8,160 79%
5H27H(X) =] KB 80 8,160 79%
5H28H(K) =) N 80 8,160 79%
5H29H(XK) =] KB 80 8,660 78%
5H30H(s&) BE KB 80 9,160 77%
S5H31H(%) =] AP 80 8,660 78%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x
6H1H(H) =] AP 80 9,160 77%
6H2H(AH) RS AN 80 8,160 79%
6H3H(N) BS AP 80 10,100 74%
6H48(K) RS AN 80 8,160 79%
6H5H(K) BS AP 80 8,160 79%
6H6H (%) RS N 80 8,660 78%
6H7H(XL) =] AP 80 10,100 74%
6H8H(H) RS AN 80 8,160 79%
6H9H(H) =] AP 80 9,160 77%
6H10H(XN) RS AN 80 8,160 79%
6H11H(K) BS AP 80 8,660 78%
6H12H(K) RS N 80 8,160 79%
6H15H(H) =] AP 80 8,160 79%
6H16H(H) RS AN 80 8,160 79%
6H17H(N) B AP 80 8,160 79%
6H18H(K) RS AN 80 8,160 79%
6H19H(K) B AP 80 8,160 79%
6H20H (&) RS KB 80 8,660 78%
6822H(H) =] AP 80 8,160 79%
6H23H(H) RS AN 80 8,660 78%
6H25H(K) B AP 80 8,160 79%
6H26H(K) RS KB 80 8,160 79%
6H27H(:&) =] AP 80 8,160 79%
6H28H (L) RS AN 80 9,160 77%
68529H(H) =] AP 80 8,660 78%
6H30H(H) RS KB 80 8,160 79%
7H1HCN) B ABR 80 8,160 80%
7H2B(K) RS AP 80 9,000 78%
7H3H(K) B ABR 80 8,160 80%
7H4B(E) RS AP 80 9,000 78%
7H5H(X) =] ABR 80 8,160 80%
7H6H((H) RS AP 80 9,000 78%
7H7H(H) B ABR 80 8,160 80%
7H8H(X) RS AP 80 8,160 80%
7H9H(K) B ABR 80 8,160 80%
7H10H(XK) RS AP 80 8,160 80%
7H11H(&) =] ABR 80 9,000 78%
7H12H(L) RS AP 80 9,000 78%
7H13H(H) =] ABR 80 8,160 80%
7H14H(H) =] AP 80 8,160 80%
7H15H(X) =) N 80 8,160 80%
7H16H(K) =] AP 80 8,160 80%
7H17H(K) =) N 80 8,160 80%
7H18H(5&) =] AP 80 9,000 78%
7H19H(L) =) ABR 80 11,000 73%
7H20H(H) =] AP 80 9,000 78%
7H21H(H) =) N 80 11,000 73%
7H22H(X) =] AP 80 9,000 78%
7H23H(K) =) N 80 8,160 80%
7H24H(XK) =] KB 80 8,160 80%
7H25H (&) =) ABR 80 8,160 80%
7H26H (%) =] KB 80 9,000 78%
7H27H(H) BE KB 80 9,500 77%
7H28H(H) =] AP 80 8,160 80%
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7H29H(N) BS AP 80 8,160 80%
7H30H(K) RS AN 80 8,160 80%
7H31H(XK) BS AP 80 9,000 78%
4H2H(K) AN B5S 81 9,160 77%
4H3H(XK) ABR = 81 9,160 77%
4H48 (%) AN B5S 81 10,100 74%
4H5H(XL) ABR = 81 10,100 74%
456H(H) AN B5S 81 10,100 74%
457H(H) ABR B 81 10,100 74%
4H8H(N) AN B5S 81 8,160 79%
4H10H(K) ABR B 81 8,660 78%
4H12H(X) AN B5S 81 8,660 78%
4H13H(H) ABR = 81 8,160 79%
4514H(H) AN B5S 81 10,100 74%
4H15H(CN) AN = 81 8,160 79%
4H16H(K) AN B5S 81 9,160 77%
4H17H(K) AN B5 81 10,100 74%
4H18H(E) AN B5S 81 8,660 78%
4520H(H) AN B5 81 9,160 77%
4521H(H) AN B5S 81 8,660 78%
4H22H(N) AN = 81 8,660 78%
4H23H(K) AN B5S 81 8,160 79%
4H24H(K) AN B5 81 10,100 74%
S5H7B(K) AN B5S 81 8,660 78%
S5H8H(XK) AN = 81 8,160 79%
S5H9H(E) AN B5S 81 10,100 74%
S5H10H(L) ABR B 81 8,660 78%
S5H12H(A) AN B5S 81 8,160 79%
SH13H(X) ABR B 81 8,160 79%
S5H14H(K) AN B5S 81 8,160 79%
S5H15H(K) ABR B 81 8,160 79%
5H16H(5&) AN B5S 81 8,160 79%
S5H17H(%) ABR B 81 8,160 79%
S5H18H(H) AN B5S 81 8,160 79%
5H21H(K) ABR BS 81 9,160 77%
5H22H(XK) AN B5S 81 8,160 79%
S5H24H(%) ABR B 81 8,160 79%
S5H25H(H) AN B5S 81 9,160 77%
5H26H(H) ABR B 81 8,160 79%
5H27H(X) AN == 81 8,160 79%
5H28H(K) ABR BS 81 8,160 79%
5H29H(XK) AN == 81 9,160 77%
5H30H(s&) ABR BS 81 9,160 77%
S5H31H(%) AN == 81 8,160 79%
6H2H(H) ABR B5S 81 8,660 78%
6H3B(X) AN == 81 8,160 79%
6H4H(K) ABR B5S 81 8,160 79%
6H5H(K) AN == 81 8,660 78%
6H6H(E) ABR BES 81 9,160 77%
6H7H(L) AN B5S 81 8,160 79%
689H(H) ABR BES 81 10,100 74%
6H10H(XN) AN B5S 81 8,160 79%
6H11H(K) AN B5S 81 8,160 79%
6H12H(K) ABR == 81 8,160 79%
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6H13H(E) ABR = 81 8,160 79%
6H14H(X) AN B5S 81 9,160 77%
6H16H(H) ABR B 81 9,160 77%
6H17H(CXN) AN B5S 81 8,160 79%
6H18H(K) ABR = 81 8,160 79%
6H19H(K) AN B5S 81 8,160 79%
6H20H (&) ABR = 81 8,660 78%
6H21H (%) AN B5S 81 8,160 79%
6H23H(H) ABR B 81 8,660 78%
6H24H(XN) AN B5S 81 8,160 79%
6H25H(K) ABR B 81 8,660 78%
6H26H(K) AN B5S 81 10,100 74%
6H27H(E) ABR = 81 8,160 79%
6H30H(H) AN B5S 81 9,160 77%
7H1HCN) AN = 81 9,000 78%
7H2B(K) AN B5S 81 8,160 80%
7H3H(K) AN = 81 8,160 80%
7H4B(E) AN B5S 81 8,160 80%
7H5H(X) AN = 81 8,160 80%
7H6H(H) AN B5S 81 9,000 78%
7H7H(H) AN = 81 8,160 80%
7H8H(N) AN B5S 81 8,160 80%
7H9H(K) AN = 81 8,160 80%
7H10H(K) AN B5S 81 8,160 80%
7H11H(&) AN = 81 8,160 80%
7H12H(L) AN B5S 81 8,160 80%
7H14H(H) ABR B 81 8,160 80%
7H15H(N) AN B5S 81 9,000 78%
7H16H(K) ABR B 81 8,160 80%
7H17H(XK) AN B5S 81 9,000 78%
7H18H(5&) ABR B 81 9,000 78%
7H19H(L) AN B5S 81 11,000 73%
7H20H(H) ABR B 81 9,000 78%
7H21H(AH) AN B5S 81 9,000 78%
7H22H(X) ABR B 81 8,160 80%
7H23H(K) AN B5S 81 8,160 80%
7H24H(K) ABR B 81 9,000 78%
7H25H (&) AN B5S 81 8,160 80%
7H26H(L) ABR B 81 8,160 80%
7H27H(H) AN == 81 9,000 78%
7H28H(H) ABR BS 81 8,160 80%
7H29H(N) AN == 81 8,160 80%
7H30H(K) ABR BS 81 9,500 77%
7H31H(XK) AN == 81 8,160 80%
4H1HCN) =) N 82 8,500 78%
4H2H(K) =] AP 82 8,500 78%
4H3H(K) =) N 82 8,160 79%
4H4H (&) =] AP 82 9,500 76%
4H5H(XL) =) ABR 82 8,500 78%
456H(H) =] KB 82 9,600 76%
4H7H(H) =) N 82 8,500 78%
4H8H(N) =] KB 82 8,500 78%
4H9H(7K) BE KB 82 8,500 78%
4H10H(K) =] AP 82 9,500 76%
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4H11HGER) =] AP 82 9,600 76%
4H12H(X) RS AN 82 8,500 78%
4H13H(H) =] AP 82 12,000 69%
4514H(H) RS AN 82 9,500 76%
4H15H(X) BS AP 82 9,500 76%
4H16H(K) RS N 82 9,600 76%
4H17H(K) BS AP 82 8,500 78%
4H18H(&) RS AN 82 9,500 76%
4H19H(X) =] AP 82 9,500 76%
4520H(H) RS AN 82 9,600 76%
4521H(H) =] AP 82 8,500 78%
4H22H(X) RS N 82 8,500 78%
4H23H(K) BS AP 82 8,500 78%
4H24H(K) RS AN 82 8,500 78%
SH7H(K) B AP 82 8,160 79%
S5H8H(K) RS AN 82 8,160 79%
S5H10H(L) =] AP 82 8,160 79%
S5H11H(H) RS KB 82 8,160 79%
5H12H(H) =] AP 82 8,160 79%
S5H13H(AN) RS AN 82 8,160 79%
5H14H(K) B AP 82 8,160 79%
5H15H(XK) RS KB 82 8,160 79%
S5H17H(%) =] AP 82 9,160 77%
S5H19H(A) RS AN 82 8,160 79%
S5H20H(X) B AP 82 8,660 78%
S5H21H(K) RS KB 82 8,160 79%
S5H22H(XK) B ABR 82 8,660 78%
S5H26H(H) RS AP 82 9,160 77%
S5H27H(X) B ABR 82 10,100 74%
5H28H(K) RS AP 82 8,160 79%
S5H29H(XK) B ABR 82 8,660 78%
5H30H (&) RS AP 82 10,100 74%
S5H31H(%) =] ABR 82 8,160 79%
6H1H(H) RS AP 82 9,160 77%
6H3B(X) B ABR 82 8,160 79%
6H4H(K) RS AP 82 8,160 79%
6H6H(E) =] ABR 82 9,160 77%
6H7H(L) RS AP 82 8,160 79%
6H9H(AH) B ABR 82 8,160 79%
6H108(XN) =] AP 82 8,160 79%
6H11H(K) =) N 82 8,160 79%
6H12H(K) =] AP 82 8,660 78%
6H14H(X) =) ABR 82 8,160 79%
6H15H(H) =] AP 82 9,160 77%
6H16H(H) =) N 82 8,160 79%
6H17H(CN) =] AP 82 9,160 77%
6H18H(K) =) N 82 9,160 77%
6H19H(K) =] AP 82 8,160 79%
6H20H (&) =) N 82 10,100 74%
6H21H (%) =] KB 82 9,160 77%
68522H(H) =) N 82 9,160 77%
6H23H(H) =] KB 82 10,100 74%
6H24H(N) BE KB 82 9,160 77%
6H25H(K) =] AP 82 8,160 79%
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6H26H(K) BS AP 82 8,160 79%
6H28H (%) RS AN 82 8,160 79%
6H29H(H) =] AP 82 8,160 79%
6H30H(H) RS AN 82 8,160 79%
7H1B(KX) BS AP 82 8,160 80%
7H2B(K) RS N 82 8,160 80%
7H3B(K) BS AP 82 8,160 80%
7H4H (&) RS AN 82 8,160 80%
7H5H(X) =] AP 82 8,160 80%
7H6H(H) RS AN 82 8,160 80%
7H7H(H) =] AP 82 8,160 80%
7H8H(XN) RS N 82 8,160 80%
7H9H(K) BS AP 82 8,160 80%
7H10H(K) RS AN 82 8,160 80%
7H11H(&) =] AP 82 8,160 80%
7H12H(L) RS AN 82 8,160 80%
7H13H(H) =] AP 82 8,160 80%
7H14H(H) RS KB 82 9,000 78%
7H15H(X) B AP 82 8,160 80%
7H16H(K) RS AN 82 8,160 80%
7H17H(K) B AP 82 9,000 78%
7H18H (&) RS KB 82 9,000 78%
7H19H(L) =] AP 82 11,000 73%
7H20H(H) RS AN 82 9,000 78%
7H21H(H) =] AP 82 11,000 73%
7H22H(N) RS KB 82 8,160 80%
7H23H(K) B ABR 82 8,160 80%
7H24H(XK) RS AP 82 8,160 80%
7H25H (&) =] ABR 82 9,000 78%
7H26H (%) RS AP 82 9,000 78%
7H27H(H) =] ABR 82 9,000 78%
7H28H(AH) RS AP 82 8,160 80%
7H29H(X) B ABR 82 8,160 80%
7H30H(K) RS AP 82 8,160 80%
7H31H(K) B ABR 82 8,160 80%
4H2H(K) &l it 83 13,700 75%
4H3H(K) & ik 83 13,700 75%
4H4H (&) &l it 83 13,700 75%
4H5H(XL) &l ik 83 13,700 75%
456H(H) &l it 83 13,200 76%
487H(AH) =lid it 83 13,700 75%
4H8H(X) &l it 83 13,700 75%
4H9H(7K) =lid it 83 13,700 75%
4H10H(K) &l it 83 12,700 77%
4H14H(H) =lid ot 83 13,700 75%
4H15H(X) &l it 83 12,700 77%
4H16H(K) =lid it 83 13,200 76%
4H17H(K) &l it 83 12,700 77%
4H18H (&) =lid it 83 13,700 75%
4H19H(L) &l it 83 13,700 75%
4H20H(H) =lid it 83 13,700 75%
4521H(H) &l it 83 12,700 77%
4H22H(N) &l e 83 13,200 76%
4H23H(K) &l it 83 13,200 76%
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4H24H(K) &l i 83 13,200 76%
S5H7H(K) & oAb 83 13,200 76%
S5H8H(XK) &l i 83 12,200 78%
SHOH () 8 e 83 11,200 79%
S5H10H(L) &l i 83 12,700 77%
5H11H(H) & oAb 83 12,200 78%
5H12H(H) &l i 83 13,200 76%
S5H13H(X) & oAb 83 11,200 79%
5H14H(K) &l i 83 11,200 79%
5H15H(K) & oAb 83 12,200 78%
5H19H(H) &l i 83 11,700 78%
5H20B(X) & oAb 83 12,200 78%
5H21H(K) &l R 83 11,200 79%
5H226 (k) 18 e 83 11,200 79%
S5H23H(&®) &l o) 83 13,200 76%
5H24H(%) &l oAb 83 12,200 78%
5H25H(H) &l i 83 12,700 77%
5H26H(H) &l oAb 83 12,700 77%
5H27H(CXN) &l o) 83 11,200 79%
5H28E (K) 18 e 83 11,200 79%
5H29H(K) &l i 83 11,200 79%
5H31H(%) &l oAb 83 12,200 78%
6H1H(H) &l o) 83 10,200 81%
682E(A) 18 275 83 10,700 80%
6H3H(N) &l o) 83 10,200 81%
6H4H(K) &l oAb 83 10,200 81%
6H5H(K) &l i 83 10,200 81%
6H6H(E) &l R 83 10,700 80%
6H7H(X) &l i 83 12,200 78%
688E(H) 8 275 83 10,700 80%
6H9H(AH) &l i 83 11,200 79%
6H10H(N) &l R 83 10,700 80%
6H11H(K) &l i 83 10,200 81%
6H12H(K) &l R 83 10,200 81%
6H13H (&) &l i 83 10,700 80%
6H14H(%) &l s 83 12,200 78%
6H15H(H) &l i 83 11,200 79%
6H16H(H) &l R 83 10,200 81%
6H17H(CN) &l i 83 10,200 81%
6H18H(K) &l R 83 10,200 81%
6H19H(K) &l o) 83 10,700 80%
6H20H (&) &l R 83 11,700 78%
6H21H(L) &l o) 83 11,700 78%
6H22H(H) &l o) 83 13,700 75%
6H23H(H) &l e 83 11,700 78%
6H24H(N) &l o) 83 10,200 81%
6H25H(K) &l o) 83 11,200 79%
6H26H(K) &l o) 83 10,700 80%
6H27H (&) &l s 83 10,700 80%
6H28H (%) &l R 83 12,200 78%
6H29H(H) &l s 83 10,700 80%
6H30H(H) &l R 83 10,200 81%
7H1H(CX) &l poib) 83 10,200 82%
7H2H(K) &l o) 83 10,200 82%
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7H3H(K) &l i 83 10,700 81%
7H4H(E) &l oAb 83 10,200 82%
7H5H(L) &l i 83 11,200 80%
7H6H(H) &l oAb 83 10,200 82%
7H7H(H) &l i 83 10,200 82%
7H8H(N) &l oAb 83 10,200 82%
7H9H(K) &l i 83 10,200 82%
7H10H(K) & oAb 83 10,200 82%
7H11H(E) &l i 83 10,700 81%
7H12H(L) & oAb 83 12,200 79%
7H13H(H) &l i 83 10,200 82%
7H14H(H) & oAb 83 10,200 82%
7H15B0XN) &l R 83 10,200 82%
7H16H(K) &l oAb 83 10,200 82%
7H17H(K) &l o) 83 11,200 80%
7H18H (&) &l oAb 83 11,200 80%
7H19H(L) &l i 83 13,700 76%
7H20H(H) &l oAb 83 11,700 79%
7H21H(H) &l o) 83 12,200 79%
7H228 () 18 e 83 11,200 80%
7H23H(K) &l i 83 10,700 81%
7H248 () 18 e 83 10,700 81%
7H25H(&®) &l o) 83 10,700 81%
7H26H(%) &l oAb 83 12,700 78%
7H27H(H) &l o) 83 10,700 81%
78288 (H) & e 83 10,700 81%
7H29H(XN) &l i 83 10,700 81%
7H30H(K) &l R 83 10,700 81%
7H31H(CK) &l i 83 10,700 81%
4H1HCN) s &l 84 13,700 75%
4H3H(K) e &l 84 13,200 76%
4H4H (%) s &l 84 13,700 75%
4H7H(H) e &l 84 13,200 76%
4H10H(XK) e &l 84 13,700 75%
4H13H(H) e &l 84 13,700 75%
4H14H(H) s &l 84 13,700 75%
4H158H0N) e &l 84 13,200 76%
4H16H(K) s &l 84 13,200 76%
4H17H(K) e &l 84 13,700 75%
4H18H(&E) e &l 84 13,700 75%
4H19H(X) e &l 84 13,200 76%
4H20H(H) e &l 84 13,700 75%
4H21H(H) e &l 84 13,200 76%
4H22HN) e &l 84 13,200 76%
4H23H0K) e &l 84 13,200 76%
4H24H(XK) e &l 84 13,200 76%
S5H7H(K) e &l 84 13,700 75%
S5H8H(XK) e &l 84 11,700 78%
S5H9H(&) e &l 84 12,700 77%
5116 (H) 18 & 84 10,700 80%
5H12H(H) e &l 84 12,700 77%
SH 136 () 8 & 84 12,700 77%
5H14H(K) Ealbs) &l 84 12,200 78%
S5H16H(%) e &l 84 12,200 78%
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5H17H(L) e &l 84 12,700 77%
5208 () e 8 84 11,700 78%
5H21H(K) e &l 84 11,200 79%
5H228 (k) e 8 84 12,700 77%
S5H23H(&®) e @] 84 12,700 77%
5H24H(%) Ealbs) &l 84 12,700 77%
5H25H(H) e &l 84 12,700 77%
52668 (A) e 8 84 12,700 77%
5H27H(X) e &l 84 12,200 78%
5H28H(K) Ealbs) &l 84 11,700 78%
5H29H(XK) e &l 84 12,200 78%
S5H30H(#) Ealbs) &l 84 12,200 78%
6H1H(H) e &l 84 12,700 77%
6H2H(H) IR &l 84 10,200 81%
6H3H(N) e &l 84 11,700 78%
6H4H(K) e &l 84 10,200 81%
6H5H(K) e &l 84 10,700 80%
6H6H(E) e &l 84 10,700 80%
6H7H(X) e &l 84 11,700 78%
688E(H) 8 & 84 11,700 78%
6H9H(H) e &l 84 12,200 78%
6H10H(X) e &l 84 10,700 80%
6H11H(K) e &l 84 10,200 81%
6H12H(K) oI &l 84 12,700 77%
6H13H (&) e &l 84 12,700 77%
6H14H(%) e &l 84 12,700 77%
6H15H(H) e &l 84 11,700 78%
6H16H(H) e &l 84 10,200 81%
6H17H(CN) e &l 84 10,200 81%
6H18H(K) e &l 84 10,700 80%
6H19H(K) e &l 84 10,700 80%
6A226 (H) 8 & 84 11,200 79%
6H23H(H) e &l 84 11,200 79%
6H24H(N) e &l 84 10,700 80%
6H25H(K) e &l 84 10,700 80%
6H26H(XK) e &l 84 10,200 81%
6H27H (&) e &l 84 11,200 79%
6H28H(%) s &l 84 12,700 77%
6H29H(H) e &l 84 10,200 81%
68308 (A) 8 8 84 11,200 79%
7H1H(CN) e &l 84 10,700 81%
7H2H(K) e &l 84 11,200 80%
7H3H(K) e &l 84 11,700 79%
7H4H (&) e &l 84 10,700 81%
7H5H(L) e &l 84 11,200 80%
7B6E(H) 8 8 84 11,200 80%
7H7H(A) s &l 84 10,700 81%
7H8H(N) e &l 84 10,700 81%
7H9H(K) e &l 84 10,700 81%
7B 108 (k) 18 & 84 10,700 81%
7H11H(E) e &l 84 12,200 79%
7H12H(%) e &l 84 11,200 80%
7H13H(H) Ealbs) &l 84 10,700 81%
7H14H(H) e &l 84 10,700 81%
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7H15B0XN) e &l 84 11,700 79%
7H16H(K) Ealbs) &l 84 12,200 79%
7H17H(K) e &l 84 10,700 81%
7H18H(&) Ealbs) &l 84 13,700 76%
7H19H(L) e &l 84 13,700 76%
7H208(H) e 8 84 13,200 77%
7H21H(H) e &l 84 13,700 76%
7H22H(X) Ealbs) &l 84 12,200 79%
7H23H(K) e &l 84 10,700 81%
7H24H(K) Ealbs) &l 84 10,700 81%
7H25H(®) e &l 84 11,200 80%
7H26H(L) Ealbs) &l 84 10,700 81%
7H27H(H) e &l 84 11,200 80%
7H28H(H) s &l 84 10,700 81%
7H29H(N) e &l 84 10,700 81%
7H30H(K) e &l 84 10,700 81%
7H31H(K) e &l 84 12,200 79%
4B 18 (N i@ e 87 13,700 75%
4H2H(K) &l i) 87 13,700 75%
4H3H(K) &l oAb 87 13,700 75%
4H4H(£) &l i) 87 13,700 75%
4H5H(X) &l oAb 87 13,700 75%
4H8H(N) &l i) 87 13,700 75%
4H9H(7K) &l oAb 87 13,700 75%
4H10H(K) &l i) 87 13,700 75%
4H12H(X) &l oAb 87 12,700 77%
4H158H0N) &l i) 87 13,700 75%
4H16H(K) &l s 87 13,200 76%
4H17H(K) &l i) 87 13,700 75%
4H18H(&E) &l oAb 87 13,700 75%
4H20H(H) &l i) 87 13,700 75%
4H22H(N) &l s 87 13,700 75%
4H23H0K) &l i) 87 12,700 77%
4H24H(XK) &l oAb 87 13,200 76%
S5H8H(K) &l i) 87 12,700 77%
S5H9H(&E) &l s 87 10,700 80%
5H10H(L) &l i) 87 12,200 78%
5H11H(H) &l oAb 87 13,200 76%
5H12H(H) &l i) 87 13,700 75%
SH13HX) &l s 87 10,700 80%
5H14H(K) &l Eiibs) 87 12,200 78%
S5H15H(XK) &l s 87 12,700 77%
S5H16H(®) &l Eiibs) 87 13,200 76%
5H17H(L) &l s 87 13,200 76%
5H18H(H) &l i) 87 13,200 76%
5H19H(H) &l s 87 13,200 76%
5H21H(K) &l Eiibs) 87 13,200 76%
5H22H(K) &l s 87 12,700 77%
S5H23H(&) &l Eiibs) 87 13,700 75%
5H24H(%) &l s 87 13,700 75%
5H25H(H) &l Eiibs) 87 13,700 75%
5H26H(H) &l s 87 13,700 75%
5H27H(X) & poib) 87 12,700 77%
5H28H(K) &l o) 87 13,700 75%




IBEX4Hi

aE&e (X f& EE p——

EERE F5|x
5H29H(XK) &l it 87 13,700 75%
5H30H(&) &l ot 87 13,200 76%
S5H31H(%) &l it 87 13,200 76%
6H2H(AH) &l ot 87 12,700 77%
6H3H(N) &l it 87 11,200 79%
6H48(K) &l ot 87 11,200 79%
6H5H(K) &l it 87 12,200 78%
6H6H (%) &l ot 87 10,700 80%
6H7H(XL) &l it 87 10,700 80%
6H8H(H) &l ot 87 12,700 77%
6H9H(H) &l it 87 12,700 77%
6H10H(N) &l ot 87 11,700 78%
6H11H(K) &l it 87 11,700 78%
6H12H(K) &l b 87 11,200 79%
6H13H(E) &l ok 87 10,200 81%
6H14H(X) &l b 87 10,700 80%
6H15H(H) &l ok 87 10,700 80%
6H16H(H) &l b 87 11,200 79%
6H17H(X) &l ok 87 10,700 80%
6H18H(K) &l b 87 10,200 81%
6H19H(RK) &l ok 87 11,700 78%
6H20H (&) &l b 87 12,700 77%
6H21H(X) &l ok 87 13,200 76%
6H23H(H) &l b 87 13,200 76%
6H24H(X) &l ok 87 11,700 78%
6H25H(K) &l b 87 11,200 79%
6H26H(K) &l ik 87 11,200 79%
6H27H (&) &l R 87 10,700 80%
6H28H (%) &l ik 87 11,700 78%
6H29H(H) &l R 87 11,700 78%
6H30H(H) &l ik 87 11,200 79%
7H1B(X) &l R 87 10,200 82%
7H2H(K) &l ik 87 10,700 81%
7H3B(K) &l R 87 10,200 82%
7H48(E) &l ik 87 10,200 82%
7H5H(L) &l R 87 11,200 80%
7H6H(H) &l ik 87 10,700 81%
7H7H(8) &l R 87 10,200 82%
7H8H(N) &l ik 87 10,700 81%
7H9H(K) &l R 87 11,200 80%
7H10H(K) =lid it 87 10,200 82%
7H11H(®) &l R 87 10,200 82%
7H12H(L) &l it 87 10,200 82%
7H13H(H) &l o) 87 12,700 78%
7H14H(H) =lid ot 87 10,200 82%
7H15H(N) &l o) 87 10,200 82%
7H16H(K) =lid it 87 10,200 82%
7H17H(XK) &l o) 87 10,700 81%
7H18H(5&) =lid it 87 12,700 78%
7H19H (%) &l R 87 13,700 76%
7H20H(H) =lid it 87 13,700 76%
7H21H(H) &l R 87 13,700 76%
7H22H(X) &l e 87 11,700 79%
7H23H(K) &l it 87 11,700 79%




IBEX4Hi
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7H24H(K) &l i 87 12,200 79%
7H25H(&) & oAb 87 10,700 81%
7H26H (L) &l i 87 11,200 80%
7H27H(H) & oAb 87 10,700 81%
7H28H(H) &l i 87 10,700 81%
7H29H(X) & oAb 87 10,700 81%
7H30H(K) &l i 87 10,700 81%
7H31H(K) & oAb 87 10,700 81%
4H1HCN) e &l 88 13,700 75%
4H2H(K) Ealbs) &l 88 13,200 76%
4H3H(K) e &l 88 13,700 75%
4H46(%) e 8 88 13,700 75%
4H5H(X) e &l 88 13,700 75%
4H6H(H) s &l 88 13,700 75%
4H7H(H) e &l 88 13,700 75%
4H8H(XN) e &l 88 13,200 76%
4H9H(K) e &l 88 13,200 76%
45 108 () 8 & 88 13,200 76%
4H12H(L) e &l 88 13,200 76%
4H15HN) oI &l 88 13,200 76%
4H16H(0K) e &l 88 13,200 76%
4H17H(K) e &l 88 13,200 76%
4H18H(&) e &l 88 13,700 75%
4H19H(X) oI &l 88 13,200 76%
4H20H(H) e &l 88 13,700 75%
4H21H(H) s &l 88 13,700 75%
4H22B0N) e &l 88 13,200 76%
4H23H(K) e &l 88 13,200 76%
4H24H(K) e &l 88 13,200 76%
S5H7H(K) e &l 88 11,200 79%
S5H8H(K) e &l 88 10,200 81%
S5H10H(L) e &l 88 10,700 80%
5H11H(H) e &l 88 11,700 78%
5H12H(H) e &l 88 10,700 80%
S5H13H(CN) e &l 88 12,200 78%
5H14H(K) e &l 88 10,200 81%
5H15H(K) e &l 88 11,200 79%
5H16H(&E) e &l 88 11,200 79%
5H17H(L) e &l 88 11,700 78%
5H19H(H) e &l 88 12,700 77%
5H20H(CN) e &l 88 11,200 79%
5H21H(K) e &l 88 10,200 81%
5H22H(K) e &l 88 11,200 79%
S5H23H(%) e &l 88 11,200 79%
5H24H(%) e &l 88 10,700 80%
5H26H(H) e &l 88 10,700 80%
5H27H(CXN) e &l 88 10,200 81%
S5H28H(K) e &l 88 12,200 78%
5H29H(K) e &l 88 11,200 79%
S5H31H(L) e &l 88 10,700 80%
6H1H(H) e &l 88 11,200 79%
6H2H(H) e &l 88 10,200 81%
6H3H(N) Ealbs) &l 88 10,200 81%
6H4H(K) e &l 88 10,200 81%




IBEX4Hi
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6H5H(K) e &l 88 11,200 79%
6H6H (&) Ealbs) &l 88 11,200 79%
6H7H(L) e &l 88 10,700 80%
6H8H(H) Ealbs) &l 88 10,700 80%
6H9H(H) e &l 88 10,700 80%
6H10H(X) Ealbs) &l 88 10,200 81%
6H11H(K) e &l 88 10,700 80%
6H12H(K) Ealbs) &l 88 11,200 79%
6H13H(%&) e &l 88 11,200 79%
6H14H(L) Ealbs) &l 88 10,700 80%
6H15H(H) e &l 88 10,200 81%
6H16H(H) Ealbs) &l 88 10,200 81%
6H17H(XN) e &l 88 10,200 81%
6H18H(K) IR &l 88 10,200 81%
6H19H(K) e &l 88 10,700 80%
6H20H (%) e &l 88 12,200 78%
6H21H (L) e &l 88 10,700 80%
6A226 (H) 8 & 88 11,200 79%
6H23H(H) e &l 88 11,200 79%
6H24H(X) oI &l 88 10,200 81%
6H25H(K) e &l 88 10,200 81%
6H26H(K) e &l 88 10,200 81%
6H27H(E) e &l 88 11,200 79%
6H28H(%) oI &l 88 10,700 80%
6H29H(H) e &l 88 11,700 78%
6H30H(H) e &l 88 10,200 81%
7H1H(CN) e &l 88 11,200 80%
7H2H(K) e &l 88 11,200 80%
7H3H(K) e &l 88 10,700 81%
7H4H (&) e &l 88 11,200 80%
7H5H(L) e &l 88 10,700 81%
7868 (H) 8 & 88 10,700 81%
7H7H(AH) e &l 88 10,700 81%
7H8H(N) e &l 88 10,700 81%
7H9H(K) e &l 88 10,700 81%
7H10H(K) e &l 88 10,700 81%
7H11H(®) e &l 88 11,200 80%
7H12H(L) e &l 88 10,700 81%
7H13H(H) e &l 88 10,200 82%
7H14H(H) e &l 88 10,700 81%
7H15H(CN) e &l 88 10,700 81%
7H16H(K) e &l 88 10,700 81%
7H17H(K) e &l 88 10,700 81%
7H18H (%) e &l 88 11,200 80%
7H19H(L) e &l 88 11,200 80%
7H20H(H) e &l 88 11,200 80%
7H21H(H) e &l 88 11,200 80%
7H22H(X) e &l 88 11,200 80%
7H23H(K) e &l 88 10,700 81%
7H248 (k) 18 & 88 10,700 81%
7H25H(&) e &l 88 10,700 81%
7H26H(L) e &l 88 10,700 81%
7H27H(H) Ealbs) &l 88 11,200 80%
7H28H(H) e &l 88 11,700 79%
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7H298(N) e =[] 88 10,700 81%
7H30H(K) s f& ) 88 11,200 80%
7H31H(K) e =[] 88 10,700 81%
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